Official Proceedings of the Reading School District Board of Directors

Regular Meeting April 28, 2010

Minutes of the Reading School District Board of Directors Regular Meeting held on Wednesday, April 28, 2010, in the Board Room of the Administration Building, 800 Washington Street, Reading, PA.

The meeting was called to order at 7:00 p.m. by Mr. Santoro, President.

ROLL CALL

Board Members Present:

Mr. Breton Mrs. McCree
Mr. Stamm Mr. Storch
Mrs. Torres-Figueroa Mr. Washington
Ms. Wertz Mr. Santoro, President

Board Members Absent:

Ms. Stroman

Administrators Present:

Dr. Thomas R. Chapman, Jr., Superintendent of Schools

Mr. Frank Vecchio, Assistant Superintendent of Schools

Dr. Anthony Georeno, Director of Human Resources

Mrs. Linda A. Greth, Director of Community Relations/Secretary of the Board

Dr. Rose Merrell-James, Director of Student Services

Mr. John Steffy, Director of Business Affairs

Mr. Eric Turman, Director of Elementary Education

Mrs. Julie Vicente, Director of Secondary Education

The presentation this month was provided by the Gateway School for International Business and World Languages.

Public Speakers:

Elizabeth Moriarty	2557 River Road	Mrs. Fuchs
Rocio Fregoso	1114 Brooke Blvd.	Loss of Program
Lillia Andrules	1537 Mineral Spring Road	Loss of Mrs. Fuchs

Tom McMahon

Mrs. Fuchs

Ann McCormick 227 Bartlett Street Mrs. Fuchs

Approval of Minutes

Mr. Storch made a motion to approve the Minutes of the February 24, 2010 Regular Meeting and the March 24, 2010 Regular Meeting, and this was seconded by Ms. Wertz. The Minutes were approved unanimously.

Human Resources - Educational Personnel

The Human Resources Committee presented resolutions EP-183 - EP-243 for consideration. All resolutions were voted on together. A motion to consider the resolutions was made by Ms. Wertz, and this was seconded by Mr. Breton. The resolutions were presented as follows:

Instructional Appointments

EP-183 That Andrea L. Cusimano be appointed as a long-term substitute, Elementary Teacher – Grade 1 at 16th & Haak Elementary School, effective March 1, 2010 through the end of the day June 15, 2010, at a salary of TB1 of the 2009-2010 salary scale, \$38,000.00 prorated. **Ratification**J. White leave

EP-184 That Elizabeth E. Gallagher be appointed as a temporary professional employee, School Counselor at Northwest Middle School, effective April 19, 2010, at a salary of TM4 of the 2009-2010 salary scale, \$46,000.00 prorated. **Ratification**

G. Maga transfer

EP-185 That Lacey N. Kerchner be appointed as a long-term substitute, Elementary Teacher – Grade 1 at Northwest Elementary School, effective March 30, 2010 through the end of the day June 15, 2010, at a salary of TB1 of the 2009-2010 salary scale, \$38,000.00 prorated. **Ratification**A. Hartman leave

EP-186 That Tiffani E. Kinsey be appointed as a temporary professional employee, School Psychologist, District Wide, effective April 29, 2010 at a salary of TspM2 + 12 c.i. of the 2009-2010 salary scale, \$45,000.00 prorated + \$400.00 stipend.

S. Leatherly transfer

EP-187 That Karen B. Linder be appointed as a part-time, Virtual High School Tutor at Reading High School, maximum 24 hours per week, effective April 12, 2010 at an hourly rate of \$21.00. **Ratification**

D. Hohl resignation

EP-188 That Kathleen E. Meath be appointed as a temporary part-time Early Childhood Teacher, during school, maximum 672 hours per year, effective April 29, 2010 and paid through the Act 143 Family Literacy Grant at an hourly rate of \$21.00.

Newly Created - Res. EP-82 1/27/10

EP-189 That Tonya C. Shantz be appointed as a long-term substitute, Elementary Teacher – Grade 1 at Northwest Elementary School, effective April 19, 2010 through the end of the day June 15, 2010, at a salary of TM6 + 6 c.i. of the 2009-2010 salary scale, \$49,000.00 prorated. **Ratification**

M. Reber leave

EP-190 That Todd B. Weiss be appointed as a part-time Lighthouse Tutor, maximum 24 hours per week, at Southwest Middle School, effective April 6, 2010, at an hourly rate of \$21.00. **Ratification**

EP-191 That Natasha E. Weitzel be appointed as a long-term substitute Elementary Teacher at Riverside Elementary School, effective March 1, 2010 through the end of the day June 1, 2010, at a salary of TB1 of the 2009-2010 salary scale, \$38,000.00 prorated. **Ratification**

S. Christman / A. McDevitt leaves

EP-192 That the Board of Directors amends Resolution EP-30 of the January 27, 2010 Human Resources agenda which read:

That Katie E. Buchert be appointed as a long-term substitute, English Teacher at Reading High School, **effective January 25, 2010 through the end of the day June 15, 2010**, at a salary of TB1 of the 2009-2010 salary scale, \$38,000.00 prorated.

EP-193 That the Board of Directors amends Resolution EP-11 of the December 14, 2009 Human Resources agenda which read:

That Jami R. Miller be appointed as a long-term substitute, Special Education/LS Teacher at Thomas Ford Elementary School, <u>effective January 24, 2010 through the end of the day May 3, 2010</u>, at a salary of TspB1 of the 2009-2010 salary scale, \$38,000.00 prorated + \$400.00 stipend.

EP-194 That the Board of Directors amends Resolution 20 of the October 28, 2009 Human Resources agenda which read:

That Kathleen M. Saunders be appointed as a long-term substitute Elementary Teacher at 10th & Penn Elementary School and 13th & Green Elementary School, **effective October 13, 2009 through the end of the day June 15, 2010**, at a salary of TB6 + 24 c.i. of the 2009-2010 salary scale, \$47,750.00 prorated.

EP-195 That the Board of Directors amends Resolution 21 of the October 28, 2009 Human Resources agenda which read:

That Tammy D. Spaid, be appointed as a long-term substitute, Elementary Teacher – Grade 2 at Glenside Elementary School, <u>effective December 22, 2009 through the end of the day June 15, 2010,</u> at a salary of TB1 of the 2009-2010 salary scale, \$38,000.00 prorated.

EP-196 That the Board of Directors rescinds Resolution 6 of the November 24, 2009 Human Resources agenda which read:

That Shalaya L. Jiles, PT EAP Tutor, after school, maximum 24 hours per week, at 13th & Union Elementary School, effective date pending paperwork, at an hourly rate of \$21.00.

EP-197 That the Board of Directors rescinds Resolution 8 of the November 24, 2009 Human Resources agenda which read:

That Ryan T. Levan, PT EAP Tutor, after school, maximum 24 hours per week, at Amanda Stout Elementary School, effective date pending paperwork, at an hourly rate of \$15.00.

EP-198 That the Board of Directors amends Resolution EP-108 of the February 24, 2010 Human Resources agenda which read:

That James A. Wegert be appointed as a long-term substitute, Intervention Counselor at Lauer's Park Elementary School, <u>effective February 16, 2010 through the end of the day June 15, 2010</u>, at a salary of TM3 + 48 c.i. of the 2009-2010 salary scale, \$49,000.00 prorated.

EP-199 That the Board of Directors amends Resolution EP-1 of the December 14, 2009 Human Resources agenda which read:

That Jennifer Brotman be appointed as a long-term substitute ELA Teacher- Grade 5 at 13th & Green Elementary School, <u>effective January 25, 2010 through the end of the day June 15, 2010</u>, at a salary of TB1 of the 2009-2010 salary scale, \$38,000.00 prorated.

Administrative Resignations/Terminations/Retirements

EP-200 That the retirement/resignation of Cynthia A. Lasota, Special Education Supervisor, District Wide be accepted effective at the end of the day June 30, 2010.

Instructional Resignations/Terminations/Retirements

EP-201 That the retirement/resignation of Loraine Batdorf, Librarian at Lauer's Park Elementary School be accepted effective at the end of the day June 15, 2010.

EP-202 That the retirement/resignation of Kathleen D. Epler, Librarian at Amanda Stout Elementary School be accepted effective at the end of the day June 15, 2010.

EP-203 That the resignation of Cory M. Hensley, ESL Teacher at 10th & Penn Elementary School be accepted effective at the end of the day June 15, 2010.

EP-204 That the resignation of David J. Hohl, part-time Virtual Program Tutor, after school, at Reading High School be accepted effective at the end of the day March 19, 2010.

EP-205 That the resignation of Rodney D. Miller, Science Teacher at Reading High School be accepted effective at the end of the day June 15, 2010.

EP-206 That the retirement/resignation of Nina D. Rowley, General/Choral Music Teacher at Southern Middle School be accepted effective at the end of the day June 15, 2010.

EP-207 That the retirement/resignation of Patricia Schodowski, Special Education Teacher at Southwest Middle School be accepted effective at the end of the day June 15, 2010.

EP-208 That the resignation of Janet L. Setlock, Elementary Teacher – Grade 2 at 12th & Marion Elementary School be accepted effective at the end of the day June 15, 2010.

EP-209 That the retirement/resignation of Mark D. Shultz, Technology Teacher at Southwest Middle School be accepted effective at the end of the day June 16, 2010.

EP-210 That the resignation of Nora K. Sicher, Special Education Teacher at Southwest Middle School be accepted effective at the end of the day June 15, 2010.

EP-211 That the retirement/resignation of George W. Sonon Jr., Elementary Teacher – Grade 4 at Northwest Elementary School be accepted effective at the end of the day June 15, 2010.

EP-212 That the retirement/resignation of Elaine J. Wenrich, Librarian at 10th & Green Elementary School be accepted effective at the end of the day June 15, 2010.

Administrative Leaves of Absence Requests

EP-213 That the request for a child rearing leave of absence be granted for Geraldine Sepulveda-Torres, Associate Principal at Reading High School, effective April 9, 2010 through the end of the day May 23, 2010.

Administrative Support Leaves of Absence Requests

EP-214 That the request for a disability leave of absence be granted for Ruth E. Errazuri, Speech/Language Pathologist Associate, District Wide, effective May 17, 2010 through the end of the day June 25, 2010.

EP-215 That the Board of Directors amends Resolution 57 of the October 28, 2009 Human Resources agenda to read as follows:

That the request for a child rearing leave of absence be granted for Jennifer A. Nester, Confidential Secretary, Human Resources, effective March 5, 2010 through the end of the day May 9, 2010.

Instructional Leaves of Absence Requests

EP-216 That the request for a child rearing leave of absence be granted for Ann Marie Brown, Reading Specialist at 10th & Penn Elementary School, effective September 12, 2010 through the end of the day March 12, 2011.

EP-217 That the request for a child rearing leave of absence be granted for Jennifer L. Cambria, Kindergarten Teacher at Amanda Stout Elementary School, effective September 1, 2010 through the end of the day October 13, 2010.

EP-218 That the request for a child rearing leave of absence be granted for Jennifer I. Foo, Elementary Teacher – Grade 4 at Lauer's Park Elementary School, effective June 1, 2010 through the end of the day January 3, 2011.

EP-219 That the request for a disability leave of absence be granted for Jason K. Henley, Elementary Teacher – Grade 2 at Northwest Elementary School, effective April 9, 2010 through the end of the day May 23, 2010.

EP-220 That the request for a child rearing leave of absence be granted for Tambra L. Isenberg, Special Education/LS Teacher at Lauer's Park Elementary School, effective September 13, 2010 through the end of the day August 1, 2011.

EP-221 That the request for a child rearing leave of absence be granted for Kristin J. Manwiller, Communication Arts/Social Studies Teacher at the Gateway School for Agriculture, Science and Ecology, effective August 24, 2010 through the end of the day October 25, 2010.

EP-222 That the request for a family medical leave of absence, on an as needed basis, be granted for Margaret D. Schlauch, Reading Specialist at 12th & Marion Elementary School, effective March 26, 2010.

EP-223 That the request for a child rearing leave of absence be granted for Linda S. Zerbe, Literacy Coach at Reading High School, effective September 25, 2010 through the end of the day September 28, 2010.

EP-224 That the request for a child rearing leave of absence be granted for Michelle L. Zobel, Elementary Teacher – Grade 4 at Riverside Elementary School, effective November 4, 2010 through the end of the day April 26, 2011.

EP-225 That the Board of Directors amends Resolution 48 of the September 22, 2009 Human Resources agenda to read as follows:

That the request for a child rearing leave of absence be granted for Sarah E. Christman, Elementary Teacher – Grade 1 at Riverside Elementary School <u>effective February 27, 2010</u> <u>through the end of the day April 23, 2010.</u>

EP-226 That the Board of Directors amends Resolution 34 of the November 24, 2009 Human Resources agenda to read as follows:

That the request for a child rearing leave of absence be granted for Andrea M. Eriksen, Elementary Teacher – Grade 1 at Glenside Elementary School <u>effective April 6, 2010 through the end of the day January 2, 2011.</u>

EP-227 That the Board of Directors amends Resolution EP-129 of the February 24, 2010 Human Resources agenda to read as follows:

That the request for a disability/child rearing leave of absence be granted for Tara M. Monahan, English Teacher – Grade 10 at Reading High School, <u>effective January18</u>, <u>2010 through the end</u> of the day June 15, 2010.

EP-228 That the Board of Directors amends Resolution 40 of the November 24, 2009 Human Resources agenda to read as follows:

That the request for a child rearing leave of absence be granted for Jessica A. Nye, Special Education/LS Teacher at Riverside Elementary School, <u>effective April 5, 2010 through the end</u> of the day May 17, 2010.

EP-229 That the Board of Directors amends Resolution EP-73 of the January 27, 2010 Human Resources agenda to read as follows:

That the request for a child rearing leave of absence be granted for Meghan B. Smith, Kindergarten Teacher at Tyson Schoener Elementary School, <u>effective March 22, 2010 through the end of the day May 16, 2010.</u>

EP-230 That the Board of Directors amends Resolution 55 of the September 22, 2009 Human Resources agenda to read as follows:

That the request for a child rearing leave of absence be granted for Danielle J. Stiffler, Special Education/LS Teacher at Thomas Ford Elementary School, <u>effective January 24, 2010 through the end of the day May 2, 2010.</u>

EP-231 That the Board of Directors amends Resolution 35 of the November 24, 2009 Human Resources agenda to read as follows:

That the request for a disability/child rearing leave of absence be granted for Bonnie L. Fox, Librarian at Riverside Elementary School, <u>effective April 14, 2010 through the end of the day June 28, 2010.</u>

EP-232 That the Board of Directors amends Resolution 61 of the October 28, 2009 Human Resources agenda to read as follows:

That the request for a child rearing leave of absence be granted for Stephanie M. Gilmer, Elementary Teacher – Grade 3 at 12th & Marion Elementary School, <u>effective April 2, 2010</u> through the end of the day September 1, 2010.

EP-233 That the Board of Directors amends Resolution EP-124 of the February 24, 2010 Human Resources agenda to read as follows:

That the request for a disability leave of absence be granted for Lynn A. Willems, Intervention Counselor at 10th & Green Elementary School and Lauer's Park Elementary School, <u>effective</u> February 1, 2010 through the end of the day November 17, 2010.

EP-234 That the Board of Directors amends Resolution EP-69 of the January 27, 2010 Human Resources agenda to read as follows:

That the request for a child rearing leave of absence be granted for Allison S. McDevitt, Elementary Teacher – Grade 4 at Riverside Elementary School, <u>effective April 21, 2010 through the end of the day June 16, 2010.</u>

EP-235 That the Board of Directors amends Resolution 38 of the November 24, 2009 Human Resources agenda to read as follows:

That the request for a child rearing leave of absence be granted for Jennifer C. Mazur, Speech/Language Pathologist, District Wide, effective March 29, 2010 through the end of the day June 14, 2010.

Instructional Returns From Leaves of Absence

EP-236 That Sarah E. Christman, Elementary Teacher – Grade 1 at Riverside Elementary School, return to duty from a child rearing leave of absence effective April 26, 2010.

EP-237 That Tara M. Monahan, English Teacher – Grade 10 at Reading High School, return to duty from a child rearing leave of absence effective June 16, 2010.

EP-238 That Anita R. Ridge, Biology Teacher – Grade 10 at Reading High School, return to duty from a child rearing leave of absence effective June 15, 2010.

EP-239 That Lori A. Rompella, Elementary Teacher – Grade 1 at Tyson Schoener Elementary School return to duty from a child rearing leave of absence effective April 27, 2010.

EP-240 That Lisa M. Stoddard, Elementary Teacher – Grade 3 at Tyson Schoener Elementary School, return to duty from a child rearing leave of absence effective June 22, 2010.

Other Actions

EP-241 BE IT RESOLVED, That the Board of Directors awards a Professional Employee Contract to Joshua D. Matz, employee number 6319, who was hired on March 8, 2007, tenured in April 2010, and has performed on a satisfactory basis for three years.

EP-242 BE IT RESOLVED, That the Board of Directors awards a Professional Employee Contract to Adam C. Pomponio, employee number 6353, who was hired on April 18, 2010, tenured in April 2010, and has performed on a satisfactory basis for three years.

EP-243 BE IT RESOLVED, That the Board of Directors appoints Raquel A. Kelley as a Substitute Teacher for GAP and Southwest Lighthouse, effective May 3, 2010, at an hourly rate of \$21.00.

VOTE ON HUMAN RESOURCES EDUCATION PERSONNEL RESOLUTIONS EP-183-243: 8 YEAS; 0 NAYS YEAS: Mr. Breton

Mr. Stamm Mrs. Torres-Figueroa

Ms. Wertz

Mrs. McCree Mr. Storch Mr. Washington Mr. Santoro, President

HUMAN RESOURCES EDUCATIONAL PERSONNEL RESOLUTIONS WERE APPROVED.

<u>Human Resources - Support Staff Personnel</u>

The Human Resources Committee presented resolutions SSP-138 - SSP-192 for consideration. Resolution SSP-186 was voted on separately. Mrs. McCree made a motion to consider resolutions SSP-138 - SSP-185 and SSP-187 - SSP-192, and this was seconded by Ms. Wertz. The resolutions were presented as follows:

Appointments

SSP-138 That Eduardo Albino be appointed as a full-time (1488 hours) 10-month Security Guard at Reading High School, effective May 3, 2010 at an hourly rate of \$11.00.

S. Rogers transfer

SSP-139 That Steven L. Beatty be appointed as a full-time (1488 hours) 10-month Security Guard at Reading High School, effective April 29, 2010 at an hourly rate of \$11.00.

S. Gaul transfer

SSP-140 That Thomas K. Bennett be appointed as a full-time (1488 hours) Security Guard at Excel, effective April 5, 2010 at an hourly rate of \$11.00. Ratification

N. Otero transfer

- SSP-141 That Robert B. Boyer be appointed as a part-time (1040 hours) 2nd shift Custodian, District Wide, effective March 29, 2010 at an hourly rate of \$11.10. Ratification L. Washington transfer
- SSP-142 That Shonrel A. Clark be appointed as a part-time Night School Security Guard, District Wide, effective April 12, 2010 at an hourly rate of \$11.00. Ratification

Newly Created -

- SSP-143 That Maria Cortes-Pantoja be appointed as a full-time (1183 hours) Cafeteria Worker at Reading High School, effective April 26, 2010 at an hourly rate of \$11.00. Ratification H. Ramirez transfer
- SSP-144 That Norma DeJesus be appointed as a part-time (720 hours) Lunch Aide at 13th & Green Elementary School, effective March 29, 2010 at an hourly rate of \$8.00. Ratification K. Martin resignation
- SSP-145 That Roxie M. Dix be appointed as a full-time ES Assistant at 10th & Penn Elementary School, effective April 12, 2010 at an hourly rate of \$9.30. Ratification A. Joseph resignation

SSP-146 That Pedro Fontanez be appointed as a part-time (841.5 hours) Hall Monitor at Reading High School, effective April 5, 2010 at an hourly rate of \$9.30. Ratification

F. Lubas transfer

SSP-147 That Yolanda S. Fontanez be appointed as a part-time Guidance Clerk 2 at 10th & Green Elementary School, effective April 26, 2010 at an hourly rate of \$17.33. Ratification G. Oduah transfer

SSP-148 That Marci B. Gauker be appointed as full-time (1289.25 hours) MDS Assistant, One-on-One, at Northwest Middle School, effective date pending paperwork at an hourly rate of \$9.30.

M. Candelaria transfer

SSP-149 That Emily R. Gonzalez be appointed as a part-time (841.5 hours) Hall Monitor at Reading High School, effective March 29, 2010 at an hourly rate of \$9.30. Ratification

D. Edwards transfer

SSP-150 That Armond H. Hughston be appointed as a full-time (1289.25 hours) LS Assistant at Reading High School, effective April 12, 2010 at an hourly rate of \$9.30.

Ratification

A. Faulkner resignation

SSP-151 That Michael Lopez be appointed as a part-time Security Guard at Reading High School, effective March 29, 2010 at an hourly rate of \$11.00. **Ratification**

N. Otero transfer

SSP-152 That Leonora M. Mancebo be appointed as a temporary part-time ECE Teacher Aide, District Wide, during school, maximum 575 hours per year, effective April 29, 2010 and paid through the Act 143 Family Literacy Grant at an hourly rate of \$10.50.

Newly Created - EP-82 1/27/10

SSP-153 That Ivelis Mendez be appointed as a part-time (810 hours) Lunch Aide at Tyson Schoener Elementary School, effective may 3, 2010, at an hourly rate of \$8.00.

Y. Castro resignation

SSP-154 That Christopher J. Ninfo be appointed as a full-time (2080 hours) 2nd Shift Custodian at 16th & Haak Elementary School, effective April 5, 2010 at an hourly rate of \$11.10. **Ratification**

B. Alvarez transfer

SSP-155 That Noeli M. Pacheco be appointed as a part-time (765 hours) Lunch Aide at Lauer's Park Elementary School, effective March 29, 2010 at an hourly rate of \$8.00.

Ratification

J. Romero resignation

SSP-156 That Sheri L. Reinhart be appointed as a full-time (1289.25 hours) ES Assistant at Excel, effective April 12, 2010 at an hourly rate of \$9.30. **Ratification**

E. Haynes-Freeman transfer

SSP-157 That Jason E. Rodriguez be appointed as a full-time 2nd Shift Custodian at Reading Intermediate High School, effective May 3, 2010 at an hourly rate of \$11.10.

Newly Created - Res. 88 10/28/09

SSP-158 That Benjamin E. Swisher be appointed as a full-time (2080 hours) 2nd Shift Custodian at Reading Intermediate High School effective April 26, 2010, at an hourly rate of \$11.10. **Ratification**

Newly Created - Approved 3/24/10 Res. 88

SSP-159 That Anna Torres be appointed as a part-time Lunch Aide at 16th & Haak Elementary School, effective March 29, 2010 at an hourly rate of \$8.00. Ratification

V. Tull-Drayton transfer

SSP-160 That Joanette Vargas-Lugo be appointed as a part-time (720 hours) Lunch Aide at 10th & Green Elementary School, effective April 12, 2010 at an hourly rate of \$8.00. **Ratification**J. Oquendo resignation

Resignations/Terminations/Retirements

- **SSP-161** That the resignation of Chantal S. Brockington, full-time Health Assistant, District Wide be accepted effective at the end of the day April 30, 2010.
- SSP-162 That the resignation of Norma DeJesus, part-time Lunch Aide at 10th & Green Elementary School be accepted effective at the end of the day April 14, 2010.
- SSP-163 That the resignation of Elsie Dominguez, part-time Clerk 2 at Tyson Schoener Elementary School be accepted effective at the end of the day April 21, 2010.
- SSP-164 That the retirement/resignation of Kathleen Farrell, full-time Custodian at Reading High School be accepted effective at the end of the day July 9, 2010.
- SSP-165 That the termination of Christine Gonzalez, full-time LS Assistant at Southern Middle School be accepted effective at the end of the day March 2, 2010.
- SSP-166 That the resignation of Darius Humphries, part-time AS Assistant, One-on-One at Reading High School be accepted effective at the end of the day April 8, 2010.
- SSP-167 That the retirement/resignation of Kathleen L. Kline, full-time LSS Assistant at Southwest Middle School be accepted effective at the end of the day June 14, 2010.
- SSP-168 That the resignation of Gene L. Ludwig, full-time Security Guard at Reading High School be accepted effective at the end of the day April 9, 2010.
- SSP-169 That the resignation of Jocelyn Olivares, full-time MDS Assistant at Northwest Middle School be accepted effective at the end of the day April 9, 2010.
- **SSP-170** That the resignation of Jessica Oquendo, part-time Lunch Aide at 10th & Green Elementary School be accepted effective at the end of the day March 31, 2010.

- SSP-171 That the resignation of Betty J. Perry, substitute Lunch Aide at 10th & Penn Elementary School be accepted effective at the end of the day March 24, 2010.
- SSP-172 That the resignation of Wandaly Ramirez, full-time 10-month Security Guard at Northeast Middle School be accepted effective at the end of the day April 14, 2010.
- SSP-173 That the resignation of Carol Riley, full-time LS Assistant at Northwest Middle School be accepted effective at the end of the day April 20, 2010.
- **SSP-174** That the retirement/resignation of Dorothy A. Roehr, Vice Principal Clerk 4 at Reading High School be accepted effective at the end of the day July 30, 2010.
- SSP-175 That the resignation of Brittany Rothermel, full-time ES Assistant at Millmont Elementary School be accepted effective at the end of the day April 30, 2010.
- SSP-176 That the termination of Vanessa A. Scott, part-time Lunch Aide at Lauer's Park Elementary School be accepted effective at the end of the day March 10, 2010.
- SSP-177 That the Board of Directors amends Resolution SSP-118 of the March 24, 2010 Human Resources agenda to read as follows:
- SSP-178 That the <u>retirement/resignation</u> of Bernice V. Glaser, part-time Hall Monitor at Reading High School be accepted effective at the end of the day June 18, 2010.

Leaves of Absence

- SSP-179 That the request for a general leave of absence be granted for Chavonna Cooper, full-time Security Guard at Northeast Middle School, effective March 15, 2010 through the end of the day March 15, 2011.
- SSP-180 That the request for a family medical leave of absence be granted for Crystal Eisenhower, full-time Human Resources Clerk 3, Administration Building, effective April 21, 2010 through the end of the day June 7, 2010.
- **SSP-181** That the request for a general leave of absence be granted for Earl Fidler, full-time Maintenance Worker, District Wide, effective April 19, 2010 through the end of the day May 31, 2010.
- SSP-182 That the request for a family medical leave of absence be granted for Christine Heebner, full-time Cafeteria Worker at Reading High School, effective March 26, 2010 through the end of the day August 7, 2010.

Returns From Leaves of Absence

SSP-183 That Christine Behm, full-time Special Education Assistant at Reading High School, return to duty from a general leave of absence effective April 27, 2010.

SSP-184 That Kelly Graham, part-time Reading Assistant at 16th & Haak Elementary School, return to duty from a family medical leave of absence effective April 6, 2010.

Other

SSP-185 BE IT RESOLVED, That the Board of School Directors approves a one-on-one assistant position, at a contractual rate of \$9.30 per hour, beginning May, 2010, at 13th & Union, for an autistic student, ID# 123354, based on the student's Individualized Education Plan (IEP). (ACCESS Fund)

SSP-186 This resolution was voted on separately.

SSP-187 BE IT RESOLVED, That the Board of School Directors approves a one-on-one paraprofessional, at a contractual rate of \$9.30 per hour, beginning May, 2010 at Northeast Middle School, for an Aspergers student (ID# 302598), based on the student's Individualized Education Plan (IEP). (ACCESS Fund)

SSP-188 BE IT RESOLVED, That the Board of School Directors approves the elimination of an AS Assistant, One-on-One position at Thomas Ford Elementary School. Student left the District (Student ID #30929)

SSP-189 BE IT RESOLVED, That the Board of School Directors approves a part-time Lunch Aide position at the Gateway School for Communication and Technology.

SSP-190 BE IT RESOLVED, That the Board of School Directors approves a part-time Lunch Aide position at the Gateway School for International Business and World Language.

SSP-191 BE IT RESOLVED, That the Board of Directors approves a request for absence, with no loss of pay, for Grace Dunkelberger, on April 29, 2010 and April 30, 2010 to attend a conference at Penn State University. This is due to her holding a position on the Board of Directors of the PA Association of Educational Office Professionals. This approval is granted without setting precedence for future approvals.

SSP-192 BE IT RESOLVED, That the Board of Directors eliminates an AS position, One-on-one, at Reading High School. Student ID # 126869 – requirement deleted from IEP.

VOTE ON HUMAN RESOURCES SUPPORT STAFF RESOLUTIONS AS LISTED: 8 YEAS; 0 NAYS

YEAS: Mrs. McCree Mr. Stamm

Mr. Storch Mrs. Torres-Figueroa

Mr. Washington Ms. Wertz

Mr. Breton Mr. Santoro, President

THE HUMAN RESOURCES SUPPORT STAFF RESOLUTIONS AS LISTED WERE APPROVED.

Ms. Wertz made a motion to consider resolution SSP-186, and this was seconded by Mr. Breton. The resolution was presented as follows:

Other

SSP-186 BE IT RESOLVED, That the Board of School Directors approves a one-on-one assistant position, at a contractual rate of \$9.30 per hour, beginning May, 2010, at 13th & Union, for an Aspergers student, ID# 119470, based on the students Individualized Education Plan (IEP). (ACCESS Fund)

VOTE ON HUMAN RESOURCES SUPPORT STAFF RESOLUTION SSP-186: 7 YEAS; 0 NAYS; 1 ABSTENTION

YEAS: Mr. Stamm Mr. Storch

Mrs. Torres-Figueroa Mr. Washington Ms. Wertz Mr. Breton

Mr. Santoro, President

ABSTAIN: Mrs. McCree

HUMAN RESOURCES SUPPORT STAFF RESOLUTION SSP-186 WAS APPROVED.

Curriculum and Technology

The Curriculum and Technology Committee presented resolutions CUR-49 - CUR-67. Resolution CUR-50 was voted on separately. Ms. Wertz made a motion to consider CUR-49 and CUR-51 - CUR-67, and this was seconded by Mr. Storch. The resolutions were presented as follows:

CUR-49 BE IT RESOLVED, That the Board of Directors of the Reading School District authorizes the Administration to approve Elementary and Secondary Summer tutoring for all approved students in Reading and Mathematics. Funding will be provided through the Education Assistance Program (EAP) grant. Staff will be compensated for professional development and any additional time at the contractual hourly rates, not to exceed \$298,383.00.

CUR-50 TO BE VOTED ON SEPARATELY.

CUR-51 BE IT RESOLVED, That the Board of Directors of the Reading School District authorizes the Administration to submit applications for the following school-based grant programs:

Dollar General Youth Literacy Highmark Healthy High 5 School Challenge

CUR-51-A

CUR-52 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies the submission of applications for the following school-based grant programs:

Captain Planet Foundation Trout in the Classroom

CUR-53 BE IT RESOLVED, That the Board of Directors of the Reading School District rescinds Resolution 2 from September 22, 2009 board agenda which read as follows:

Authorizes the Administration to approve a contract with the following Supplemental Educational Services (SES) provider Huntington Learning Center, Inc., not to exceed \$1,988.65 per child served, cost to be paid through Title I funds.

CUR-54 BE IT RESOLVED, That the Board of Directors of the Reading School District authorizes the Administration to approve a textbook adoption for the RHS Math curriculum <u>Thinking Mathematically.</u> The cost not to exceed \$15,000.00, funded through PA-Pact.

CUR-54-A

CUR-55 BE IT RESOLVED, That the Board of Directors of the Reading School District authorizes the Administration to approve a textbook adoption for the RHS safety education curriculum <u>RESPONSIBLE DRIVING</u>. The cost not to exceed \$5,200.00, funded through PA-Pact.

CUR-55-A

CUR-56 BE IT RESOLVED, That the Board of Directors of the Reading School District approves the purchase of Scholastic's READ 180, Reading Intervention System and supporting hardware for use with struggling readers in 9th and 10th grades. The cost for READ 180 will not exceed \$472,468.00, funded by Title I Supplemental. The cost for supporting hardware will not exceed \$149,800.89, funded by PA Pact for a total cost not to exceed \$622,268.89.

CUR-56-A

CUR-57 BE IT RESOLVED, That the Board of Directors of the Reading School District approves the purchase of Scholastic's System 44, a Reading Intervention program and supporting hardware for use with ELA and Special Education students in 9th and 10th grades. The cost for System 44 will not exceed \$87,500.00, funded by Title III and AARA. The cost for supporting hardware will not exceed \$50,865.00, funded by PA Pact for a total cost not to exceed \$138,365.00.

CUR-58 BE IT RESOLVED, That the following named personnel be granted permission to be absent from duty, with no deduction in salary, to attend Keeping Our Children Safe Conference in Harrisburg, PA from May 3-5, 2010. The cost will not exceed \$239.38, funded through Title I.

Patricia A. Moyer

CUR-58-A

CUR-59 BE IT RESOLVED, That the following named personnel be granted permission to be absent from duty, with no deduction in salary, to attend the Essential Engagement

Movitating Metacognitive Minds in Penn State York, PA from June 14-18, 2010. The cost will not exceed \$1,328.00, funded through Title III.

Esperanza Wickert

CUR-59-A

CUR-60 BE IT RESOLVED, That the following named personnel be granted permission to be absent from duty, with no deduction in salary, to attend Eastern Regional Conference in Baltimore, MD from June 16-17, 2010. The cost will not exceed \$1,516.64, funded by 21st Century CLC.

Darrah Schlegel Laura C. Kruse

CUR-60-A

CUR-61 BE IT RESOLVED, That the following named personnel be granted permission to be absent from duty, with no deduction in salary, to attend Coaching in a Climate of Change in Philadelphia, PA from May 11-12, 2010. The cost will not exceed \$612.51, funded by Reading First.

Patricia Conahan

CUR-61-A

CUR-62 BE IT RESOLVED, That the following named personnel be granted permission to be absent from duty, with no deduction in salary, to attend Professional Learning Communities at Work Institute, in Washington, DC from July 15-17, 2010. The cost will not exceed \$1,481.50, funded through Title I Supplemental.

Mark J. Preletz

CUR-62-A

CUR-63 BE IT RESOLVED, That the following named personnel be granted permission to be absent from duty, with no deduction in salary, to attend the Annual High School Redesigning for the 21st Century, in Penn State University Park, PA from May 3-4, 2010. The cost will not exceed \$240.00, funded through General Fund.

Preston McKnight

CUR-63-A

CUR-64 BE IT RESOLVED, That the following named personnel be granted permission to be absent from duty, with no deduction in salary, to attend the Pennsylvania Department of Education's State Parent Advisory Council Conference, in Seven Springs, Campion, PA from June 29th to July 1, 2010. The cost will not exceed \$2,662.00, funded through Title I.

Rick Perez Gladys Mendez

CUR-64-A

CUR-65 BE IT RESOLVED, That the following named personnel be granted permission to be absent from duty, with no deduction in salary, to attend Pennsylvania Department of Education, Advisory Committee for the Keystone State Exams, in Harrisburg, PA from May 18-19, 2010. There is no cost to the Reading School District.

Sharon McLendon

CUR-65-A

CUR-66 BE IT RESOLVED, That the following named personnel be granted permission to attend Teaching American History Grant, in Philadelphia, PA from June 24-25, 2010. The cost will not exceed \$14,330.00, funded through Teaching American History Grant.

Gregory Brey	Leo Hanley	Daniel Noll
William T. Carl	Daniel Hauman	Mark J. Preletz
Dwayne Clemens	Mitch Hettinger	Janet Lee
		Ranheim
Chris Dailey	Raissa Kalischevich	Colette
		Rathman
Russell Diesinger	Bruce Kauffman	Michael Riley
Stacey R. Eiler	Phil Lechner	Darrah
		Schlegel
Elizabeth J. Fitterling	Jessica Nicholls Mease	Nicole Seibert
Suzanne M. Fries	John M. Morrissey	Tracey D.
		Semmel
Dean Garges	Douglas R. Moyer	Mark Sewell
Randy Gaston	Nathan Munz	Katie Williams
Bradley Greth		

CUR-67 BE IT RESOLVED, That the Board of Directors approves one (1) Volunteer Credit be given to the following Reading High School students who participated in the creation and production of the RED Knight Report:

Lillia Andrules	Caleb Wallace	Cassie Kozlowski
John Moriarity	Josh Raver	Dillon Wernicki
David Christophel	Arie Moyer	Dennis Moyer
Tyler Washington	Cuong Nguyen	James Haggerty
Nate Miller	Seth Fasig	Noe Carabello
Samantha Corza	Seth Bender	

VOTE ON CURRICULUM AND TECHNOLOGY RESOLUTIONS 49 AND 51-67: 8 YEAS; 0 NAYS

YEAS: Mr. Storch Mrs. Torres-Figueroa

Mr. Washington Ms. Wertz
Mr. Breton Mrs. McCree

Mr. Stamm Mr. Santoro, President

THE CURRICULUM AND TECHNOLOGY RESOLUTIONS AS LISTED WERE APPROVED.

The Curriculum and Technology Committee presented Resolution CUR-50 for consideration. The motion was made by Ms. Wertz and this was seconded by Mr. Breton. The resolution read as follows:

CUR-50 BE IT RESOLVED, That the Board of Directors of the Reading School District authorizes the Administration to approve summer activities by professional and support staff, including professional development, curriculum work and summer tutoring. Staff will be compensated for additional time at the contractual hourly rates, not to exceed \$833,002.50. All compensation will be paid from district funds, Title I Reserved FUNDS, Title I building funds, Title III, Title I School Improvement funds, and Title I Supplemental funds.

10th & Green (Funding Source- EAP)

Activity / Summer Tutoring			
Lauren Faust 56 hours	\$25.00		\$1,400.00
Monica Armao 52 hours	\$25.00		\$1,300.00
Kayla Garcia 52 hours	\$25.00		\$1,300.00
Robert Gillespie 52 hours	\$25.00		\$1,300.00
Adrienne Guinther 52 hours	\$25.00		\$1,300.00
Cindy Hitchens 52 hours	\$25.00		\$1,300.00
Cindy Leukus 52 hours	\$25.00		\$1,300.00
Cheryl Lupio 52 hours	\$25.00		\$1,300.00
Jason Williams 52 hours	\$25.00		\$1,300.00
Alejandro Rodriguez 48 hou	rs	\$15.00	\$720.00

Jennifer Born (SUB)	\$25.00
Danielle Scruse (SUB)	\$25.00

10th & Green (Funding Source- Title I Supplemental) Activity / Revised School Improvement Plan

110011109 / 110010001100111111		
Kimberly Clarke 24 hours	\$25.00	\$600.00
Paula Lucey 24 hours	\$25.00	\$600.00
Jason Williams 24 hours	\$25.00	\$600.00
Cindy Hitchens 24 hours	\$25.00	\$600.00
Monica Armao 24 hours	\$25.00	\$600.00
Kirsten Stankiewicz 24 hours	\$25.00	\$600.00
Adrienne Derrer 24 hours	\$25.00	\$600.00
Lauren Faust 24 hours	\$25.00	\$600.00
Karen Osika 24 hours	\$25.00	\$600.00
Sherry Brinker 24 hours	\$25.00	\$600.00
Kathleen Sallade 24 hours	\$25.00	\$600.00
Wendy Ganster 24 hours	\$25.00	\$600.00
Andrea Mollura 24 hours	\$25.00	\$600.00
Sarah Churgai 24 hours	\$25.00	\$600.00
Nina Murphy 24 hours	\$25.00	\$600.00
Brynn Hollywood 24 hours	\$25.00	\$600.00

10th & Green (Funding Source- Title I Supplemental) Activity / Principal Academy

Andrea Bortz 6 hours	\$25.00	\$150.00
Kimberly Clarke 6 hours	\$25.00	\$150.00
Valerie Deysher 6 hours	\$25.00	\$150.00
Stephanie Mendoza 6 hours	\$25.00	\$150.00
Bethann Pagano 6 hours	\$25.00	\$150.00
Randi Bartusik 6 hours	\$25.00	\$150.00
Cynthia Leukus 6 hours	\$25.00	\$150.00
Paula Lucey 6 hours	\$25.00	\$150.00
Cheryl Lupia 6 hours	\$25.00	\$150.00
Jennifer Slater 6 hours	\$25.00	\$150.00
Kayla Garcia 6 hours	\$25.00	\$150.00
Adrienne Guinther 6 hours	\$25.00	\$150.00
Sandra Vought 6 hours	\$25.00	\$150.00
Kelly Wendler 6 hours	\$25.00	\$150.00
Jason Williams 6 hours	\$25.00	\$150.00
Jennifer Born 6 hours	\$25.00	\$150.00
Robin Goodman 6 hours	\$25.00	\$150.00
Cindy Hitchens 6 hours	\$25.00	\$150.00
Stephanie Kershner 6 hours	\$25.00	\$150.00
Jaclyn Pentecharsky 6 hours	\$25.00	\$150.00
Monica Armao 6 hours	\$25.00	\$150.00
Chantel Bagenstose 6 hours	\$25.00	\$150.00
Shannon Hoffa 6 hours	\$25.00	\$150.00

Daniel Mark 6 hours	\$25.00	\$150.00
Domenic DiMenichi 6 hours	\$25.00	\$150.00
	\$25.00	
Robert Gillespie 6 hours		\$150.00
Kirsten Stankiewicz 6 hours	\$25.00	\$150.00
Virginia Wolfrum 6 hours	\$25.00	\$150.00
Sherry Brinker 6 hours	\$25.00	\$150.00
Kathleen Sallade 6 hours	\$25.00	\$150.00
Adrienne Derrer 6 hours	\$25.00	\$150.00
Lauren Faust 6 hours	\$25.00	\$150.00
Karen Osika 6 hours	\$25.00	\$150.00
Wendy Ganster 6 hours	\$25.00	\$150.00
Andrea Mollura 6 hours	\$25.00	\$150.00
Sarah Churgai 6 hours	\$25.00	\$150.00
Shannon Pichler 6 hours	\$25.00	\$150.00
TBA 6 hours	\$25.00	\$150.00
Amy Rittle 6 hours	\$25.00	\$150.00
5		
J. David Hinkel 6 hours	\$25.00	\$150.00
10th & Penn (Funding Source	e- EAP)	
Activity / Summer Tutoring		
Lisa Amato 56 hours	\$25.00	\$1,400.00
Esther Mendieta 48 hours	\$15.00	\$720.00
Darlene Baloga 52 hours	\$25.00	\$1,300.00
Elizabeth Stamm 52 hours	\$25.00	\$1,300.00
Stephanie Frill 52 hours	\$25.00	\$1,300.00
Heidi Lotz-Youdt 52 hours	\$25.00	\$1,300.00
Craig Hoffer 52 hours	\$25.00	\$1,300.00
Jeanette Christophel 52 hour	s \$25.00	\$1,300.00
Zachary Milch 52 hours	\$25.00	\$1,300.00
Laura Kline 52 hours	\$21.00	\$1,092.00
Cory Henslaey 52 hours	\$25.00	\$1,300.00
Cynthia Fanelli 52 hours	\$25.00	\$1,300.00
Joshua Matz (SUB)	\$25.00	
10th & Penn (Funding Source	o_ Titlo I Sunnl	omontal)
•		cincinui
Activity / Principal Academy	•	* 4 = 2.00
Kathryn Altomari 6 hours	\$25.00	\$150.00
Gretchen Bonte 6 hours	\$25.00	\$150.00
Amie Brossman 6 hours	\$25.00	\$150.00
MaryAnn Gardner 6 hours	\$25.00	\$150.00
•		
Dorothy Belinski 6 hours	\$25.00	\$150.00
Andrea Curtis 6 hours	\$25.00	\$150.00
Stephanie Potteiger 6 hours	\$25.00	\$150.00
Jim Rule 6 hours	\$25.00	\$150.00
Michelle Anastasio 6 hours		
	\$25.00	\$150.00
Mindi Burkman 6 hours	\$25.00	\$150.00
Stephanie Frill 6 hours	\$25.00	\$150.00

Wendy Moll	6 hours	\$25.00	\$150.00
Kim Reber	6 hours	\$25.00	\$150.00
Angie Smith	6 hours	\$25.00	\$150.00
Darlene Balog	a 6 hours	\$25.00	\$150.00
Andrea White	6 hours	\$25.00	\$150.00
JoAnn Scherer	6 hours	\$25.00	\$150.00
Laura Stauffer	6 hours	\$25.00	\$150.00
Danielle Green	ne 6 hours	\$25.00	\$150.00
Josie Trexler	6 hours	\$25.00	\$150.00
Cory Hensley	6 hours	\$25.00	\$150.00
Matthew Hatle	ee 6 hours	\$25.00	\$150.00
Katie Herbein	6 hours	\$25.00	\$150.00
Francine Lawr	rence 6 hours	\$25.00	\$150.00
Judy Speicher	6 hours	\$25.00	\$150.00
Jennifer McCr	eady 6 hours	\$25.00	\$150.00
Dara Kluth	6 hours	\$25.00	\$150.00
Tara Koppenb	urg 6 hours	\$25.00	\$150.00
Lynn Engle	6 hours	\$25.00	\$150.00
Heidi Youndt	6 hours	\$25.00	\$150.00
Lisa Amato	6 hours	\$25.00	\$150.00
Roz Wenrich	6 hours	\$25.00	\$150.00
Amanda Erdn	nan 6 hours	\$25.00	\$150.00
Ann Marie Bro	own 6 hours	\$25.00	\$150.00
Kari Plasha	6 hours	\$25.00	\$150.00
Lisa Miller	6 hours	\$25.00	\$150.00

10th & Penn (Funding Source- Title I Supplemental) Activity / School Improvement Plan

Andrea White 24 hours	\$25.00	\$600.00
Kari Plasha 24 hours	\$25.00	\$600.00
Ann Marie Brown 24 hours	\$25.00	\$600.00
JoAnn Scherer 24 hours	\$25.00	\$600.00
Amie Brossman 24 hours	\$25.00	\$600.00
Andrea Curtis 24 hours	\$25.00	\$600.00
Stephanie Frill 24 hours	\$25.00	\$600.00
Katie Herbein 24 hours	\$25.00	\$600.00
Josephine Trexler 24 hours	\$25.00	\$600.00
Francine Lawrence 24 hours	\$25.00	\$600.00
Brenda Maldonado 24 hours	\$25.00	\$600.00
Lisa Amato 24 hours	\$25.00	\$600.00
Danielle Greene 24 hours	\$25.00	\$600.00
Laura Stauffer 24 hours	\$25.00	\$600.00
Gretchen Bonte (SUB)	\$25.00	
Dorothy Belinski (SUB)	\$25.00	
Melinda Burkman (SUB)	\$25.00	
Cory Hensley (SUB)	\$25.00	
Tara Koppenberg (SUB)	\$25.00	

Heidi Youndt (SUB) \$25	.00
-------------------------	-----

Tielai Touriat (SOB)	Ψ25.00	
10th & Penn (Funding Sourc Activity / Behavior and Disc		ds)
Matthew Hatlee 12 hours	\$25.00	\$300.00
Angela Smith 12 hours	\$25.00	\$300.00
Andrea Curtis 12 hours	\$25.00	\$300.00
Dorothy Belinski 12 hours	\$25.00	\$300.00
Nancy Ronca 12 hours	\$25.00	\$300.00
Kim Reber 12 hours	\$25.00	\$300.00
Doug Hatch 12 hours	\$25.00	\$300.00
Amanda Erdman 12 hours	\$25.00	\$300.00
10th & Penn (Funding Source	e- Title I)	
Activity / Power of Reading	Practice	
Josephine Trexler 6 hours	\$25.00	\$150.00
Matthew Hatlee 6 hours	\$25.00	\$150.00
Cory Hensley 6 hours	\$25.00	\$150.00
Katie Herbein 6 hours	\$25.00	\$150.00
Fran Lawrence 6 hours	\$25.00	\$150.00
Jennifer McCready 6 hours	\$25.00	\$150.00
Dara Kluth 6 hours	\$25.00	\$150.00
Judy Speicher 6 hours	\$25.00	\$150.00
Lynn Engle 6 hours	\$25.00	\$150.00
Heidi Lotz 6 hours	\$25.00	\$150.00
Tara Koppenberg 6 hours	\$25.00	\$150.00
Lisa Miller 6 hours	\$25.00	\$150.00
Lisa Amato 6 hours	\$25.00	\$150.00
Roslynd Wenrich 6 hours	\$25.00	\$150.00
Ann Marie Brown 6 hours	\$25.00	\$150.00
Kari Plasha 6 hours	\$25.00	\$150.00
JoAnn Scherer 6 hours	\$25.00	\$150.00
June McCray 6 hours	\$25.00	\$150.00
Elizabeth Planer 6 hours	\$25.00	\$150.00
Amanda Erdman 6 hours	\$25.00	\$150.00
Danielle Green 6 hours	\$25.00	\$150.00
George Dixon 6 hours	\$25.00	\$150.00

10th & Penn (Funding Source- Title I) Activity / 100 Book Challenge

\$25.00	\$150.00
\$25.00	\$150.00
\$25.00	\$150.00
\$25.00	\$150.00
\$25.00	\$150.00
\$25.00	\$150.00
\$25.00	\$150.00
	\$25.00 \$25.00 \$25.00 \$25.00 \$25.00

Jim Rule 6 hours	\$25.00	\$150.00	
Michelle Anastasio 6 hours	\$25.00	\$150.00	
Mindi Burkman 6 hours	\$25.00	\$150.00	
Stephanie Frill 6 hours	\$25.00	\$150.00	
Wendy Moll 6 hours	\$25.00	\$150.00	
Kim Reber 6 hours	\$25.00	\$150.00	
Angie Smith 6 hours	\$25.00	\$150.00	
Darlene Baloga 6 hours	\$25.00	\$150.00	
Andrea White 6 hours	\$25.00	\$150.00	
JoAnn Scherer 6 hours	\$25.00	\$150.00	
Laura Stauffer 6 hours	\$25.00	\$150.00	
13th & Green (Funding Sour	ce- EAP)		
Activity / Summer Tutoring			
Christein Houch 56 hours	\$25.00	\$1,400.00	
Gladys Mendez 48 hours	\$15.00	\$720.00	
Matthew Sola 52 hours	\$25.00	\$1,300.00	
Andrew Haas 52 hours	\$25.00	\$1,300.00	
Maryellen Killian 52 hours	\$25.00	\$1,300.00	
Alisa Hiegler 52 hours	\$21.00	\$1,092.00	
Michelle Semian 52 hours	\$25.00	\$1,300.00	
Kyle Wenrich 52 hours	\$25.00	\$1,300.00	
Deborah Waples 52 hours	\$21.00	\$1,092.00	
Courtney Hinkle 52 hours	\$25.00	\$1,300.00	
Lynn Bucher 52 hours	\$25.00	\$1,300.00	
Kristy Kuhns 52 hours	\$25.00	\$1,300.00	
Charlene Lozado 52 hours	\$25.00	\$1,300.00	
Michael Dietrich 52 hours	\$25.00	\$1,300.00	
Sherry Katrinak 52 hours	\$25.00	\$1,300.00	
Potteiger, Joe and Lori Moye	r 52 hours	\$25.00	\$1,300.00
Xavier Martinez (SUB)	\$25.00		
Cleotilde Hernandez-Corder	(SUB)	\$25.00	
Aimee Kapaona (SUB)	,	\$25.00	
13th & Green (Funding Sour	ce- Title I Supp	lemental)	
Activity / Principal's Academ	ny		
Felicia Owens 6 hours	\$25.00	\$150.00	
Christine Houck 6 hours	\$25.00	\$150.00	
Gladys Mendez 6 hours	\$25.00	\$150.00	
Christine Reichardt 6 hours	\$25.00	\$150.00	
Lori Ferrari 6 hours	\$25.00	\$150.00	
Kristy Hamel 6 hours	\$25.00	\$150.00	
Kristina McAllister 6 hours	\$25.00	\$150.00	
M: 1 1D: (1 (1	ΦΩΓ ΩΩ	¢1 F0 00	

\$25.00

\$25.00

\$25.00

\$25.00

Michael Dietrich 6 hours

Joe Potteiger 6 hours Kimberly Kelley 6 hours Barbara Rozetar 6 hours

\$150.00

\$150.00

\$150.00

\$150.00

Pamela Yoe	6 hours	\$25.00	\$150.00	
Kyle Wenrich		\$25.00	\$150.00 \$150.00	
Andrew Haas		\$25.00	\$150.00	
Theresa Melv		\$25.00	\$150.00	
Kelly Gehmar		\$25.00	\$150.00	
Allison Garne		\$25.00	\$150.00	
Wendy Fasig		\$25.00	\$150.00	
Mary Ellen Ki		\$25.00	\$150.00	
Michelle Semi		\$25.00	\$150.00	
Angela Dund		\$25.00	\$150.00 \$150.00	
Xavier Martin		\$25.00	\$150.00 \$150.00	
Aimee Kapao		\$25.00	\$150.00 \$150.00	
Elaine Kissing		\$25.00 \$25.00	\$150.00 \$150.00	
_	nandez-Corder			\$150.00
			\$25.00	\$150.00
Alyssa Chand		\$25.00	\$150.00	
	mirow 6 hours	\$25.00	\$150.00	
Lynn Bucher		\$25.00	\$150.00	
Kristy Kuhns		\$25.00	\$150.00	
Ann Keller	6 hours	\$25.00	\$150.00	
Ann Anderso		\$25.00	\$150.00	
Sherry Katrin		\$25.00	\$150.00	
Matthew Kofl		\$25.00	\$150.00	
Erik Baumene		\$25.00	\$150.00	
Anne Mumm		\$25.00	\$150.00	
Courtney Hin	kle 6 hours	\$25.00	\$150.00	
Lori Moyer	6 hours	\$25.00	\$150.00	
Megan Hanna		\$25.00	\$150.00	
Jennifer Padro	on 6 hours	\$25.00	\$150.00	
Kimberly Kra	mer 6 hours	\$25.00	\$150.00	
TBA	6 hours	\$25.00	\$150.00	
TBA	6 hours	\$25.00	\$150.00	
Gerald Smith	6 hours	\$25.00	\$150.00	
Mary Jo Aum	an 6 hours	\$25.00	\$150.00	
Melinda Bend	ler 6 hours	\$25.00	\$150.00	
Brian Kepner	6 hours	\$25.00	\$150.00	
Valerie Garvii	n 6 hours	\$25.00	\$150.00	
Laura Francal	oandera 6 hour	s \$25.00	\$150.00	
13th & Green	(Funding Sour	ce- Title I)		
	ate Lessons for		ct	
Susan Moll	24 hours	\$25.00	\$600.00	
	mirow 24 hours		\$600.00	
Lynn Bucher		\$25.00	\$600.00	
•	tonni 24 hours		\$600.00	

13th & Green (Funding Source- Title I Supplemental) Activity / School Improvement Plan

Felicia Owens 24 hours	\$25.00	\$600.00
Christine Houck 24 hours	\$25.00	\$600.00
Gladys Mendez 24 hours	\$25.00	\$600.00
Christine Reichardt 24 hours	\$25.00	\$600.00
Lori Ferrari 24 hours	\$25.00	\$600.00
Kristy Hamel 24 hours	\$25.00	\$600.00
Krisitna McAllister 24 hours	\$25.00	\$600.00
Michael Dietrich 24 hours	\$25.00	\$600.00
Joe Potteiger 24 hours	\$25.00	\$600.00
Kimberly Kelley 24 hours	\$25.00	\$600.00
Barbara Rozetar 24 hours	\$25.00	\$600.00
Pamela Yoe 24 hours	\$25.00	\$600.00
Kyle Wenrich 24 hours	\$25.00	\$600.00
Andrew Haas 24 hours	\$25.00	\$600.00
13th & Green (Funding Source Activity / Book Room and T.		re Center

Activity / Book Room and Teacher Resource Center			
Joe Potteiger 12 hours	\$25.00	\$300.00	
Christine Houck 12 hours	\$25.00	\$300.00	
Gladys Mendez 6 hours	\$15.00	\$90.00	

13th & Green (Funding Source- Title I) **Activity / Promethean Board-Flip Charts**

Michael Dietrich 24 hours	\$25.00	\$600.00
Joe Potteiger 24 hours	\$25.00	\$600.00
Andrew Haas 24 hours	\$25.00	\$600.00

Thomas Ford (Funding Source- EAP)

Activity / Summer Tutoring

Activity / Summer Tutori	11 5	
John Schroeder 56 hours	\$25.00	\$1,400.00
Louise Focht 52 hours	\$25.00	\$1,300.00
Valerie Hower 52 hours	\$25.00	\$1,300.00
Nicole DeFazio 52 hours	\$25.00	\$1,300.00
June Rudy 52 hours	\$25.00	\$1,300.00
Meghan King 52 hours	\$25.00	\$1,300.00
Jessica Franken 52 hours	\$25.00	\$1,300.00
Kathy Focht 52 hours	\$21.00	\$1,092.00
Glenda Castro 48 hours	\$15.00	\$720.00
Rebecca Guthier (SUB)	\$25.00	
Lori Snyder (SUB)	\$25.00	
Holly Lamont (SUB)	\$25.00	
Linda Woleslagle (SUB)	\$25.00	
Susan Gallen (SUB)	\$25.00	
Louise Warren (SUB)	\$25.00	

Thomas Ford (Funding Source- Title I Supplemental) Activity / School Improvement Plan

Sarah Stutzmar	n 24 hours	\$25.00	\$600.00
Susan Kappens	tein 24 hours	\$25.00	\$600.00
Rosalie Coble 2	24 hours	\$25.00	\$600.00
Kathryn Hendr	ricks 24 hours	\$25.00	\$600.00
Valerie Hower	24 hours	\$25.00	\$600.00
Jane Sprecher 2	24 hours	\$25.00	\$600.00
Denise Lessig 2	24 hours	\$25.00	\$600.00
Joanne Miller 2	24 hours	\$25.00	\$600.00
Jennifer Gring 2	24 hours	\$25.00	\$600.00
John Schroeder	24 hours	\$25.00	\$600.00
June Rudy 2	24 hours	\$25.00	\$600.00
Donnalee Cole	24 hours	\$25.00	\$600.00
Louise Warren?	24 hours	\$25.00	\$600.00
Jan Buskirk 2	24 hours	\$25.00	\$600.00
Eva Toledo 2	24 hours	\$25.00	\$600.00

Thomas Ford (Funding Source- Title I Supplemental) Activity / Principal's Academy Laura Fredericks 6 hours \$25.00 \$150.00

Laura Frederic	cks 6 hours	\$25.00	\$150.00
Claudia Spara	gana 6 hours	\$25.00	\$150.00
Donnalee Cole	e 6 hours	\$25.00	\$150.00
Tara Hart	6 hours	\$25.00	\$150.00
Rebecca Guthi	er 6 hours	\$25.00	\$150.00
Denise Lessig	6 hours	\$25.00	\$150.00
Susan Gallen	6 hours	\$25.00	\$150.00
Connie Heintz	zelman 6 hours	\$25.00	\$150.00
Holly Lamont	6 hours	\$25.00	\$150.00
Betsy Dries	6 hours	\$25.00	\$150.00
Amy Petersen	6 hours	\$25.00	\$150.00
Joanne Miller	6 hours	\$25.00	\$150.00
Lori Snyder	6 hours	\$25.00	\$150.00
Jennifer Gring	6 hours	\$25.00	\$150.00
Jessica Franke	n6 hours	\$25.00	\$150.00
Meghan King	6 hours	\$25.00	\$150.00
Janice Anthon	y 6 hours	\$25.00	\$150.00
John Schroede	r 6 hours	\$25.00	\$150.00
Nicole DeFazi	o 6 hours	\$25.00	\$150.00
Gary Smith	6 hours	\$25.00	\$150.00
June Rudy	6 hours	\$25.00	\$150.00
Sue Bachart	6 hours	\$25.00	\$150.00
Krista Cyran	6 hours	\$25.00	\$150.00
Sarah Stutzma	ın 6 hours	\$25.00	\$150.00
Sue Kappenste	ein 6 hours	\$25.00	\$150.00
Rosalie Coble	6 hours	\$25.00	\$150.00
Janet Buskirk	6 hours	\$25.00	\$150.00
Louise Warrer	n 6 hours	\$25.00	\$150.00
Jane Sprecher	6 hours	\$25.00	\$150.00

Kathryn Hendricks 6 hours	\$25.00	\$150.00
Kelly Wood 6 hours	\$25.00	\$150.00
Danielle Stiffler 6 hours	\$25.00	\$150.00
LeeAnn Golden 6 hours	\$25.00	\$150.00
Janice Beil 6 hours	\$25.00	\$150.00
Marlene Rathman 6 hours	\$25.00	\$150.00
Louis Lepore 6 hours	\$25.00	\$150.00
David T. Hinkel 6 hours	\$25.00	\$150.00
Louise Focht 6 hours	\$25.00	\$150.00
Carol Mc Gowan 6 hours	\$25.00	\$150.00
Linda Woleslagle 6 hours	\$25.00	\$150.00
Lisa Ciocca 6 hours	\$25.00	\$150.00

Thomas Ford (Funding Source- District Funds)

Activity / Books for Classroom Libraries and School Book Room

Jan Buskirk 6 hours	\$25.00	\$150.00
Louise Warren 6 hours	\$25.00	\$150.00
Denise Lessig 6 hours	\$25.00	\$150.00
Connie Heintzelman 6 hours	\$25.00	\$150.00
Holly Lamont 6 hours	\$25.00	\$150.00
Susan Gallen 6 hours	\$25.00	\$150.00

Thomas Ford (Funding Source- District Funds)

Activity / School-Wide Behavior Plan

Linda Woleslagle 15 hours	\$25.00	\$375.00
Joanne Miller 15 hours	\$25.00	\$375.00
June Rudy 15 hours	\$25.00	\$375.00
John Schroeder 15 hours	\$25.00	\$375.00
Sarah Stutzman 15 hours	\$25.00	\$375.00
Denise Lessig 15 hours	\$25.00	\$375.00
Jane Sprecher 15 hours	\$25.00	\$375.00
Sue Kappenstein 15 hours	\$25.00	\$375.00
Valerie Hower 15 hours	\$25.00	\$375.00

Tyson Schoener (Funding Source- EAP) Activity / Summer Tutoring

Matthew Martin 3	36 hours	\$25.00	\$900.00
Stacy Shirey 51	hours	\$25.00	\$1,275.00
Amanda Wiland	51 hours	\$25.00	\$1,275.00
Sarah Rothermel	51 hours	\$25.00	\$1,275.00
Kathleen Evans 5	1 hours	\$25.00	\$1,275.00
David VanFossen	51 hours	\$25.00	\$1,275.00
Laurea Preston 51	hours	\$25.00	\$1,275.00
Nelida Rivera 51	hours	\$21.00	\$1,071.00
Stephanie Firing 5	51 hours	\$25.00	\$1,275.00
Susan Olsen 51	hours	\$25.00	\$1,275.00
Susan Olsen 18	hours	\$25.00	\$450.00

Janet Cooper 51 hours	\$21.00	\$1,071.00
Nancy Jackson 51 hours	\$21.00	\$1,071.00
Michelle Petrizzo (SUB)	\$25.00	
Suleill Ramirez 51 hours	\$15.00	\$720.00

Tyson Schoener (Funding Source- Title I Supplemental)

Activity / School Improvement Plan			
Christine Yoff	ee 24 hours	\$25.00	\$600.00
TBA	24 hours	\$25.00	\$600.00
TBA	24 hours	\$25.00	\$600.00
Robin Scarpac	i 24 hours	\$25.00	\$600.00
JoAnn Lightm	an 24 hours	\$25.00	\$600.00
Grace Weber	24 hours	\$25.00	\$600.00
Steven Seiller	24 hours	\$25.00	\$600.00
Hannah Ledfo	ord 24 hours	\$25.00	\$600.00

Christine Stauffer 24 hours \$25.00 \$600.00 Lesly Fisher 24 hours \$25.00 \$600.00 Jessica Schrufer 24 hours \$25.00 \$600.00 Amanda Natale 24 hours \$25.00 \$600.00 April Groft 24 hours \$25.00 \$600.00 Lauren Salvatore 24 hours \$25.00 \$600.00

Stephanie Firing 24 hours

Bonnie Shamonsky 24 hours \$25.00

\$25.00

\$600.00

\$600.00

Tyson Schoener (Funding Source- Title I Supplemental) Activity / Principal's Academy

Christine Yoff	fee 6 hours	\$25.00	\$150.00
TBA	6 hours	\$25.00	\$150.00
TBA	6 hours	\$25.00	\$150.00
Robin Scarpa	ci 6 hours	\$25.00	\$150.00
JoAnn Lightm	nan 6 hours	\$25.00	\$150.00
Grace Weber	6 hours	\$25.00	\$150.00
Steven Sieller	6 hours	\$25.00	\$150.00
Hannah Ledfo	ord 6 hours	\$25.00	\$150.00
Stephanie Firi	ing 6 hours	\$25.00	\$150.00
Bonnie Shamonsky 6 hours		\$25.00	\$150.00
Beth Gerlins	6 hours	\$25.00	\$150.00
Lesly Fisher	6 hours	\$25.00	\$150.00
Jessica Schruf	er 6 hours	\$25.00	\$150.00
Amanda Nata	ale 6 hours	\$25.00	\$150.00
Lori Flamm	6 hours	\$25.00	\$150.00
David VanFos	ssen 6 hours	\$25.00	\$150.00
Jolene Degler	6 hours	\$25.00	\$150.00
Lori Rompella	a 6 hours	\$25.00	\$150.00
Lauren Salvat	ore 6 hours	\$25.00	\$150.00
Amanda Uml	erger 6 hours	\$25.00	\$150.00
Kimberly Due	elley 6 hours	\$25.00	\$150.00

Kathleen Evans 6 hours	\$25.00	\$150.00
Jeremy Lutz 6 hours	\$25.00	\$150.00
Nicholas Talarico 6 hours	\$25.00	\$150.00
Amanda Wiland 6 hours	\$25.00	\$150.00
Susan Olsen 6 hours	\$25.00	\$150.00
Lisa Stoddard 6 hours	\$25.00	\$150.00
Stacy Shriey 6 hours	\$25.00	\$150.00
Victoria Achenbach 6 hours	\$25.00	\$150.00
Christine Halliday 6 hours	\$25.00	\$150.00
Matthew Martin 6 hours	\$25.00	\$150.00
Sarah Rothermel 6 hours	\$25.00	\$150.00
Victoria Hartranft 6 hours	\$25.00	\$150.00
Rebecca Stoner 6 hours	\$25.00	\$150.00
Shanalyn Sweigert 6 hours	\$25.00	\$150.00
Corey Steele 6 hours	\$25.00	\$150.00
Carol Good 6 hours	\$25.00	\$150.00
Christine Sauffer 6 hours	\$25.00	\$150.00
Michelle Petrizzo 6 hours	\$25.00	\$150.00
April Groft 6 hours	\$25.00	\$150.00
Duane Conrad 6 hours	\$25.00	\$150.00
Deborah Lockwood 6 hours	\$25.00	\$150.00
Mary Fox 6 hours	\$25.00	\$150.00
Eileen Reardon 6 hours	\$25.00	\$150.00
Laura Preston 6 hours	\$25.00	\$150.00
Jeanne Casella 6 hours	\$25.00	\$150.00
Rebecca Snook 6 hours	\$25.00	\$150.00
Tracey Therrien 6 hours	\$25.00	\$150.00
Melanie Hansley 6 hours	\$25.00	\$150.00
Meghan Smith 6 hours	\$25.00	\$150.00
Linda Jones 6 hours	\$25.00	\$150.00
Jennifer Yeager 6 hours	\$25.00	\$150.00
Melissa Barr 6 hours	\$25.00	\$150.00

Tyson Schoener (Funding Source- District Funds) Activity / Leadership Team Evaluate Faculty Handbook

Christine Yoffee 4 hours \$25.00 \$100.00

TBA 4 hours \$25.00 \$100.00

TBA 4 hours \$25.00 \$100.00

Robin Scarpaci 4 hours \$25.00 \$100.00

JoAnn Lightman 4 hours \$25.00 \$100.00

Grace Weber 4 hours \$25.00 \$100.00

Steven Sieller 4 hours \$25.00 \$100.00

Hannah Ledford 4 hours \$25.00 \$100.00 Stephanie Firing 4 hours \$25.00 \$100.00

April Groft 4 hours \$25.00 \$100.00

Tyson Schoener (Funding Source- District Funds)

Activity / Olweus Bullying Prevention

Christine Yoffee 4 hours	\$25.00	\$100.00
JoAnn Lightman 4 hours	\$25.00	\$100.00
Hannah Ledford 4 hours	\$25.00	\$100.00
April Groft 4 hours	\$25.00	\$100.00
Janet Cooper 4 hours	\$25.00	\$100.00
Lauren Salvatore 4 hours	\$25.00	\$100.00

Tyson Schoener (Funding Source- District Funds)

Activity / Leadership Team Meeting Positive Discipline Program

Christine Yoffee 6 hours	\$25.00	\$150.00
TBA 6 hours	\$25.00	\$150.00
TBA 6 hours	\$25.00	\$150.00
Robin Scarfaci 6 hours	\$25.00	\$150.00
JoAnn Lightman 6 hours	\$25.00	\$150.00
Grace Weber 6 hours	\$25.00	\$150.00
Steven Sieller 6 hours	\$25.00	\$150.00
Hannah Ledford 6 hours	\$25.00	\$150.00
Stephanie Firing 6 hours	\$25.00	\$150.00
April Groft 6 hours	\$25.00	\$150.00

Glenside (Funding Source- EAP)

Activity / Summer Tutoring

Mariela Ventura 48 hours \$15.00 \$720.00 Rachel Hoffman 56 hours \$25.00 \$1,400.00 Noelle Cataldi-Fick 52 hours \$25.00 \$1,300.00 Jeffrey Kochubka 52 hours \$25.00 \$1,300.00

 Jeffrey Kochubka
 52 hours
 \$25.00 \$1,300.00

 Alfred Haupty
 52 hours
 \$25.00 \$1,300.00

Pat McCall 52 hours \$25.00 \$1,300.00

Deanna Hummel 52 hours \$25.00 \$1,300.00

Eric Garcia 52 hours \$25.00 \$1,300.00 Lora Gass 52 hours \$25.00 \$1,300.00

Travis Achenbach 52 hours \$25.00 \$1,300.00

Constance Madden (SUB) \$25.00 Stacey Hoffman (SUB) \$25.00

Glenside (Funding Source-Title I Supplemental)

Activity / School Improvement Plan

Stacey Hoffman 24 hours \$25.00 \$600.00

 Jessica Lucas
 24 hours
 \$25.00 \$600.00

 Pat McCall
 24 hours
 \$25.00 \$600.00

Andrea Salsano 24 hours \$25.00 \$600.00

 Becky Lutz
 24 hours
 \$25.00
 \$600.00

 Kelly Bucca
 24 hours
 \$25.00
 \$600.00

 Leslie Phillips
 24 hours
 \$25.00
 \$600.00

Pamela Roberts 24 hours \$25.00 \$600.00 Constance Madden 24 hours \$25.00 \$600.00

Elba Torres 24 hours \$25.00 \$600.00 Debra Redcay 24 hours \$25.00 \$600.00 Noelle Cataldi-Fick 24 hours \$25.00 \$

 Noelle Cataldi-Fick
 24 hours
 \$25.00
 \$600.00

 Danielle Carman
 24 hours
 \$25.00
 \$600.00

Tonya Baker 24 hours \$25.00 \$600.00

Rachel Hoffman 24 hours \$25.00 \$600.00

AJ Hoaupthy 24 hours \$25.00 \$600.00

Glenside (Funding Source- Title I Supplemental) Activity / Principal's Academy

Stacey Hoffman 6 hours \$25.00 \$150.00 Iessica Lucas 6 hours \$25.00 \$150.00 Pat McCall 6 hours \$25.00 \$150.00 Andrea Salsano 6 hours \$25.00 \$150.00 \$25.00 \$150.00 Elba Torres 6 hours Becky Lutz \$25.00 \$150.00 6 hours Kelly Bucca 6 hours \$25.00 \$150.00 Leslie Phillips 6 hours \$25.00 \$150.00 Pamela Roberts 6 hours \$25.00 \$150.00 Constance Madden \$25.00 \$150.00 6 hours Jessica Ortiz 6 hours \$25.00 \$150.00 Jeffrey Kochubka \$25.00 \$150.00 6 hours Debra Redcay 6 hours \$25.00 \$150.00 Noelle Cataldi-Fick \$25.00 \$150.00 6 hours Kelly Billinger 6 hours \$25.00 \$150.00 Andrea Eriksen 6 hours \$25.00 \$150.00 \$25.00 \$150.00 Melanie Fretz 6 hours Alfred Hauptly 6 hours \$25.00 \$150.00 6 hours Stacy Fritz \$25.00 \$150.00 Deanna Hummel \$25.00 \$150.00 6 hours Danielle Carman 6 hours \$25.00 \$150.00 Caitlin Gneiding 6 hours \$25.00 \$150.00 Tonya Baker 6 hours \$25.00 \$150.00 Eric Garcia 6 hours \$25.00 \$150.00 Travis Achenbach 6 hours \$25.00 \$150.00 Rachel Hoffman 6 hours \$25.00 \$150.00 Lora Gass \$25.00 \$150.00 6 hours Darlene Baloga 6 hours \$25.00 \$150.00

Glenside (Funding Source- Title I)

6 hours

6 hours

Art TBA

Phys. Ed. TBA

Music TBA

Library TBA 6 hours

Activity / Kindergarten & 1st Grade Differentiated Centers

\$25.00 \$150.00

\$25.00 \$150.00

\$25.00 \$150.00

\$25.00 \$150.00

Debra Redcay 5 hours \$25.00 \$125.00

Jeffrey Kochubka 5 hours \$25.00 \$125.00

6 hours

Jessica Ortiz 5 hours \$25.00 \$125.00

Noelle Cataldi-Fick 5 hours \$25.00 \$125.00

Glenside (Funding Source- Title I)

Activity / 2nd Grade Writing Program

Melanie Fretz 8 hours \$25.00 \$200.00

Alfred Hauptly 8 hours \$25.00 \$200.00

Stacy Fritz 8 hours \$25.00 \$200.00

Glenside (Funding Source- Title I)

Activity / 3rd Grade Writing Program

 Caitlin Gneiding
 9 hours
 \$25.00
 \$225.00

 Deanna Hummel
 9 hours
 \$25.00
 \$225.00

 Danielle Carman
 9 hours
 \$25.00
 \$225.00

Glenside (Funding Source- Title I)

Activity / 4th Grade Writing Program

Eric Garcia 5 hours \$25.00 \$125.00 Tonya Baker 5 hours \$25.00 \$125.00

Travis Achenbach 5 hours \$25.00 \$125.00

Glenside (Funding Source- Title I)

Activity / 5th Grade Writing Program

Kelly Bucca 8 hours \$25.00 \$200.00

Rachel Hoffman 8 hours \$25.00 \$200.00

Lora Gass 8 hours \$25.00 \$200.00 Leslie Phillips 8 hours \$25.00 \$200.00

Glenside (Funding Source- Title I)

Activity / Parent Involvement

Elba Torres 5 hours \$25.00 \$125.00 Pat McCall 5 hours \$25.00 \$125.00

Andrea Salsano 5 hours \$25.00 \$125.00

Kelly Bucca 5 hours \$25.00 \$125.00

 Noelle Cataldi-Fick
 5 hours
 \$25.00 \$125.00

 Alfred Hauptly
 5 hours
 \$25.00 \$125.00

 Deanna Hummel
 5 hours
 \$25.00 \$125.00

 \$25.00 \$125.00
 \$25.00 \$125.00

Glenside (Funding Source- District Funds)

Activity / School-Wide Effective Behavioral System Program

Melanie Fretz 5 hours \$25.00 \$125.00 Pat McCall 5 hours \$25.00 \$125.00

Andrea Salsano 5 hours \$25.00 \$125.00

Kelly Bucca 5 hours \$25.00 \$125.00

Noelle Cataldi-Fick 5 hours \$25.00 \$125.00 Alfred Hauptly 5 hours \$25.00 \$125.00

Elba Torres 5 hours \$25.00 \$125.00

Glenside (Funding Source- District Funds)

Activity / Student Achievement Recognition Program

Elba Torres 5 hours \$25.00 \$125.00

Millie McFarland 5 hours \$25.00 \$125.00

 Jill Epler
 5 hours
 \$25.00 \$125.00

 Tonya Baker
 5 hours
 \$25.00 \$125.00

Travis Achenbach 5 hours \$25.00 \$125.00

Pat McCall 5 hours \$25.00 \$125.00

Andrea Salsano 5 hours \$25.00 \$125.00

Kelly Bucca 5 hours \$25.00 \$125.00

Noelle Cataldi-Fick 5 hours \$25.00 \$125.00 Alfred Hauptly 5 hours \$25.00 \$125.00

Northwest Area Elementary (Funding Source- EAP)

Activity / Summer Tutoring

\$25.00 \$1,400.00 Abby Steinmeyer 56 hours Martiza Vargas 42 hours \$15.00 \$630.00 Lisa Herbinko 52 ½ hrs \$25.00 \$1,312.50 Jason Henley 52 ½ hrs \$25.00 \$1,312.50 Christina Davis 52 ½ hrs \$25.00 \$1,312.50 Amber Boaman 52 ½ hrs \$25.00 \$1,312.50 \$25.00 \$1,312.50 Barb Nye 52 ½ hrs Alicia Divitantonio 52 ½ hrs \$25.00 \$1,312.50 52 ½ hrs Kimberly Estock \$25.00 \$1,312.50 52 ½ hrs Barbara Peronteau \$25.00 \$1,312.50 Thomas Morgan 52 ½ hrs \$21.00 \$1,102.50

Sarah Gallen 52 ½ hrs \$21.00 \$1,102.50 Carley Rothenberger (SUB) \$25.00

Northwest Area Elementary (Funding Source- $Title\ I$)

Activity / Summer Tutoring

 Abby Steinmeyer
 5 hours
 \$25.00 \$125.00

 Martiza Vargas
 4.75 hrs
 \$15.00 \$74.25

 Lisa Herbinko
 4.75 hrs
 \$25.00 \$118.00

Jason Henley 4.75 hrs \$25.00 \$118.00

Christina Davis 4.75 hrs \$25.00 \$118.00 Amber Boaman 4.75 hrs \$25.00 \$118.00

Barb Nye 4.75 hrs \$25.00 \$118.00

 Alicia Divitantonio
 4.75 hrs
 \$25.00 \$118.00

 Kimberly Estock
 4.75 hrs
 \$25.00 \$118.00

 Barbara Peronteau
 4.75 hrs
 \$25.00 \$118.00

 Thomas Morgan
 4.75 hrs
 \$21.00 \$99.75

Sarah Gallen 4.75 hrs \$21.00 \$99.75

Carley Rothenberger (SUB) \$25.00

Northwest Area Elementary (Funding Source- Title I Supplemental)

Activity / School Improvement Plan Christina Davis 7 hours

rictivity / ochoor improveme	ciit i iaii	
Christina Davis	7 hours	\$25.00 \$175.00
Lisa Herbinko	7 hours	\$25.00 \$175.00
Cathy Noone	7 hours	\$25.00 \$175.00
Abby Steinmeyer	7 hours	\$25.00 \$175.00
Melissa Jaworski	7 hours	\$25.00 \$175.00
Debra Ammarell	7 hours	\$25.00 \$175.00
Kristin Becker	7 hours	\$25.00 \$175.00
Barbara Barno	7 hours	\$25.00 \$175.00
Terry Cooper	24 hours	\$25.00 \$600.00
Holly Conrad	24 hours	\$25.00 \$600.00
Judy Rhine	24 hours	\$25.00 \$600.00
Enes Zimmerman	24 hours	\$25.00 \$600.00
Marie Schmehl	24 hours	\$25.00 \$600.00
Marion Martin	24 hours	\$25.00 \$600.00
Janet Psota	24 hours	\$25.00 \$600.00

Northwest Area Elementary (Funding Source- Title I Supplemental) Activity / Principal's Academy Andrea Platts 6 hours \$25.00 \$150.00

Activity / Finicipal's Acadel	шу	
Andrea Platts	6 hours	\$25.00 \$150.00
Christina Davis	6 hours	\$25.00 \$150.00
Merryl Eisenberg	6 hours	\$25.00 \$150.00
Shelia Nolt	6 hours	\$25.00 \$150.00
Coryn Swartz	6 hours	\$25.00 \$150.00
Anastasia Noll	6 hours	\$25.00 \$150.00
Lisa Herbinko	6 hours	\$25.00 \$150.00
Amanda Hartman	6 hours	\$25.00 \$150.00
Megan Staudenmayer	6 hours	\$25.00 \$150.00
Mike Reber	6 hours	\$25.00 \$150.00
Sherry Mowery	6 hours	\$25.00 \$150.00
Gina Bowers	6 hours	\$25.00 \$150.00
Barbara Nye	6 hours	\$25.00 \$150.00
Amanda Angstadt	6 hours	\$25.00 \$150.00
Cathy Noone	6 hours	\$25.00 \$150.00
Amanda Recchiuti	6 hours	\$25.00 \$150.00
Denise Heffner	6 hours	\$25.00 \$150.00
Carly Rothenberger	6 hours	\$25.00 \$150.00
Jason Henley	6 hours	\$25.00 \$150.00
Heather Huber	6 hours	\$25.00 \$150.00
Theresa Heckman	6 hours	\$25.00 \$150.00
Karen Moore	6 hours	\$25.00 \$150.00
Abby Steinmeyer	6 hours	\$25.00 \$150.00
Kathryn Demchyk	6 hours	\$25.00 \$150.00
Kimberly Estock	6 hours	\$25.00 \$150.00
Myranda Marquez	6 hours	\$25.00 \$150.00
Evan Engle	6 hours	\$25.00 \$150.00
Naaman Schlegel	6 hours	\$25.00 \$150.00

Alicia Divitantonio	6 hours	\$25.00	\$150.00
Melissa Jaworski	6 hours	\$25.00	\$150.00
Pam Sonon	6 hours	\$25.00	\$150.00
Diane Grab	6 hours	\$25.00	\$150.00
Dave Schultz	6 hours	\$25.00	\$150.00
Jenna Psota	6 hours	\$25.00	\$150.00
Beth Kring	6 hours	\$25.00	\$150.00
Debra Ammarell	6 hours	\$25.00	\$150.00
Teresa Cooper	6 hours	\$25.00	\$150.00
Marion Martin	6 hours	\$25.00	\$150.00
Janet Psota	6 hours	\$25.00	\$150.00
Judy Rhine	6 hours	\$25.00	\$150.00
Holly Conrad	6 hours	\$25.00	\$150.00
Marie Schmehl	6 hours	\$25.00	\$150.00
Enes Zimmerman	6 hours	\$25.00	\$150.00
Sandra Sharadin	6 hours	\$25.00	\$150.00
Kristen Becker	6 hours	\$25.00	\$150.00
Amber Boaman	6 hours	\$25.00	\$150.00
Barbara Bamo	6 hours	\$25.00	\$150.00
Nathan Henschel	6 hours	\$25.00	\$150.00
Matthew Carly	6 hours	\$25.00	\$150.00
Rebecca Peronteau	6 hours	\$25.00	\$150.00

Northwest Area Elementary (Funding Source- Title I) Activity / Addressing Writing Needs

Andrea Platts	12 hours	\$25.00 \$300.00
Barbara Nye	12 hours	\$25.00 \$300.00
Amanda Hartman	12 hours	\$25.00 \$300.00
Carley Rothenberger	12 hours	\$25.00 \$300.00
Kate Demchyk	12 hours	\$25.00 \$300.00
Alicia Divitantonio	12 hours	\$25.00 \$300.00
Melissa Jaworski	12 hours	\$25.00 \$300.00
Beth Nagle	12 hours	\$25.00 \$300.00
Dianne Grab	12 hours	\$25.00 \$300.00
Sandy Sharadin	12 hours	\$25.00 \$300.00
Barbara Barno	12 hours	\$25.00 \$300.00
Marion Martin	24 hours	\$25.00 \$600.00
Marie Schmehl	24 hours	\$25.00 \$600.00
Terry Cooper	24 hours	\$25.00 \$600.00

Northwest Area Elementary (Funding Source- Title I) Activity / Differentiated Homework

<i>y</i> ,		
Christina Davis	12 hours	\$25.00 \$300.00
Gina Bowers	12 hours	\$25.00 \$300.00
Amanda Recchiuti	12 hours	\$25.00 \$300.00
Amanda Angstadt	12 hours	\$25.00 \$300.00

Theresa Heckman	12 hours	\$25.00	\$300.00
Alicia Divitantonio	12 hours	\$25.00	\$300.00
Myranda Marquez	12 hours	\$25.00	\$300.00
Beth Kring	12 hours	\$25.00	\$300.00
Sandra Sharadin	12 hours	\$25.00	\$300.00
Enes Zimmerman	24 hours	\$25.00	\$600.00
Holly Conrad	24 hours	\$25.00	\$600.00

Northwest Area Elementary (Funding Source- $Title\ I$)

Activity / Parent School Compact

Christina Davis	6 hours	\$25.00 \$150.00
Barabara Nye	6 hours	\$25.00 \$150.00
Denise Heffner	6 hours	\$25.00 \$150.00
Karen Moore	6 hours	\$25.00 \$150.00
Myranda Marquez	6 hours	\$25.00 \$150.00
Debra Ammarell	6 hours	\$25.00 \$150.00
Amber Boaman	6 hours	\$25.00 \$150.00
Mrs. Zimmerman	6 hours	\$25.00 \$150.00
Mrs. Psota	6 hours	\$25.00 \$150.00
Mrs. Harris	6 hours	\$25.00 \$150.00

Lauer's Park (Funding Source- EAP) Activity / Summer Tutoring

	0	
Jaime Williams	52 hours	\$25.00 \$1,300.00
Stacey Hensley	52 hours	\$25.00 \$1,300.00
Jennifer Haupty	52 hours	\$25.00 \$1,300.00
Cindy Roberts	52 hours	\$25.00 \$1,300.00
Meredith Richter	52 hours	\$25.00 \$1,300.00
Barbara Kraft	52 hours	\$25.00 \$1,300.00
Chris Paskowski	52 hours	\$25.00 \$1,300.00
Amanda Smith	52 hours	\$25.00 \$1,300.00
Maegan Palmieri	52 hours	\$25.00 \$1,300.00
Joanne Pietrowski	52 hours	\$25.00 \$1,300.00
Nitza Diaz	52 hours	\$15.00 \$720.00
Patricia Swartz	56 hours	\$25.00 \$1,400.00

Rebecca Alexander (SUB)	\$25.00
Cynthia Fanelli (SUB)	\$25.00
Racel Broad (SUB)	\$25.00
Sarah Rauenzahn (SUB)	\$25.00
Kimberly Huey (SUB)	\$25.00
Marybeth Landson (SUB)	\$25.00
Megan Marabella (SUB)	\$25.00

Lauer's Park (Funding Source- Title I Supplemental) Activity / School Improvement Plan

Sherry Gundersen	24 hours	\$25.00	\$600.00
Lyvia Petris	12 hours	\$25.00	\$300.00

Kathleen Wiest	24 hours	\$25.00	\$600.00
Heather Glendening	20 hours	\$25.00	\$500.00
Judith Gery	20 hours	\$25.00	\$500.00
Linda Bunner	20 hours	\$25.00	\$500.00
Megan Marabella	12 hours	\$25.00	\$300.00
Cindy Roberts	8 hours	\$25.00	\$200.00
Sarah Rauenzahn	12 hours	\$25.00	\$300.00
Joanne M. Pietowki	12 hours	\$25.00	\$300.00
Denise McAndrew	8 hours	\$25.00	\$200.00
Barbara Yuick	4 hours	\$25.00	\$100.00
Jennifer Good	12 hours	\$25.00	\$300.00
Rachel Broad	4 hours	\$25.00	\$100.00
Jennifer Marshall	8 hours	\$25.00	\$200.00
Tracy Gundersen	12 hours	\$25.00	\$300.00
Colleen Ulrich	4 hours	\$25.00	\$100.00
Marie Mengel	8 hours	\$25.00	\$200.00
Aaron Kopetsky	8 hours	\$25.00	\$200.00
Jennifer Hauptly	12 hours	\$25.00	\$300.00
Susan Spohn	4 hours	\$25.00	\$100.00
Jaime Williams	4 hours	\$25.00	\$100.00
Andrew Guers	12 hours	\$25.00	\$300.00
Stacey Hensley	8 hours	\$25.00	\$200.00
Patricia Swartz	12 hours	\$25.00	\$300.00
Ericka Evans-Loos	8 hours	\$25.00	\$200.00
Megan Comparato	12 hours	\$25.00	\$300.00
Rebecca Alexander	12 hours	\$25.00	\$300.00
Marybeth Langdon	8 hours	\$25.00	\$200.00
Tambra Isenberg	4 hours	\$25.00	\$100.00
Bernadette Norton	8 hours	\$25.00	\$200.00

Lauer's Park (Funding Source- Title I Supplemental) Activity / Principal's Academy

,	
6 hours	\$25.00 \$150.00
	6 hours

Amanda Smith	6 hours	\$25.00 \$150.00
Rachel Broad	6 hours	\$25.00 \$150.00
Patricia Swartz	6 hours	\$25.00 \$150.00
Meggan Shobe	6 hours	\$25.00 \$150.00
Tracy Gundersen	6 hours	\$25.00 \$150.00
Meredith Richter	6 hours	\$25.00 \$150.00
Marie Mengel	6 hours	\$25.00 \$150.00
Colleen Ulrich	6 hours	\$25.00 \$150.00
Jennifer Foo	6 hours	\$25.00 \$150.00
Jennifer Hauptly	6 hours	\$25.00 \$150.00
Aaron Kopetsky	6 hours	\$25.00 \$150.00
Susie Spohn	6 hours	\$25.00 \$150.00
Mark Steinmeyer	6 hours	\$25.00 \$150.00
Stacey Hansley	6 hours	\$25.00 \$150.00
Patricia Hartman	6 hours	\$25.00 \$150.00
Jamie Williams	6 hours	\$25.00 \$150.00
Andrew Guers	6 hours	\$25.00 \$150.00
Julie Kehr	6 hours	\$25.00 \$150.00
Tambra Isenberg	6 hours	\$25.00 \$150.00
Marybeth Langdon	6 hours	\$25.00 \$150.00
Rebecca Alexander	6 hours	\$25.00 \$150.00
Cynthia Fanelli	6 hours	\$25.00 \$150.00
Rebecca Blouch	6 hours	\$25.00 \$150.00
Leslie Esterly	6 hours	\$25.00 \$150.00
Megan Comparato	6 hours	\$25.00 \$150.00
Bernadette Norton	6 hours	\$25.00 \$150.00
Sherry Gundersen	6 hours	\$25.00 \$150.00
Lyvia Petris	6 hours	\$25.00 \$150.00
Kathy Wiest	6 hours	\$25.00 \$150.00
Eric Biassey	6 hours	\$25.00 \$150.00
Ericka Evans Loos	6 hours	\$25.00 \$150.00
Michelle Metz	6 hours	\$25.00 \$150.00
Heidi Mease	6 hours	\$25.00 \$150.00
Heather Glendening	6 hours	\$25.00 \$150.00
Judy Gery	6 hours	\$25.00 \$150.00
Linda Bunner	6 hours	\$25.00 \$150.00

Lauer's Park (Funding Source- District Funds) Activity / Team will Review and Revise Discipline

Patricia Swartz	12 hours	\$25.00	\$300.00
Bernadette Norton	4 hours	\$25.00	\$100.00
Mark Steinmeyer	4 hours	\$25.00	\$100.00
Kathy Wiest	4 hours	\$25.00	\$100.00

Lauer's Park (Funding Source- Title I) Activity Garden Club Summer School Incentive

Eric Biassey 37.5 hrs \$25.00 \$937.50

Lauer's Park (Funding Source- Title I)

Activity / Garden Club

Mark Steinmeyer 80 hours \$25.00 \$2,000.00

Lauer's Park (Funding Source-Family Center)

Activity / Art Program for Summer School

Ericka Evans-Loos 22.5 hrs \$25.00 \$1,012.50

Lauer's Park (Funding Source- Family Center)

Activity / Gymnastics Camp-Summer School Incentive

Meggan Shobe 15 hours \$25.00 \$375.00

13th & Union (Funding Source- EAP)

Activity / Summer Tutoring

Nicole Berry	52 hours	\$25.00 \$1,300.00
Susan Lesher	52 hours	\$25.00 \$1,300.00
Matthew Redcay	52 hours	\$25.00 \$1,300.00
Catherine Oravec	52 hours	\$25.00 \$1,300.00
Lauren Hoodak	52 hours	\$25.00 \$1,300.00
Lauran Weiler	52 hours	\$25.00 \$1,300.00
Emily Snyder	52 hours	\$25.00 \$1,300.00
Chris Dewar	52 hours	\$25.00 \$1,300.00
Esther Youker	52 hours	\$25.00 \$1,300.00
Kathleen Risser	52 hours	\$25.00 \$1,300.00
Brooke Dower	52 hours	\$25.00 \$1,300.00
Mack Garvin	52 hours	\$25.00 \$1,300.00
Shayna Clark	52 hours	\$25.00 \$1,300.00
Danielle Wanshop	52 hours	\$25.00 \$1,300.00
Pat Layos	28 hours	\$25.00 \$700.00
Leonia Aguila	28 hours	\$25.00 \$720.00
Rowbee'C Kasisky	28 hours	\$25.00 \$720.00
Caracara Classia or (CLID)	ተጋ Ε Ω	0

Susan Shober (SUB) \$25.00 Katherine Dianna (SUB) \$25.00 Dawn Houser (SUB) \$25.00

13th & Union (Funding Source- Title I Supplemental)

Activity / School Improvement Plan

Samantha Frees	24 hours	\$25.00 \$600.00
Debra Wierzbicki	24 hours	\$25.00 \$600.00
Joy Post	24 hours	\$25.00 \$600.00
Kelly Rivera	24 hours	\$25.00 \$600.00
Brooke Dower	24 hours	\$25.00 \$600.00
May Ann O'Neill	24 hours	\$25.00 \$600.00
Danielle D'Ercole	24 hours	\$25.00 \$600.00
Kathleen Pallette	24 hours	\$25.00 \$600.00
Emily Snyder	24 hours	\$25.00 \$600.00

Lauren Weiler	24 hours	\$25.00 \$600.00
Elizabeth Whitehouse	24 hours	\$25.00 \$600.00
Matthew Redcay	24 hours	\$25.00 \$600.00
Ted Robidas	24 hours	\$25.00 \$600.00
Margie Shearer	24 hours	\$25.00 \$600.00
Melissa Houptley	24 hours	\$25.00 \$600.00
Chris Dewar	24 hours	\$25.00 \$600.00
Maria Mogford	24 hours	\$25.00 \$600.00
Pat Runkle	24 hours	\$25.00 \$600.00

13th & Union (Funding Source- Title I Supplemental) Activity / Principal's Academy

Marvanne Kouvaros	6 hours	\$25.00	\$150.00
Cynthia Clapperton	6 hours	\$25.00	\$150.00
Susan Shober	6 hours	\$25.00	\$150.00
Emily Snyder	6 hours	\$25.00	\$150.00
Catherine Oravec	6 hours	\$25.00	\$150.00
Nicole Sherman	6 hours	\$25.00	\$150.00
Susan Bitler	6 hours	\$25.00	\$150.00
Clara Worrall	6 hours	\$25.00	\$150.00
Heather Shutter	6 hours	\$25.00	\$150.00
Danielle Wanshop	6 hours	\$25.00	\$150.00
Juliann Pondo	6 hours	\$25.00	\$150.00
Patrice Runkle	6 hours	\$25.00	\$150.00
Lyndsay Woods	6 hours	\$25.00	\$150.00
Samantha Frees	6 hours	\$25.00	\$150.00
Katherine Dianna	6 hours	\$25.00	\$150.00
Sandra Kalnoski	6 hours	\$25.00	\$150.00
Brooke Dower	6 hours	\$25.00	\$150.00
Amy Summer	6 hours	\$25.00	\$150.00
Alfreda Dierolf	6 hours	\$25.00	\$150.00
Susan Lesher	6 hours	\$25.00	\$150.00
Theodore Robidas	6 hours	\$25.00	\$150.00
Nicole Berry	6 hours	\$25.00	\$150.00
Bridget Manbeck	6 hours	\$25.00	\$150.00
Alyssa Ledbetter	6 hours	\$25.00	\$150.00
Kristin Ciemiewicz	6 hours	\$25.00	\$150.00
Danielle D'Ercole	6 hours	\$25.00	\$150.00
Joy Post	6 hours	\$25.00	\$150.00
Barbara Hall	6 hours	\$25.00	\$150.00
Michael Trymbiski	6 hours	\$25.00	\$150.00
Lauren Hoodak	6 hours	\$25.00	\$150.00
Melissa Davis	6 hours	\$25.00	\$150.00
Lauren Weiler	6 hours	\$25.00	\$150.00
Shannon Duff	6 hours	\$25.00	\$150.00
Matthew Redcay	6 hours	\$25.00	\$150.00
Jennifer Wocklish	6 hours	\$25.00	\$150.00

Kathleen Hannon	6 hours	\$25.00 \$150.00
Lori Shuart	6 hours	\$25.00 \$150.00
Joanne Flemming	6 hours	\$25.00 \$150.00
Kelly Rivera	6 hours	\$25.00 \$150.00
Jane Corroon	6 hours	\$25.00 \$150.00
Tanya Werley	6 hours	\$25.00 \$150.00
Elizabeth Whitehouse	6 hours	\$25.00 \$150.00
Linda McLean	6 hours	\$25.00 \$150.00
Mary Ann O'Neill	6 hours	\$25.00 \$150.00
Tara Van Orden	6 hours	\$25.00 \$150.00
Margie Shearer	6 hours	\$25.00 \$150.00
Melissa Houptley	6 hours	\$25.00 \$150.00
Patricia Layos	6 hours	\$25.00 \$150.00
Debra Wierzbicki	6 hours	\$25.00 \$150.00
Chris Dewar	6 hours	\$25.00 \$150.00
Desiree Colon	6 hours	\$25.00 \$150.00
Sarah Netter	6 hours	\$25.00 \$150.00
Geraldine Gammel	6 hours	\$25.00 \$150.00
Barbara Cimochowski	6 hours	\$25.00 \$150.00
Janet Pichler	6 hours	\$25.00 \$150.00
Migdalia Peterson	6 hours	\$25.00 \$150.00
Elizabeth Rimby	6 hours	\$25.00 \$150.00
Lyn Swartz	6 hours	\$25.00 \$150.00
Kathleen Pallette	6 hours	\$25.00 \$150.00
Brian Kepner	6 hours	\$25.00 \$150.00
13th & Union (Founding Sou	ırce- Title I)	
Activity/Writer's Shop		
Samantha Frees	15 hours	\$25.00 \$375.00
Debra Wierzbicki	15 hours	\$25.00 \$375.00
Desiree Colon	15 hours	\$25.00 \$375.00
13th & Union (Funding Sour		
Activity / Staff Presentation		
Nicole Berry	15 hours	\$25.00 \$375.00
Danielle D'Ercole	15 hours	\$25.00 \$375.00
Debra Wierzbicki	15 hours	\$25.00 \$375.00
Chris Dewar	15 hours	\$25.00 \$375.00
Tanya Werley	15 hours	\$25.00 \$375.00
Riverside (Funding Source-	EAP)	
Activity / Summer Tutoring		
Erin Neiswender	52 hours	\$25.00 \$1,300.00
Loryn Hoffa	52 hours	\$25.00 \$1,300.00
Carol Knapp	52 hours	\$21.00 \$1,092.00
Jennifer Bard	52 hours	\$25.00 \$1,300.00
Donna Kase		
DODDA Nase	52 hours	\$25.00 \$1,300.00

Meredith Coyle	52 hours	\$25.00	\$1,300.00
Michelle Heffner	52 hours	\$25.00	\$1,300.00
Ashley Weiss	52 hours	\$25.00	\$1,300.00
Stephanie Lord	52 hours	\$25.00	\$1,300.00
Jessica Hanley	52 hours	\$25.00	\$1,300.00
Aaron Thompson	52 hours	\$25.00	\$1,300.00
Marly Mier	52 hours	\$25.00	\$1,300.00
Tina Schoenly	52 hours	\$25.00	\$1,300.00
April Halligan	52 hours	\$25.00	\$1,300.00
Ryan Nye	52 hours	\$25.00	\$1,300.00
Holly Mount	52 hours	\$25.00	\$1,300.00
Billie Jo Chiarelli	56 hours	\$25.00	\$1,400.00
Michelle Zobel (SUB)	\$25.00		
Ian Moore (SUB)	\$25.00		
Julie Zimmerman (SUB)	\$25.00		
Ron Lattanzio	\$25.00		

Riverside (Funding Source- Title I Supplemental) Activity / School Improvement Plan

Julie Zimmerman	24 hours	\$25.00 \$600.00
Lynn Howell	24 hours	\$25.00 \$600.00
Jessica Hanley	24 hours	\$25.00 \$600.00
Kristen Moyer	24 hours	\$25.00 \$600.00
Crystal Rauhnzan	24 hours	\$25.00 \$600.00
Sharon Stump	24 hours	\$25.00 \$600.00
Melissa Eggert	24 hours	\$25.00 \$600.00
Ryan Nye	24 hours	\$25.00 \$600.00
Beth Angstadt	24 hours	\$25.00 \$600.00
Tina Schoenly	24 hours	\$25.00 \$600.00
Patti Loughery	24 hours	\$25.00 \$600.00
Lori Sherman	24 hours	\$25.00 \$600.00
Rebecca Gonzalez	24 hours	\$25.00 \$600.00
Ashley Weiss	24 hours	\$25.00 \$600.00
Ian Moore	24 hours	\$25.00 \$600.00
TBA	24 hours	\$25.00 \$600.00
Donna Kase	24 hours	\$25.00 \$600.00
Billie Jo Chiarelli	24 hours	\$25.00 \$600.00
Jessica Nye	24 hours	\$25.00 \$600.00

Riverside (Funding Source- Title I Supplemental) Activity / Principal's Academy

Jen Ulrich	6 hours	\$25.00 \$150.00
Elizabeth Buchanan	6 hours	\$25.00 \$150.00
Loryn Hoffa	6 hours	\$25.00 \$150.00
Erin Neiswender	6 hours	\$25.00 \$150.00
Lori Sherman	6 hours	\$25.00 \$150.00
Kristi Shuman	6 hours	\$25.00 \$150.00

	. 1	*** • • • • • • • • • • • • • • • • • •
Sarah Christman	6 hours	\$25.00 \$150.00
Meredith Coyle	6 hours	\$25.00 \$150.00
Kathy Fromuth	6 hours	\$25.00 \$150.00
Donna Kase	6 hours	\$25.00 \$150.00
Kristen Kaucher	6 hours	\$25.00 \$150.00
Tiffany Keller	6 hours	\$25.00 \$150.00
Rosemary Kieffer	6 hours	\$25.00 \$150.00
Jennifer Bard	6 hours	\$25.00 \$150.00
Billie Jo Charelli	6 hours	\$25.00 \$150.00
Michelle Heffner	6 hours	\$25.00 \$150.00
Anne Steuer	6 hours	\$25.00 \$150.00
Nicole Valentino	6 hours	\$25.00 \$150.00
Tracy Cobb	6 hours	\$25.00 \$150.00
Jessica Hanley	6 hours	\$25.00 \$150.00
Marly Mier	6 hours	\$25.00 \$150.00
Ian Moore	6 hours	\$25.00 \$150.00
Kelly Rieck	6 hours	\$25.00 \$150.00
Beth Angstadt	6 hours	\$25.00 \$150.00 \$25.00 \$150.00
Allison McDevitt	6 hours	
		\$25.00 \$150.00 \$25.00 \$150.00
Kristin Moyer	6 hours	
Aaron Thompson	6 hours	\$25.00 \$150.00
Ashley Weiss	6 hours	\$25.00 \$150.00
Michele Zobel	6 hours	\$25.00 \$150.00
Amanda Hall	6 hours	\$25.00 \$150.00
April Halligan	6 hours	\$25.00 \$150.00
Holly Mount	6 hours	\$25.00 \$150.00
Jessica Novak	6 hours	\$25.00 \$150.00
Jean Tolin	6 hours	\$25.00 \$150.00
Ryan Nye	6 hours	\$25.00 \$150.00
Ruth Black	6 hours	\$25.00 \$150.00
Tina Schoenly	6 hours	\$25.00 \$150.00
Kathy Brensinger	6 hours	\$25.00 \$150.00
Lori Dubel	6 hours	\$25.00 \$150.00
Jessica Nye	6 hours	\$25.00 \$150.00
Catharine Hahn	6 hours	\$25.00 \$150.00
Stephanie Lord	6 hours	\$25.00 \$150.00
Patti Loughery	6 hours	\$25.00 \$150.00
Heather Howiszak	6 hours	\$25.00 \$150.00
Rachel Linderberg	6 hours	\$25.00 \$150.00
Alia Emery	6 hours	\$25.00 \$150.00
Becky Kauffman	6 hours	\$25.00 \$150.00
Chiyo Miller	6 hours	\$25.00 \$150.00
Bonnie Fox	6 hours	\$25.00 \$150.00
Mary Jean Purdy	6 hours	\$25.00 \$150.00
Tim Raub	6 hours	\$25.00 \$150.00
Valerie Garvin	6 hours	\$25.00 \$150.00 \$25.00 \$150.00
Laura Frankabandera		\$25.00 \$150.00 \$25.00 \$150.00
Laura Frankavanuera	6 hours	ΨΔϽ.ΟΟ ΦΙΌΟ.ΟΟ

Helen Stevenson	6 hours	\$25.00 \$150.00
Crystal Rauenzahn	6 hours	\$25.00 \$150.00
Traci Tucker	6 hours	\$25.00 \$150.00
Susan Cawley	6 hours	\$25.00 \$150.00
Judy Schultz	6 hours	\$25.00 \$150.00
Paula Lovello	6 hours	\$25.00 \$150.00
Julie Zimmerman	6 hours	\$25.00 \$150.00
Lynn Howell	6 hours	\$25.00 \$150.00
Melissa Eggert	6 hours	\$25.00 \$150.00
Sharon Moyer	6 hours	\$25.00 \$150.00

Riverside (Funding Source- Title I School Improvement) Activity / RTI/Child Study/ESAP

Traci Tucker	18 hours	\$25.00	\$450.00
Kristen Moyer	18 hours	\$25.00	\$450.00
Melissa Eggert	18 hours	\$25.00	\$450.00
Ruth Black	18 hours	\$25.00	\$450.00
Patti Loughery	18 hours	\$25.00	\$450.00
Crystal Rauehnzan	18 hours	\$25.00	\$450.00
Kathy Fromuth	18 hours	\$25.00	\$450.00
Kristen Moyer	18 hours	\$25.00	\$450.00

${\bf Riverside} \ (Funding \ Source-\ Title \ I \ School \ Improvement \)$

Activity / Calendar of Events Agenda

April Halligan	20 hours	\$25.00	\$500.00
Traci Tucker	20 hours	\$25.00	\$500.00
Kristen Moyer	20 hours	\$25.00	\$500.00
Julie Zimmerman	20 hours	\$25.00	\$500.00
Lynn Howell	20 hours	\$25.00	\$500.00
Melissa Eggert	20 hours	\$25.00	\$500.00
Patti Loughery	20 hours	\$25.00	\$500.00
Catherine Hahn	20 hours	\$25.00	\$500.00
TBA	20 hours	\$25.00	\$500.00
Kristi Shuman	20 hours	\$25.00	\$500.00

Riverside (Funding Source-Title I School Improvement) Activity / Parent Involvement Calendar Events

110011104 / 1 0110110 11110 01101	tt Cuitiluui Li	CILCO	
Traci Tucker	6 hours	\$25.00	\$150.00
Kristen Moyer	6 hours	\$25.00	\$150.00
Crystal Rauehnzan	6 hours	\$25.00	\$150.00
Ruth Black	6 hours	\$25.00	\$150.00
Sharon Stump	6 hours	\$25.00	\$150.00
Bonnie Fox	6 hours	\$25.00	\$150.00
Patti Loughery	6 hours	\$25.00	\$150.00
Rebecca Gonzalez	6 hours	\$25.00	\$150.00
Kathy Fromuth	6 hours	\$25.00	\$150.00
Ian Moore	6 hours	\$25.00	\$150.00

16th & Haak (Funding Source- EAP)

Activity / Summer Tutoring

Cindy LaSola-Hettinger	56 hours	\$25.00 \$1,400.00
Marcie Blatt	52 hours	\$25.00 \$1,300.00
Sandy Maderia	52 hours	\$25.00 \$1,300.00
Stephanie Towles	52 hours	\$25.00 \$1,300.00
Theresa Gallen	52 hours	\$21.00 \$1,092.00
Alesia Cahn	52 hours	\$21.00 \$1,092.00

Ben Reifsnyder (SUB) \$25.00 Sue Borek-Dobroskey (SUB) \$25.00 Leslie Bitler (SUB) \$25.00

Nancy D'Agustio (SUB) \$15.00 \$720.00

16th & Haak (Funding Source- Title I) Activity / Extended Year Tutoring 2010

Patti Moyer 24 ½ hrs \$25.00 \$612.50

16th & Haak (Funding Source- Title I Supplemental)

Activity / School Improvement Plan

Angel Conrad	24 hours	\$25.00 \$600.00
Shannon Wechsler	24 hours	\$25.00 \$600.00
Jeanne Blum	24 hours	\$25.00 \$600.00
Debbie Bare	24 hours	\$25.00 \$600.00
Ben Reifsnyder	24 hours	25.00 \$600.00
Dana Puzio	24 hours	\$25.00 \$600.00
Sabrina Abrams	24 hours	\$25.00 \$600.00
Tracy Ravert	24 hours	\$25.00 \$600.00
Sandy Madeira	24 hours	\$25.00 \$600.00
Debra Printz	24 hours	\$25.00 \$600.00
Amy Levengood	24 hours	\$25.00 \$600.00
Glenda Alcarez	24 hours	\$25.00 \$600.00

16th & Haak (Funding Source-Title I Supplemental)

Activity / Principal's Academy

Suzanne Borek-Dobroskey	6 hours	\$25.00 \$150.00
Cynthia LaSota	6 hours	\$25.00 \$150.00
Sabrina Abrams	6 hours	\$25.00 \$150.00
Lindsay Guenter	6 hours	\$25.00 \$150.00
Deborah Bare	6 hours	\$25.00 \$150.00
Leslie Bitler	6 hours	\$25.00 \$150.00
Janet White	6 hours	\$25.00 \$150.00
Beth Gehret	6 hours	\$25.00 \$150.00
Nicole Humphreys	6 hours	\$25.00 \$150.00
Debra Royles	6 hours	\$25.00 \$150.00
Pat Strunk	6 hours	\$25.00 \$150.00
Lauren Burgess	6 hours	\$25.00 \$150.00

Shannon Wechsler	6 hours	\$25.00 \$150.00
Daniel Sharp	6 hours	\$25.00 \$150.00
Angel Conrad	6 hours	\$25.00 \$150.00
Kirsten Eppler	6 hours	\$25.00 \$150.00
Shawn Moore	6 hours	\$25.00 \$150.00
Michael Himmelrich	6 hours	\$25.00 \$150.00
Sandra Madeira	6 hours	\$25.00 \$150.00
Andrea Fonte	6 hours	\$25.00 \$150.00
Christopher Beissel	6 hours	\$25.00 \$150.00
Benjamin Reifsnyder	6 hours	\$25.00 \$150.00
Douglas Symonds	6 hours	\$25.00 \$150.00
Maureen Oniskey	6 hours	\$25.00 \$150.00
Dana Puzio	6 hours	\$25.00 \$150.00
Michelle Peters	6 hours	\$25.00 \$150.00
Brandi Pszczolkowski	6 hours	\$25.00 \$150.00
Jessica O'Rourke	6 hours	\$25.00 \$150.00
Debra Printz	6 hours	\$25.00 \$150.00
Jeanne Blum	6 hours	\$25.00 \$150.00
TBA	6 hours	\$25.00 \$150.00
Amy Levengood	6 hours	\$25.00 \$150.00
Danielle Goodman	6 hours	\$25.00 \$150.00
Stephanie Towels	6 hours	\$25.00 \$150.00
Jane Battaglieri	6 hours	\$25.00 \$150.00
Andrew Keller	6 hours	\$25.00 \$150.00
Greg Reber	6 hours	\$25.00 \$150.00
Marcie Blatt	6 hours	\$25.00 \$150.00
Helen Stevenson	6 hours	\$25.00 \$150.00
Tracy Ravert	6 hours	\$25.00 \$150.00

16th & Haak (Funding Source- Title I) Activity / Technology in the Classroom

Pat Strunk	12 hours	\$25.00 \$	300.00
Sandy Madeira	12 hours	\$25.00 \$	300.00
Angel Conrad	12 hours	\$25.00 \$	300.00
Kirsten Eppler	12 hours	\$25.00 \$	300.00
Marcie Blatt	12 hours	\$25.00 \$	300.00
Ben Reifsnyder	12 hours	\$25.00 \$	300.00
Stephanie Towles	12 hours	\$25.00 \$	300.00

16th & Haak (Funding Source- District Funds) Activity / School-wide Positive Behavior/Single School Culture

Sandy Madeira	15 hours	\$25.00 \$375.00
Shannon Wechsler	15 hours	\$25.00 \$375.00
Ben Reifsnyder	15 hours	\$25.00 \$375.00
Kirsten Eppler	15 hours	\$25.00 \$375.00
Stephanie Towles	15 hours	\$25.00 \$375.00
Jessica O'Rourke	15 hours	\$25.00 \$375.00

Angel Conrad	15 hours	\$25.00	\$375.00
Brandi Pszczolkowski	15 hours	\$25.00	\$375.00
Christopher Beissel	15 hours	\$25.00	\$375.00

16th & Haak (Funding Source- Title I)

Activity / Second Grade Take Home Reading Program

Debra Printz	20 hours	\$25.00	\$500.00
Debbie Royles	12 hours	\$25.00	\$300.00
Glenda Alcarez	20 hours	\$25.00	\$500.00

16th & Haak (Funding Source- Title I)

Activity / Parent Fair Information Committee

Cindy I	Hettinger-LaSota
---------	------------------

Marcie Blatt	4 hours	\$25.00 \$100.00
Michelle Peters	4 hours	\$25.00 \$100.00
Leslie Bitler	4 hours	\$25.00 \$100.00
Sue Borek-Dobroskey	4 hours	\$25.00 \$100.00
Debbie Bare	4 hours	\$25.00 \$100.00

Millmont Elementary (Funding Source- EAP)

Activity / Summer Tutoring

		_
Autumn Gilmore	51 hours	\$25.00 \$1,275.00
Mike Senick	51 hours	\$25.00 \$1,275.00
Elaine Becker	69 hours	\$25.00 \$1,725.00

John Nemetch (SUB) \$25.00 Kyla Ramsey (SUB) \$25.00

Millmont Elementary (Funding Source- Title I Supplemental) Activity / School Improvement Plan

receiving, semoor improvement		
Autumn Gilmore	24 hours	\$25.00 \$300.00
Lori Ziegler	24 hours	\$25.00 \$300.00
Micheal Senick	24 hours	\$25.00 \$300.00
Elaine Becker	24 hours	\$25.00 \$300.00
Lori Thomas	24 hours	\$25.00 \$300.00
Kyla Ramsey	24 hours	\$25.00 \$300.00
Louise Warren	24 hours	\$25.00 \$300.00

Millmont Elementary (Funding Source- Title I Supplemental) Activity / Principal's Academy

Autumn Gilmore	6 hours	\$25.00	\$150.00
Judith Kopil	6 hours	\$25.00	\$150.00
Sabrina Leinbach	6 hours	\$25.00	\$150.00
John Nemetch	6 hours	\$25.00	\$150.00
Kyla Ramsey	6 hours	\$25.00	\$150.00
Michael Senick	6 hours	\$25.00	\$150.00
Lori Ziegler	6 hours	\$25.00	\$150.00
Elaine Becker	6 hours	\$25.00	\$150.00

Beverly Boyer	6 hours	\$25.00	\$150.00
Jane Brady	6 hours	\$25.00	\$150.00
Amy Duff	6 hours	\$25.00	\$150.00
Heidi Fleek	6 hours	\$25.00	\$150.00
John Loos	6 hours	\$25.00	\$150.00
Adrienne Stafford	6 hours	\$25.00	\$150.00
Barbara Voelker	6 hours	\$25.00	\$150.00
Laura Fredericks	6 hours	\$25.00	\$150.00
Lou Lepore	6 hours	\$25.00	\$150.00
Melissa Cocks	6 hours	\$25.00	\$150.00
Luise Focht	6 hours	\$25.00	\$150.00
David Hinkel	6 hours	\$25.00	\$150.00
Louise Warren	6 hours	\$25.00	\$150.00
Gina Colamarino	6 hours	\$25.00	\$150.00
Christine Sirak	6 hours	\$25.00	\$150.00
Maryann O'Neil	6 hours	\$25.00	\$150.00
Tara VanOrden	6 hours	\$25.00	\$150.00
Ann Martino	6 hours	\$25.00	\$150.00
Lori Heisler	6 hours	\$25.00	\$150.00

Amanda Stout (Funding Source- EAP) Activity / Summer Tutoring

Vanessa Campos	48 hours	\$15.00 \$720.00
Ashley Solazzo	63 hours	\$25.00 \$1,575.00
Jennifer Stoudt	59 ½ hrs	\$25.00 \$1,488.00
Sarah Rauenzahn	51 hours	\$25.00 \$1,275.00
Kathleen Ritter	59 ½ hrs	\$25.00 \$1,488.00
Trisha Herrera	51 hours	\$25.00 \$1,275.00
Shannon McNeil	51 hours	\$25.00 \$1,275.00
Julie Weitzel	59 ½ hrs	\$25.00 \$1,488.00
Nicole Makovetz	59 ½ hrs	\$25.00 \$1,488.00
Tom Frey	51 hours	\$25.00 \$1,275.00
Jennifer Sell (SLJB)	\$25.00)

Jennifer Sell (SUB)	\$25.00
Kara Zubaty (SUB)	\$25.00
Kathleen Pawlewicz (SUB)	\$25.00
Lisa Richter (SUB)	\$25.00
Lisa Zampelli (SUB)	\$25.00
Cynthia Nipper (SUB)	\$25.00
Kathleen Meck (SUB)	\$25.00
Kimberly Wagner (SUB)	\$21.00

Amanda Stout (Funding Source- Title I) Activity / Extended Year Tutoring Summer 2010

Ashley Solazzo	3 ½ hrs	\$25.00 \$87.50
Jennifer Stoudt	3 ½ hrs	\$25.00 \$87.50
Sarah Rauenzahn	3 ½ hrs	\$25.00 \$87.50
Kathleen Ritter	3 ½ hrs	\$25.00 \$87.50

Trisha Herrera	3 ½ hrs	\$25.00	\$87.50
Shannon McNeil	3 ½ hrs	\$25.00	\$87.50
Julie Weitzel	3 ½ hrs	\$25.00	\$87.50
Nicole Makovetz	3 ½ hrs	\$25.00	\$87.50
Tom Frey	3 ½ hrs	\$25.00	\$87.50
Jennifer Sell (SUB)	\$25.00		
Kara Zubaty (SUB)	\$25.00		
Kathleen Pawlewicz (SUB)	\$25.00		
Lisa Richter (SUB)	\$25.00		
Lisa Zampelli (SUB)	\$25.00		
Cynthia Nipper (SUB)	\$25.00		
Kathleen Meck (SUB)	\$25.00		
Kimberly Wagner (SUB)	\$25.00		

Amanda Stout (Funding Source- Title I Supplemental) Activity / School Improvement Plan

Lisa Zampelli	24 hours	\$25.00 \$600.00
Christine Lis	24 hours	\$25.00 \$600.00
Victoria Troutman	24 hours	\$25.00 \$600.00
Kimberly Rankin	24 hours	\$25.00 \$600.00
Marian Going	24 hours	\$25.00 \$600.00
Tania Heckman	24 hours	\$25.00 \$600.00
Joe McDevitt	24 hours	\$25.00 \$600.00
Margaret Columbus	24 hours	\$25.00 \$600.00
Cynthia Nipper	24 hours	\$25.00 \$600.00
Miriam Ruiz-Collado	12 hours	\$25.00 \$300.00
Idalmy Naylor	24 hours	\$25.00 \$600.00
Jessica Chamber	24 hours	\$25.00 \$600.00

Amanda Stout (Funding Source- Title I Supplemental) Activity / Principal's Academy

Christine Sirak	6 hours	\$25.00 \$150.00
Ana Morales	6 hours	\$25.00 \$150.00
Melissa Moyer	6 hours	\$25.00 \$150.00
Sara Mengel	6 hours	\$25.00 \$150.00
Kimberly Rankin	6 hours	\$25.00 \$150.00
Idalmy Naylor	6 hours	\$25.00 \$150.00
Marian Going	6 hours	\$25.00 \$150.00
Karen Rahn	6 hours	\$25.00 \$150.00
Katherine Meck	6 hours	\$25.00 \$150.00
Jennifer Stoudt	6 hours	\$25.00 \$150.00
Lisa Zampelli	6 hours	\$25.00 \$150.00
Ashley Solazzo	6 hours	\$25.00 \$150.00
Jennifer Cambria	6 hours	\$25.00 \$150.00
Linda Bossler	6 hours	\$25.00 \$150.00
Kara Zubaty	6 hours	\$25.00 \$150.00
Trisha Herrera	6 hours	\$25.00 \$150.00

Jennifer Kieffer	6 hours	\$25.00	\$150.00
Tania Heckman	6 hours	\$25.00	\$150.00
Lindsay Evans	6 hours	\$25.00	\$150.00
Heather Peck	6 hours	\$25.00	\$150.00
Kathleen Ritter	6 hours	\$25.00	\$150.00
Christine Lis	6 hours	\$25.00	\$150.00
Susan Cox	6 hours	\$25.00	\$150.00
Jennifer Sell	6 hours	\$25.00	\$150.00
Shannon McNeil	6 hours	\$25.00	\$150.00
Guilvia Garcia	6 hours	\$25.00	\$150.00
Cindi Nipper	6 hours	\$25.00	\$150.00
Cathy Brenner	6 hours	\$25.00	\$150.00
Deborah Gingrich	6 hours	\$25.00	\$150.00
Jean Tompkins	6 hours	\$25.00	\$150.00
Nicole Makovetz	6 hours	\$25.00	\$150.00
Ann Otto	6 hours	\$25.00	\$150.00
Margaret Columbus	6 hours	\$25.00	\$150.00
Nadine Poper	6 hours	\$25.00	\$150.00
Daiana Poper	6 hours	\$25.00	\$150.00
Thomas Frey	6 hours	\$25.00	\$150.00
Jared Perella	6 hours	\$25.00	\$150.00
Joseph McDevitt	6 hours	\$25.00	\$150.00
Elaine Hahn	6 hours	\$25.00	\$150.00
Mark Lash	6 hours	\$25.00	\$150.00
Angela Yorgey	6 hours	\$25.00	\$150.00
Elizabeth Santana	6 hours	\$25.00	\$150.00
Jessica Chambers	6 hours	\$25.00	\$150.00
Susan Arters	6 hours	\$25.00	\$150.00
Lisa Richter	6 hours	\$25.00	\$150.00
Julie Weitzel	6 hours	\$25.00	\$150.00
Janis Fraser	6 hours	\$25.00	\$150.00
Kathleen Pawlewicz	6 hours	\$25.00	\$150.00
Victoria Troutman	6 hours	\$25.00	\$150.00
Keriellen Heydt	6 hours	\$25.00	\$150.00
Perri Sepulveda	6 hours	\$25.00	\$150.00
Kevin Cooper	6 hours	\$25.00	\$150.00
Linda Kramer	6 hours	\$25.00	\$150.00
Todd Tirdell	6 hours	\$25.00	\$150.00
Amanda Stout (Funding So	ource- Title I))	
Activity / Promethean Boa	ards		
Kathleen Ritter	16 hours	\$25.00	\$400.00
Tania Heckman	16 hours	\$25.00	\$400.00
Nadine Poper	16 hours	\$25.00	\$400.00
Margaret Columbus	16 hours	\$25.00	\$400.00
Daiana Rivera	16 hours	\$25.00	\$400.00
Cynthia Nipper	16 hours	\$25.00	\$400.00

Deborah Gingrich	16 hours	\$25.00	\$400.00
Chris Lis	16 hours	\$25.00	\$400.00
Jennifer Sell	16 hours	\$25.00	\$400.00
Mark Lash	16 hours	\$25.00	\$400.00
Joe McDevitt	16 hours	\$25.00	\$400.00
Kara Zubaty	16 hours	\$25.00	\$400.00
Heather Peck (SUB)	16 hours	\$25.00	\$400.00
Trisha Herrera (SUB)	16 hours	\$25.00	\$400.00
` ,	16 hours		
Tom Frey (SUB)		\$25.00	\$400.00
Ann Otto (SUB)	16 hours	\$25.00	\$400.00
Jared Perella (SUB)	16 hours	\$25.00	\$400.00
Julie Weitzel (SUB)	16 hours	\$25.00	\$400.00
Jean Tompkins (SUB)	16 hours	\$25.00	\$400.00
Susan Cox (SUB)	16 hours	\$25.00	\$400.00
Shannon McNeil (SUB)	16 hours	\$25.00	\$400.00
Kathleen Pawlewicz (SUB)	16 hours	\$25.00	\$400.00
Angela Yorgey (SUB)	16 hours	\$25.00	\$400.00
Jennifer Kieffer (SUB)	16 hours	\$25.00	\$400.00
,			
Amanda Stout (Funding Soi	ırce- Title I)		
Activity / Planning for Prin		emv	
Melissa Moyer	10 hours	\$25.00	\$250.00
Sara Mengel	10 hours	\$25.00	\$250.00
Marian Going	10 hours	\$25.00	\$250.00
G	10 hours		
Idalmy Naylor		\$25.00	\$250.00
Kimberly Rankin	10 hours	\$25.00	\$250.00
A 1 Ct 1/E 1' C	(T) (1 T)		
Amanda Stout (Funding Son			
Activity / Plan for Parent In		ф ог 00	Φ255 00
Lisa Zampelli	15 hours	\$25.00	\$375.00
Linda Bossler	15 hours	\$25.00	\$375.00
Jennifer Stoudt	15 hours	\$25.00	\$375.00
Ashley Solazzo	15 hours	\$25.00	\$375.00
Jennifer Cambria	15 hours	\$25.00	\$375.00
Amanda Stout (Funding Son	ırce- Title I)		
Activity / English Language	e Learners, U	nderstan	d ACCESS for ELLS;
Idalmy Naylor	12 hours	\$25.00	\$300.00
Jessica Chambers	12 hours	\$25.00	\$300.00
Elizabeth Santana	12 hours	\$25.00	\$300.00
Ashley Solazzo	12 hours	\$25.00	\$300.00
Joseph McDevitt	12 hours	\$25.00	\$300.00
Joseph Webevitt	12 110 015	Ψ20.00	φοσο.σσ
12th & Marion (Funding Son	urce- FAD)		
Activity / Summer Tutoring			
Carmen Rivera	48 hours	\$15.00	\$720.00
Diane Gerson	56 hours	\$25.00	
Diane Gerson	56 Hours	Φ23.00	\$1,400.00

Rachael Broad	52 hours	\$25.00	\$1,300.00	
Matt Emerich	52 hours	\$21.00	\$1,092.00	
Jennie Hadfield	52 hours	\$25.00	\$1,300.00	
Anne Johnson	52 hours	\$25.00	\$1,300.00	
Jennie Werner	52 hours	\$21.00	\$1,092.00	
Krista Stafford	52 hours	\$21.00	\$1,092.00	
Debra Schwenk	52 hours	\$25.00	\$1,300.00	
Jeanette Koehler	52 hours	\$25.00	\$1,300.00	
Jennifer Pietrowski	52 hours	\$21.00	\$1,092.00	
Jessica Daly	52 hours	\$25.00	\$1,300.00	
Janice Hirneisen	52 hours	\$21.00	\$1,092.00	
Tracey Grabowski	52 hours	\$25.00	\$1,300.00	
Lyn Swartz	52 hours	\$25.00	\$1,300.00	
Cynthia Hiryak	52 hours	\$25.00	\$1,300.00	
Jennifer Richards	52 hours	\$25.00	\$1,300.00	
Krista Leaf	26 hours	\$25.00	\$650.00	
Susan Dougherty	26 hours	\$25.00	\$650.00	
Judy Treichler (SUB)	\$25.0	00		
Sharon Majesky (SUB)	\$25.0	00		
Rachael Texter (SUB)	\$25.0	00		
Christie McAllister (SUB)	\$25.0	00		
Carolyn Miller (SUB)	\$25.00			
Michelle Frey (SUB)	\$25.0	00		
Dawn Cuccaro (SUB)	\$25.0	00		
Shange Schlosberg (SUB)	\$25.0	00		
Tracey Grabowski (SUB)	\$25.0	00		

12th & Marion (Funding Source- Title I Supplemental) Activity / School Improvement Plan

Anne Johnson	24 hours	\$25.00	\$600.00
Krista Leaf	24 hours	\$25.00	\$600.00
Tina Buchter	24 hours	\$25.00	\$600.00
Sharon Majesky	24 hours	\$25.00	\$600.00
Jessica Daly	24 hours	\$25.00	\$600.00
Cynthia Theodore	24 hours	\$25.00	\$600.00
Debra Schwenk	24 hours	\$25.00	\$600.00
Cynthia Smith-Kern	24 hours	\$25.00	\$600.00
Cynthia Hiryak	24 hours	\$25.00	\$600.00
Margaret Schlauch	24 hours	\$25.00	\$600.00
Christina Waller	24 hours	\$25.00	\$600.00

12th & Marion (Funding Source- Title I) Activity / Planning Principal's Academy

Debra Schwenk	12 hours	\$25.00	\$300.00
Cynthia Smith-Kern	12 hours	\$25.00	\$300.00
Cynthia Hiryak	12 hours	\$25.00	\$300.00
Anne Johnson	12 hours	\$25.00	\$300.00

Diane Gerson	12 hours	\$25.00	\$300.00
Jeanette Koehler	12 hours	\$25.00	\$300.00
Christie McAllister	12 hours	\$25.00	\$300.00
Carolyn Miller	12 hours	\$25.00	\$300.00

12th & Marion (Funding Source- Title I Supplemental) Activity / Principal's Academy

	<i>J</i>		
Diane Gerson	6 hours	\$25.00	\$150.00
Susan Dougherty	6 hours	\$25.00	\$150.00
Kevin Collins	6 hours	\$25.00	\$150.00
Jessica Daly	6 hours	\$25.00	\$150.00
Ashley Marshall	6 hours	\$25.00	\$150.00
Elisa Wounderly	6 hours	\$25.00	\$150.00
Christie McAllister	6 hours	\$25.00	\$150.00
Jennifer Richards	6 hours	\$25.00	\$150.00
Sharon Majesky	6 hours	\$25.00	\$150.00
Stephanie Gilmer	6 hours	\$25.00	\$150.00
Jami Fry	6 hours	\$25.00	\$150.00
Tracey Grabowski	6 hours	\$25.00	\$150.00
Tina Buchter	6 hours	\$25.00	\$150.00
Krista Leaf	6 hours	\$25.00	\$150.00
Jeanette Koehler	6 hours	\$25.00	\$150.00
John Kaszmetskie	6 hours	\$25.00	\$150.00
Janet Setlock	6 hours	\$25.00	\$150.00
Ruth Miller	6 hours	\$25.00	\$150.00
Jennifer Hadfield	6 hours	\$25.00	\$150.00
Jennifer Lengel	6 hours	\$25.00	\$150.00
Dawn Wenzel	6 hours	\$25.00	\$150.00
Shane Schlosberg	6 hours	\$25.00	\$150.00
Anne Johnson	6 hours	\$25.00	\$150.00
Rachel Texter	6 hours	\$25.00	\$150.00
Judith Treichler	6 hours	\$25.00	\$150.00
Cynthia Theodore	6 hours	\$25.00	\$150.00
Kate Brenner	6 hours	\$25.00	\$150.00
Cynthia Hiryak	6 hours	\$25.00	\$150.00
April Matz	6 hours	\$25.00	\$150.00
Allen Arnold	6 hours	\$25.00	\$150.00
Debra Schwenk	6 hours	\$25.00	\$150.00
Cynthia Smith-Kern	6 hours	\$25.00	\$150.00
Cristina Waller	6 hours	\$25.00	\$150.00
Lori Daubenspeck	6 hours	\$25.00	\$150.00
Ann Popp	6 hours	\$25.00	\$150.00
Migdalia Peterson	6 hours	\$25.00	\$150.00
Carolyn Miller	6 hours	\$25.00	\$150.00
Lyn Swartz	6 hours	\$25.00	\$150.00
Howard Snyder	6 hours	\$25.00	\$150.00
Timothy Raub	6 hours	\$25.00	\$150.00

12th & Marion (Funding Source- Title I)

Elisa Wounderly	7 hours	\$25.00	\$175.00
Ashley Marshall	7 hours	\$25.00	\$175.00
Christie McAllister	7 hours	\$25.00	\$175.00
Jennifer Richards	7 hours	\$25.00	\$175.00
Sharon Majesky	7 hours	\$25.00	\$175.00
Judith Treichler	7 hours	\$25.00	\$175.00

12th & Marion (Funding Source-Title I)

Activity / Math Centers 1st & 2nd Grade

Ruth Miller	6 hours	\$25.00	\$150.00
Cynthia Smith-Kern	6 hours	\$25.00	\$150.00
Jennie Hadfield	6 hours	\$25.00	\$150.00
Anne Johnson	6 hours	\$25.00	\$150.00
Jennifer Lengel	6 hours	\$25.00	\$150.00
Dawn Cuccaro	6 hours	\$25.00	\$150.00
Shane Schlosberg	6 hours	\$25.00	\$150.00

12th & Marion (Funding Source- Title I)

Activity / Coordinate catalogue, and organize the Guided Library

Debra Schwenk	6 hours	\$25.00	\$150.00
Vilma Nunez	3 hours	\$25.00	\$75.00

12th & Marion (Funding Source- District Fund)

Activity / Teacher Handbook-update for 2010-2011 school year

<i>J I</i>	1		,	
Kevin Collins	6 hours	\$25.00	\$150.00	
Debra Schwenk	6 hours	\$25.00	\$150.00	
Jennie Hadfield	6 hours	\$25.00	\$150.00	
Tina Buchter	6 hours	\$25.00	\$150.00	

Migrant Summer School (Funding Source- EAP)

Activity / Millmont Elem. Math

Maria Castillo 60 hours \$21.00 \$1,260.00

Migrant Summer School (Funding Source- Title III)

Activity / Millmont Elem. Math

Maria Castillo 80 hours \$21.00 \$1,680.00

Migrant/ Newcomer Summer School (Funding Source- EAP) Activity / Millmont Elem. ESL/Reading, Math

Brynn Hollywood	60 hours	\$25.00	\$1,500.00
Maritza Garcia	50 hours	\$15.00	\$750.00
Stanley Kuzcawa	55 hours	\$25.00	\$1,375.00
Lourdes Torres	50 hours	\$15.00	\$750.00

Debra Schwenk (SUB) \$25.00

Migrant Summer School (Funding Source- Title III)

Activity	/ Migrant	/Newcomer
----------	-----------	-----------

Maria Castillo	28 hours	\$21.00	\$588.00
Brynn Hollywood	28 hours	\$25.00	\$700.00
Stanley Kuzcawa	28 hours	\$25.00	\$700.00
Maritza Garcia	14 hours	\$15.00	\$210.00
Lourdes Torres	14 hours	\$15.00	\$210.00

Migrant Summer School (Funding Source- Title III)

Activity / Summer Newcomer

Brynn Hollywood	80 hours	\$25.00	\$2,000.00
Maritza Garcia	75 hours	\$15.00	\$1,125.00
Stanley Kuzcawa	80 hours	\$25.00	\$2,000.00
Lourdes Torres	75 hours	\$15.00	\$1,125.00
Debra Schwenk (SUB)	\$25.00		

Administration (Funding Source- District Funds) Activity / Professional Development Session

Theresa Cooper	12 hours	\$25.00	\$300.00
Lyvia Petris	12 hours	\$25.00	\$300.00

Administration (Funding Source- District Funds)

Activity / Professional Development Days During 2010-2011

Idalmy Naylor-Cedeno	12 hours	\$25.00	\$300.00
Jessica Lucas	12 hours	\$25.00	\$300.00
Lyvia Petris	12 hours	\$25.00	\$300.00
Marie Schmehl	12 hours	\$25.00	\$300.00
Melissa Moyer	12 hours	\$25.00	\$300.00
Michelle Texter	12 hours	\$25.00	\$300.00
Theresa Cooper	12 hours	\$25.00	\$300.00
Holly Conrad	12 hours	\$25.00	\$300.00
Sarah Miller	12 hours	\$25.00	\$300.00
Robin Scarpacci	12 hours	\$25.00	\$300.00
Julie Zimmerman	12 hours	\$25.00	\$300.00
Michael Reber	12 hours	\$25.00	\$300.00

Administration (Funding Source Title I Reserved Funds)

Activity / Math Curriculum and Pacing Guide for Grades K-2

Debra Redcay	24 hours	\$25.00	\$600.00
Erin Neisweider	24 hours	\$25.00	\$600.00
Kristi Shuman	24 hours	\$25.00	\$600.00
Melanie Hansley	24 hours	\$25.00	\$600.00
Bonnie Shamonski	24 hours	\$25.00	\$600.00
Lori Flamm	24 hours	\$25.00	\$600.00
Sherry Mowery	24 hours	\$25.00	\$600.00
Stacey Fritz	24 hours	\$25.00	\$600.00
Lesley Fisher	24 hours	\$25.00	\$600.00

Jeanette Koehler	24 hours	\$25.00	\$600.00
reamette Noemer	24 Hours	ずとろ.00	\$600.00

Administration (Funding Source Title I Reserved Funds)
Activity / Science Curriculum Guides for Grades K-5

Erin Neiswender	24 hours	\$25.00	\$600.00
Kristi Shuman	24 hours	\$25.00	\$600.00
Lisa Herbinko	24 hours	\$25.00	\$600.00
Megan Staudenmayer	24 hours	\$25.00	\$600.00
Sandra Vought	24 hours	\$25.00	\$600.00
Chris Lis	24 hours	\$25.00	\$600.00
Kirsten Eppler	24 hours	\$25.00	\$600.00
Lynn Bucher	24 hours	\$25.00	\$600.00
Geraldine Nemirow	24 hours	\$25.00	\$600.00
Sandy Maideira	24 hours	\$25.00	\$600.00
Sherri Katrinak	24 hours	\$25.00	\$600.00
Kirsten Stankiewicz	24 hours	\$25.00	\$600.00
Mark Lash	24 hours	\$25.00	\$600.00

ELA Department (Funding Source- Title III)

Activity / Assistant Guidelines

Joselinda DeAlba	2 hours	\$25.00	\$50.00
Luisa Pletz	2 hours	\$25.00	\$50.00
Tina Buchter	2 hours	\$25.00	\$50.00
Hannah Ledford	2 hours	\$25.00	\$50.00
Maribel Hernandez	2 hours	\$25.00	\$50.00
Nilda Mayol	2 hours	\$25.00	\$50.00
Carol Squibb	2 hours	\$25.00	\$50.00
Leticia Ortiz	2 hours	\$25.00	\$50.00
Evelyn Paneto	2 hours	\$25.00	\$50.00
Amy Berkley	2 hours	\$25.00	\$50.00
Ryan Knox	2 hours	\$25.00	\$50.00
Leo Hanley	2 hours	\$25.00	\$50.00

ELA Department (Funding Source- Title III)

Activity / Assistant Inservice

Pamela Wheeler	18 hours	\$25.00	\$450.00
Rita Ferreira	18 hours	\$25.00	\$450.00
Michelle Texter	18 hours	\$25.00	\$450.00

ELA Department (Funding Source- General Fund) Activity / Program Handbook

Susan Moll 2 hours \$25.00
Billie Jo Chiarelli 2 hours \$25.00
Sue Shober 2 hours \$25.00
Linda Fredericks 2 hours \$25.00

 Linda Fredericks
 2 hours
 \$25.00
 \$50.00

 Victor Jacobs
 2 hours
 \$25.00
 \$50.00

 Terry Griffith
 2 hours
 \$25.00
 \$50.00

\$50.00

\$50.00

\$50.00

Jasmin Sanchez	2 hours	\$25.00	\$50.00
Amy Berkley	2 hours	\$25.00	\$50.00
5			
Elizabeth Venezia	2 hours	\$25.00	\$50.00
Leo Hanley	2 hours	\$25.00	\$50.00
J			
FIAD and the state of the state	C 77'11	TTT \	
ELA Department (Funding		111)	
Activity / Plan for Citadel S	Staff for ELL		
Esperanza Wickert	30 hours	\$25.00	\$750.00
Leo Hanley	30 hours	\$25.00	\$750.00
2			
Maria Diaz-Aponte	30 hours	\$25.00	\$750.00
ELA Department (Funding	Source- Title	III)	
Activity / Supplemental Ma			
		-	¢750.00
Jasmin Sanchez	18 hours	\$25.00	\$750.00
Elizabeth Sammond	18 hours	\$25.00	\$750.00
Jennifer Gavin	18 hours	\$25.00	\$750.00
Ethan Polczynski	18 hours	\$25.00	\$750.00
5			
Betty Reyes	18 hours	\$25.00	\$750.00
ELA Department (Funding	Source- Title	III)	
Activity / ESL Level I Curri			
	10 hours	¢25 00	¢250.00
Jasmin Sanchez		\$25.00	\$250.00
Betty Reyes	10 hours	\$25.00	\$250.00
Peter Karpew	10 hours	\$25.00	\$250.00
Jennifer Gavin	10 hours	\$25.00	\$250.00
•		•	•
Elizabeth Sammond	10 hours	\$25.00	\$250.00
ELA Department (Funding	Source- Title	III)	
Activity / ESL Level 5 Curr	iculum		
Amy Berkley	18 hours	\$25.00	\$450.00
		\$25.00	
John Perrotto	18 hours		\$450.00
Peter Karpew	18 hours	\$25.00	\$450.00
John Wickman	18 hours	\$25.00	\$450.00
ELA Department (Funding	Source- Gone	ral Fund)	1
_		i ui 1 uiiu <i>)</i>	
Activity/ESL Summer Tes	•		
Pamela Wheeler	100 hrs	\$25.00	\$2,500.00
Michelle Texter	100 hrs	\$25.00	\$2,500.00
Rita Ferreira	100 hrs	\$25.00	\$2,500.00
		-	
Esperanza Wickert	30 hours	\$25.00	\$750.00
Leo Hanley	30 hours	\$25.00	\$750.00
Maria Diaz-Aponte	30 hours	\$25.00	\$750.00
1		•	•
EI A Donartmant (Funding	Course Titl-	TTT \	
ELA Department (Funding			
Activity / ESL Supplement	•		
Wendy Ganster	30 hours	\$25.00	\$750.00
Andrea Mollura	30 hours	\$25.00	\$750.00
	23 110 0110	Ψ_0.00	4.50.00

Janet Psota	30 hours	\$25.00	\$750.00
Marion Martin	30 hours	\$25.00	\$750.00
Sarah Netter	30 hours	\$25.00	\$750.00
Kelly Bucca	30 hours	\$25.00	\$750.00
Val Hower	30 hours	\$25.00	\$750.00
Grace Weber	30 hours	\$25.00	\$750.00
Steve Sieller	30 hours	\$25.00	\$750.00
Jessica Chambers	30 hours	\$25.00	\$750.00
Idalmy Naylor-Cedeno	30 hours	\$25.00	\$750.00
Jessica Lucas	30 hours	\$25.00	\$750.00
Amy Levengood	30 hours	\$25.00	\$750.00
Christina Davis	30 hours	\$25.00	\$750.00
Michelle Texter	30 hours	\$25.00	\$750.00
Rita Ferreira	30 hours	\$25.00	\$750.00
Esperanza Wickert	30 hours	\$25.00	\$750.00
Leo Hanley	30 hours	\$25.00	\$750.00

ELA Department (Funding Source- Title III & Title I) Activity / ESL Shelter on Workshop Nayda Alvarez 12 hours \$25.00 \$30

Nayda Alvarez	12 hours	\$25.00	\$300.00
Ellen Arnold	12 hours	\$25.00	\$300.00
Karen Balk	12 hours	\$25.00	\$300.00
Robert Bastian	12 hours	\$25.00	\$300.00
Michael Beiler	12 hours	\$25.00	\$300.00
John Benson Jr.	12 hours	\$25.00	\$300.00
Randy Bialas	12 hours	\$25.00	\$300.00
Brian Biallas	12 hours	\$25.00	\$300.00
Marcie Bieber	12 hours	\$25.00	\$300.00
Millyana Bittner	12 hours	\$25.00	\$300.00
Kristi Bricker	12 hours	\$25.00	\$300.00
Jennifer Brumbach	12 hours	\$25.00	\$300.00
Rachal Bugay	12 hours	\$25.00	\$300.00
Donald Byrne	12 hours	\$25.00	\$300.00
Michelle Christie	12 hours	\$25.00	\$300.00
Dwayne Clemens	12 hours	\$25.00	\$300.00
Wendy Cooci	12 hours	\$25.00	\$300.00
Alan Cook	12 hours	\$25.00	\$300.00
Dusten Cook	12 hours	\$25.00	\$300.00
David Craft	12 hours	\$25.00	\$300.00
Kathleen Creelman	12 hours	\$25.00	\$300.00
Chris Dailey	12 hours	\$25.00	\$300.00
Mandy Deininger	12 hours	\$25.00	\$300.00
Charles Dicarne	12 hours	\$25.00	\$300.00
Cristin Dillion	12 hours	\$25.00	\$300.00
Daniel Dismuke	12 hours	\$25.00	\$300.00
Raymond Dobisesky	12 hours	\$25.00	\$300.00
Christine Doig	12 hours	\$25.00	\$300.00

Diane Duffy-Laba	12 hours	\$25.00	\$300.00
Amber ElGamal	12 hours	\$25.00	\$300.00
Richard Endy	12 hours	\$25.00	\$300.00
Judith Frantz	12 hours	\$25.00	\$300.00
Harry Freeman	12 hours	\$25.00	\$300.00
Erin Gauker	12 hours	\$25.00	\$300.00
Jennifer Gavin	12 hours	\$25.00	\$300.00
Debbie George	12 hours	\$25.00	\$300.00
Tonya Gilmore	12 hours	\$25.00	\$300.00
Patricia Glogg	12 hours	\$25.00	\$300.00
Debbie Greusel	12 hours	\$25.00	\$300.00
Robert Grubb	12 hours		
		\$25.00	\$300.00
Hilary Haubrich	12 hours	\$25.00	\$300.00
Richard Heffner	12 hours	\$25.00	\$300.00
Kristen Heim	12 hours	\$25.00	\$300.00
Christine Hosler	12 hours	\$25.00	\$300.00
Susan Hubbell	12 hours	\$25.00	\$300.00
Thomas Hughes	12 hours	\$25.00	\$300.00
Tsehay Jackson	12 hours	\$25.00	\$300.00
Christy Jacob 1	12 hours	\$25.00	\$300.00
Ginger Johnson	12 hours	\$25.00	\$300.00
Susan Jones	12 hours	\$25.00	\$300.00
Phillip Kearney	12 hours	\$25.00	\$300.00
Nicole Kern	12 hours	\$25.00	\$300.00
Stefanie Kline	12 hours	\$25.00	\$300.00
Kelly Knapper	12 hours	\$25.00	\$300.00
Ryan Knox	12 hours	\$25.00	\$300.00
Geraldine Korenda	12 hours	\$25.00	\$300.00
Greg Kosciolek 1	12 hours	\$25.00	\$300.00
Fanda Kramer	12 hours	\$25.00	\$300.00
Alicia Kutz	12 hours	\$25.00	\$300.00
Andrea Lillo-Vega	12 hours	\$25.00	
O			\$300.00
M. Lindo-Blake	12 hours	\$25.00	\$300.00
Christopher Lis	12 hours	\$25.00	\$300.00
Kristine Marino	12 hours	\$25.00	\$300.00
Beatrice Martinez-Crespo	12 hours	\$25.00	\$300.00
Carol McDonald	12 hours	\$25.00	\$300.00
Kate McKee	12 hours	\$25.00	\$300.00
Michael Metzger	12 hours	\$25.00	\$300.00
Elizabeth Miller	12 hours	\$25.00	\$300.00
Rodney Miller	12 hours	\$25.00	\$300.00
Tara Monahan	12 hours	\$25.00	\$300.00
Laura Monteiro	12 hours	\$25.00	\$300.00
Michelle Munteanu	12 hours	\$25.00	\$300.00
Nathan Munz	12 hours	\$25.00	\$300.00
Jennifer Oakes	12 hours	\$25.00	\$300.00
Janet Opalinski	12 hours	\$25.00	\$300.00
Janes o Parinoisi	1_110010	Ψ20.00	Ψ200.00

Coatt Ordinana	10 h a	ተጋ Ε 00	¢200.00
Scott Oplinger	12 hours	\$25.00	\$300.00
Jacabed Ortiz-Robles	12 hours	\$25.00	\$300.00
Bryan Otruba	12 hours	\$25.00	\$300.00
Jonathan Pelachick	12 hours	\$25.00	\$300.00
Arelis Perez-Rosario	12 hours	\$25.00	\$300.00
Marian Pike	12 hours	\$25.00	\$300.00
Michelle Poindexter	12 hours	\$25.00	\$300.00
Ethan Polczynski	12 hours	\$25.00	\$300.00
Anthony Pomponio	12 hours	\$25.00	\$300.00
Ben Pongracz	12 hours	\$25.00	\$300.00
Betty Reyes	12 hours	\$25.00	\$300.00
Brad Richards	12 hours	\$25.00	\$300.00
Anita Ridge	12 hours	\$25.00	\$300.00
John Rosowski	12 hours	\$25.00	\$300.00
Pat Ross	12 hours	\$25.00	\$300.00
Donna Rubin	12 hours	\$25.00	\$300.00
	12 hours		
Sarah Rudge		\$25.00	\$300.00
Tyler Rutt	12 hours	\$25.00	\$300.00
Alix Sable	12 hours	\$25.00	\$300.00
Brindusa Said	12 hours	\$25.00	\$300.00
Elizabeth Sammond	12 hours	\$25.00	\$300.00
Jasmin Sanchez-Lopez	12 hours	\$25.00	\$300.00
Kelly Santiago	12 hours	\$25.00	\$300.00
Kristin Schlegel	12 hours	\$25.00	\$300.00
M. Schmittberger	12 hours	\$25.00	\$300.00
Joseph Schroeder	12 hours	\$25.00	\$300.00
Michelle Scianna	12 hours	\$25.00	\$300.00
Stacey Skinner	12 hours	\$25.00	\$300.00
Heidi Snide	12 hours	\$25.00	\$300.00
Michael Snow	12 hours	\$25.00	\$300.00
D. Spignesi-Dillman	12 hours	\$25.00	\$300.00
Shannon Spohn	12 hours	\$25.00	\$300.00
Mary Steinborn	12 hours	\$25.00	\$300.00
Dawn Stetzler	12 hours	\$25.00	\$300.00
Robert Stock	12 hours	\$25.00	\$300.00
	12 hours		
Joshua Stoica	12 hours	\$25.00	\$300.00
Eric Storch		\$25.00	\$300.00
Mike Stoudt	12 hours	\$25.00	\$300.00
Matt Stumhofer	12 hours	\$25.00	\$300.00
Ed Teasdell	12 hours	\$25.00	\$300.00
Donna Theis	12 hours	\$25.00	\$300.00
Ryan Thomas	12 hours	\$25.00	\$300.00
Nick Urffer	12 hours	\$25.00	\$300.00
Desiree Wagner	12 hours	\$25.00	\$300.00
Amy Weand	12 hours	\$25.00	\$300.00
Stacy Weaver	12 hours	\$25.00	\$300.00
Corey Weir	12 hours	\$25.00	\$300.00
·			

Linda Welford	12 hours	\$25.00	\$300.00
John Wickman	12 hours	\$25.00	\$300.00
Katie Williams	12 hours	\$25.00	\$300.00
Brett Witmer	12 hours	\$25.00	\$300.00
Diane Wolfe	12 hours	\$25.00	\$300.00
Kelly Yanochko	12 hours	\$25.00	\$300.00
Kelly Rupp	12 hours	\$25.00	\$300.00
Gail Dawson-White	12 hours	\$25.00	\$300.00
Michele Merkel	12 hours	\$25.00	\$300.00
Paul Drums	12 hours	\$25.00	\$300.00
Leslie Helf	12 hours	\$25.00	\$300.00

ELA Department (Funding Source- Title III) Activity / Focus on Grammar Online Program

Katherine Igusky 6 hours \$25.00 \$150.00 Linda Criss 6 hours \$25.00 \$150.00

Southern Middle School (Funding Source- EAP) Activity Summer Tutoring

Kim Epler 54 hours \$25.00 \$1,350.00 Kate Gallagher 51 hours \$25.00 \$1,275.00 **Julie Rutt** 51 hours \$25.00 \$1,275.00 Raissa Kalisevich 51 hours \$25.00 \$1,275.00 \$25.00 Robert Mazzo 51 hours \$1,275.00 Jackie Dudash 51 hours \$25.00 \$1,275.00 Jennifer MacWilliam \$25.00 \$1,275.00 51 hours **Chad Moletress** 51 hours \$25.00 \$1,275.00 Ianna Isabel 51 hours \$25.00 \$1,275.00 David Dedman 51 hours \$25.00 \$1,275.00 Helen Smith 51 hours \$25.00 \$1,275.00 Nilda Mayol 48 hours \$15.00 \$720.00

Nicle Wojton (SUB) \$25.00 Kymberly Downer (SUB) \$25.00 John Eisenhower (SUB) \$25.00 Jacob Shipe (SUB) \$25.00 John Rannels (SUB) \$25.00

Southern Middle School (Funding Source- Title I Supplemental) Activity / School Improvement Plan

Bev Moyer	24 hours	\$25.00	\$600.00
Kim Epler	24 hours	\$25.00	\$600.00
Kathleen Blaum	24 hours	\$25.00	\$600.00
Linda Fredericks	24 hours	\$25.00	\$600.00
Richard MacGrady	24 hours	\$25.00	\$600.00
Chris Meyer	24 hours	\$25.00	\$600.00
Janice Eishehower	24 hours	\$25.00	\$600.00
Vernon Burkhart	24 hours	\$25.00	\$600.00

David Dedman	24 hours	\$25.00	\$600.00
Raissa Barnett	24 hours	\$25.00	\$600.00
Robert Mazzo	24 hours	\$25.00	\$600.00
Nilda Mayol	12 hours	\$25.00	\$300.00

Southern Middle School (Funding Source- Title I Supplemental & Title I SI) Activity / Principal's Academy

receiving / remove pur streamer			
Victoria Alvarez	24 hours	\$25.00	\$600.00
Amy Anders	24 hours	\$25.00	\$600.00
Brianna Angove	24 hours	\$25.00	\$600.00
Raissa Barnett	24 hours	\$25.00	\$600.00
Courtney Barth	24 hours	\$25.00	\$600.00
Dea Bassetti	24 hours	\$25.00	\$600.00
Trisha Billman	24 hours	\$25.00	\$600.00
Kathleen Blaum	24 hours	\$25.00	\$600.00
Janice Brosz	24 hours	\$25.00	\$600.00
Scott Burkhart	24 hours	\$25.00	\$600.00
Yvonne Burrell	24 hours	\$25.00	\$600.00
Priscilla Campos	24 hours	\$25.00	\$600.00
Kalise Cook	24 hours	\$25.00	\$600.00
Marsha Daubert	24 hours	\$25.00	\$600.00
Joseph Dawson	24 hours	\$25.00	\$600.00
David Dedman	24 hours	\$25.00	\$600.00
Kasey Detwiler	24 hours	\$25.00	\$600.00
Kymberly Dawson	24 hours	\$25.00	\$600.00
Jacqueline Dudash	24 hours	\$25.00	\$600.00
Daniel Egusquiza	24 hours	\$25.00	\$600.00
Janice Eisenhower	24 hours	\$25.00	\$600.00
Kim Epler	24 hours	\$25.00	\$600.00
Ruth Eustaquio	24 hours	\$25.00	\$600.00
Linda Fredericks	24 hours	\$25.00	\$600.00
Brennen Furman	24 hours	\$25.00	\$600.00
Kate Gallagher	24 hours	\$25.00	\$600.00
Barbara Gallen	24 hours	\$25.00	\$600.00
Jennifer Galvan-Wolf	24 hours	\$25.00	\$600.00
Abdul Ghani	24 hours	\$25.00	\$600.00
Ezekiel Golden	24 hours	\$25.00	\$600.00
Christina Gonzalez	24 hours	\$25.00	\$600.00
Julie Hartman	24 hours	\$25.00	\$600.00
Debbie Heilman	24 hours	\$25.00	\$600.00
Amanda Hetrick	24 hours	\$25.00	\$600.00
Janna Isbell	24 hours	\$25.00	\$600.00
Jared Kanavins	24 hours	\$25.00	\$600.00
Candice Kehres	24 hours	\$25.00	\$600.00
Eileen Klang	24 hours	\$25.00	\$600.00
Joshua Kleha	24 hours	\$25.00	\$600.00
Duane Kring	24 hours	\$25.00	\$600.00
U			

Nicole Lavia	24 hours	\$25.00	\$600.00
Terri Le	24 hours	\$25.00	\$600.00
Gwen Lunow	24 hours	\$25.00	\$600.00
Richard MacGrady	24 hours	\$25.00	\$600.00
Jennifer MacWilliam	24 hours	\$25.00	\$600.00
Joshua Matz	24 hours	\$25.00	\$600.00
Robert Mazzo	24 hours	\$25.00	\$600.00
Chris Meyer	24 hours	\$25.00	\$600.00
Cindy Miller-Aungst	24 hours	\$25.00	\$600.00
Chad Moletress	24 hours	\$25.00	\$600.00
Beverly Moyer	24 hours	\$25.00	\$600.00
Julie Pietrowski	24 hours	\$25.00	\$600.00
David Pindrock	24 hours	\$25.00	\$600.00
John Rannels	24 hours	\$25.00	\$600.00
Audrey Ricardo-Cortina	24 hours	\$25.00	\$600.00
Steven Rossignoli	24 hours	\$25.00	\$600.00
Shawn Roth	24 hours	\$25.00	\$600.00
Donna Roupp	24 hours	\$25.00	\$600.00
Nina Rowley	24 hours	\$25.00	\$600.00
Julie Rutt	24 hours	\$25.00	\$600.00
Bryan Sanguinito	24 hours	\$25.00	\$600.00
Catherine Schultz	24 hours	\$25.00	\$600.00
Jason Schwambach	24 hours	\$25.00	\$600.00
Lacey Smey	24 hours	\$25.00	\$600.00
Helen Smith	24 hours	\$25.00	\$600.00
Nancy Swope	24 hours	\$25.00	\$600.00
Julia Tramontana	24 hours	\$25.00	\$600.00
Laura Wagaman	24 hours	\$25.00	\$600.00
Adam White	24 hours	\$25.00	\$600.00
Shelby Webber	24 hours	\$25.00	\$600.00
Kristin Yeasted	24 hours	\$25.00	\$600.00
Theresa Yuhas	24 hours	\$25.00	\$600.00
Denise Stump	24 hours	\$25.00	\$600.00
Jakob Shipe	24 hours	\$25.00	\$600.00

Southern Middle School (Funding Source- Title I School Improvement) Activity / Apple Core

Amy Lincoln	24 hours	\$25.00	\$600.00
Gwen Lunow	12 hours	\$25.00	\$300.00
Jennifer MacWilliam	12 hours	\$25.00	\$300.00
Julie Pietrowski	12 hours	\$25.00	\$300.00
Janice Brosz	12 hours	\$25.00	\$300.00
Janna Isbell	12 hours	\$25.00	\$300.00
Duane Kring	12 hours	\$25.00	\$300.00
Chad Moletress	12 hours	\$25.00	\$300.00
Shawn Roth	12 hours	\$25.00	\$300.00
Christopher Meyer	12 hours	\$25.00	\$300.00

Cynthia Miller-Aungst	12 hours	\$25.00	\$300.00
Nina Rowley	12 hours	\$25.00	\$300.00
Mitch Hettinger	12 hours	\$25.00	\$300.00

Southern Middle School (Funding Source-Safe & Drug Free Money) Activity / Student Assistance Program (SAP) Team Management

Amanda Hetrick	6 hours	\$25.00	\$150.00
Julia Tramontana	6 hours	\$25.00	\$150.00
Catherine Schultz	6 hours	\$25.00	\$150.00
Kristen Yeasted	6 hours	\$25.00	\$150.00
Gwen Lunow	6 hours	\$25.00	\$150.00
Jennifer MacWilliam	6 hours	\$25.00	\$150.00

$Southern\ Middle\ School\ (Funding\ Source-\ Title\ I\ School\ Improvement)$

Activity / Easy Teach Program for 7th & 8th Grade Math

6 hours	\$25.00	\$150.00
6 hours	\$25.00	\$150.00
	6 hours	6 hours \$25.00 6 hours \$25.00

Northwest Middle School (Funding Source- EAP)

Activity / Summer Tutoring

96 hours	\$15.00	\$1,440.00
108 hrs	\$25.00	\$2,700.00
102 hrs	\$25.00	\$2,550.00
\$25.	00	
\$25.	00	
\$25.	00	
\$25.	00	
\$25.	00	
\$25.	00	
	108 hrs 102 hrs 102 hrs 102 hrs 102 hrs \$25. \$25. \$25. \$25. \$25.	108 hrs\$25.00102 hrs\$25.00102 hrs\$25.00102 hrs\$25.00

Northwest Middle School (Funding Source- Title I)

Activity / Summer Tutoring

Martin Schlosser	102 hrs	\$25.00	\$2,550.00
Luis Estrada	102 hrs	\$25.00	\$2,550.00
Lori Lacv	102 hrs	\$25.00	\$2,550.00

Julie Yukaitis	102 hrs	\$25.00	\$2,550.00
Laura Fisher	102 hrs	\$25.00	\$2,550.00
Ryan Shomo	\$25.00		
Kim Yiengst	\$25.0		
Adrian Schaeffer	\$25.00		
Lisa Reber	\$25.0	00	
Michelle Pickup	\$25.00		
Michael Perez	\$25.0	00	

Northwest Middle School (Funding Source- Title I Supplemental) Activity / School Improvement Plan

Karen MacGrady	24 hours	\$25.00	\$600.00
Kim Wagner	24 hours	\$25.00	\$600.00
Carol Squibb	24 hours	\$25.00	\$600.00
Shannon Darlington	24 hours	\$25.00	\$600.00
Robert Dowling	24 hours	\$25.00	\$600.00
David Gilmore	24 hours	\$25.00	\$600.00
Vicki Aquila	24 hours	\$25.00	\$600.00
Karen Adams	24 hours	\$25.00	\$600.00
Ramon King	24 hours	\$25.00	\$600.00
Dave Marrella	24 hours	\$25.00	\$600.00
Gerald Tyson	24 hours	\$25.00	\$600.00
Robert Miller	24 hours	\$25.00	\$600.00

Northwest Middle School (Funding Source- Title I Supplemental) Activity / Principal's Academy

Karen Adam	6 hours	\$25.00	\$150.00
Andrew Altland	6 hours	\$25.00	\$150.00
Vicki Aquila	6 hours	\$25.00	\$150.00
Robinette Armstrong	6 hours	\$25.00	\$150.00
Carl Bard	6 hours	\$25.00	\$150.00
Michelle Baver	6 hours	\$25.00	\$150.00
Chris Becker	6 hours	\$25.00	\$150.00
Jeff Berger	6 hours	\$25.00	\$150.00
Colleen Candelaria	6 hours	\$25.00	\$150.00
Allison Clark-Barnett	6 hours	\$25.00	\$150.00
Kalise Cook	6 hours	\$25.00	\$150.00
Kyle Crater	6 hours	\$25.00	\$150.00
Ryan Cuervas	6 hours	\$25.00	\$150.00
Shannon Darlington	6 hours	\$25.00	\$150.00
Jonathon Deem	6 hours	\$25.00	\$150.00
Robert Dowling	6 hours	\$25.00	\$150.00
Colleen Dura	6 hours	\$25.00	\$150.00
Kay Endres	6 hours	\$25.00	\$150.00
Luis Estrada	6 hours	\$25.00	\$150.00
Megan Faust	6 hours	\$25.00	\$150.00
Laura Fisher	6 hours	\$25.00	\$150.00

Bradley Greth	6 hours	\$25.00	\$150.00
Steve Griesmer	6 hours	\$25.00	\$150.00
Terry Griffith	6 hours	\$25.00	\$150.00
Nathan Hall	6 hours	\$25.00	\$150.00
Meredith Heming	6 hours	\$25.00	\$150.00
Cindy Jacob	6 hours	\$25.00	\$150.00
Kevin Kalbach	6 hours	\$25.00	\$150.00
Laura Kauffman	6 hours	\$25.00	\$150.00
Holly Keown	6 hours	\$25.00	\$150.00
Lori Lacy	6 hours	\$25.00	\$150.00
Aimee Lausch	6 hours	\$25.00	\$150.00
Erik Leeds	6 hours	\$25.00	\$150.00
Karen MacGrady	6 hours	\$25.00	\$150.00
Gary Maga	6 hours	\$25.00	\$150.00
Kathleen Manzella	6 hours	\$25.00	\$150.00
Mishael Mathias	6 hours	\$25.00	\$150.00
Robert Miller	6 hours	\$25.00	\$150.00
Doug Moyer	6 hours	\$25.00	\$150.00
Joe Okonski	6 hours	\$25.00	\$150.00
Mike Perez	6 hours	\$25.00	\$150.00

Northwest Middle School (Funding Source- Title I School Improvement) Activity / Data Research

Robert Dowling 10 hours \$25.00 \$250.00

 $Northwest\ Middle\ School\ (Funding\ Source-\ Title\ I\ School\ Improvement\)$

Activity / Calendar Events-School Wide Planning

 Karen MacGrady
 8 hours
 \$25.00
 \$200.00

 Robert Dowling
 8 hours
 \$25.00
 \$200.00

 Lisa Reber
 8 hours
 \$25.00
 \$200.00

Northwest Middle School (Funding Source- Title I School Improvement) Activity / Meet With Team Leaders

j ,			
Aimee Lausch	6 hours	\$25.00	\$150.00
Chris Becker	6 hours	\$25.00	\$150.00
Carol Squibb	6 hours	\$25.00	\$150.00
Terry Griffith	6 hours	\$25.00	\$150.00
Brad Greth	6 hours	\$25.00	\$150.00
Robinette Armstrong	6 hours	\$25.00	\$150.00
Karen MacGrady	6 hours	\$25.00	\$150.00
Robert Dowling	6 hours	\$25.00	\$150.00
Cindy Jacob	6 hours	\$25.00	\$150.00
Karen Adams	6 hours	\$25.00	\$150.00

Northwest Middle School (Funding Source- Title I School Improvement) Activity / Data Reevaluate Report

Karen MacGrady	3 hours	\$25.00	\$75.00
Colleen Candelaria	3 hours	\$25.00	\$75.00

Colleen Dura	3 hours	\$25.00	\$75.00
Shannon Darlington	3 hours	\$25.00	\$75.00
Luis Estrada	3 hours	\$25.00	\$75.00
Megan Faust	3 hours	\$25.00	\$75.00
Steve Griesemer	3 hours	\$25.00	\$75.00
Tom Ronco	3 hours	\$25.00	\$75.00
Jade Sedoti	3 hours	\$25.00	\$75.00
Kim Yiengst	3 hours	\$25.00	\$75.00
Kalise Cook	3 hours	\$25.00	\$75.00

Northwest Middle School (Funding Source- Title I School Improvement) **Activity / Team Meeting to Organize Data**

Julie Yakiatis	10 hours	\$25.00	\$250.00
Robinette Armstrong	10 hours	\$25.00	\$250.00
Robert Miller	10 hours	\$25.00	\$250.00
Aimee Lausch	10 hours	\$25.00	\$250.00

Northwest Middle School (Funding Source- Title I School Improvement) **Activity / Scheduling Committee**

Cynthia Jacob	6 hours	\$25.00	\$150.00
Robert Dowling	6 hours	\$25.00	\$150.00
Karen MacGrady	6 hours	\$25.00	\$150.00
Carol Squibb	6 hours	\$25.00	\$150.00
Terry Griffith	6 hours	\$25.00	\$150.00

Northwest Middle School (Funding Source- Title I School Improvement) **Activity / PSSA Prep Planning Committee**

<i>J</i> ,	U		
Lisa Reber	3 hours	\$25.00	\$150.00
Laura Fisher	3 hours	\$25.00	\$150.00
Aimee Lausch	3 hours	\$25.00	\$150.00
Joshua Yoffee	3 hours	\$25.00	\$150.00
Robert Dowling	3 hours	\$25.00	\$150.00
Shannon Darlington	3 hours	\$25.00	\$150.00
Dave Marrella	3 hours	\$25.00	\$150.00
Marty Schlosser	3 hours	\$25.00	\$150.00

Northeast Middle School (Funding Source- EAP)

Activity / Summer Tutoring

Trees of a summer recorning			
Lisa Comly	52 hours	\$25.00	\$1,300.00
Jessica Myers	52 hours	\$25.00	\$1,300.00
Anthony Marulla	52 hours	\$25.00	\$1,300.00
Robin Banks	52 hours	\$21.00	\$1,092.00
Tara Turner	52 hours	\$25.00	\$1,300.00
Linda Criss	52 hours	\$25.00	\$1,300.00
Samaira Cabral	48 hours	\$15.00	\$720.00
Katherine Igusky	56 hours	\$25.00	\$1,400.00

Northeast Middle School (Funding Source- Title I Supplemental)

Activity / School Improvement Plan

Mike Paulson	24 hours	\$25.00	\$600.00
Robert Deininger	24 hours	\$25.00	\$600.00
Donna Marburger	24 hours	\$25.00	\$600.00
Katherine Igusky	24 hours	\$25.00	\$600.00
Denise Solecki	24 hours	\$25.00	\$600.00
Vicky Halferty	24 hours	\$25.00	\$600.00
Jean North	24 hours	\$25.00	\$600.00
Rachelle Sheidy	24 hours	\$25.00	\$600.00
Tara Miller	24 hours	\$25.00	\$600.00
Stacey Eiler	24 hours	\$25.00	\$600.00

Northeast Middle School (Funding Source-Title I Supplemental Title I SI))

Activity / Principal's Academy

Stephanie Adam	12 hours	\$25.00	\$300.00
Cindy Albrecht	12 hours	\$25.00	\$300.00
John Baker	12 hours	\$25.00	\$300.00
Kathryn Ballein	12 hours	\$25.00	\$300.00
Jeanne Barber	12 hours	\$25.00	\$300.00
Matthew Barber	12 hours	\$25.00	\$300.00
Dawn Bates	12 hours	\$25.00	\$300.00
Tracey Briskey	12 hours	\$25.00	\$300.00
Jennifer Calhoun	12 hours	\$25.00	\$300.00
Ingrid Christman	12 hours	\$25.00	\$300.00
Lisa Comly	12 hours	\$25.00	\$300.00
Linda Criss	12 hours	\$25.00	\$300.00
Minerva Cruz	12 hours	\$25.00	\$300.00
Robert Deininger	12 hours	\$25.00	\$300.00
Faith Delp	12 hours	\$25.00	\$300.00
Jessica Di Blasi-Myers	12 hours	\$25.00	\$300.00
Courtney Diffenderfer	12 hours	\$25.00	\$300.00
Michele Ehrhart	12 hours	\$25.00	\$300.00
Stacey Eiler	12 hours	\$25.00	\$300.00
Marc Ermold	12 hours	\$25.00	\$300.00
Shannon Feeney-Hoffmaster	12 hours	\$25.00	\$300.00
Karen Fineran	12 hours	\$25.00	\$300.00
Gwyn Focht	12 hours	\$25.00	\$300.00

Frank A. Glembocki 12 hours \$25.00 \$300.00

Amanda Greenly 12 hours \$25.00 \$300.00

Tim Gross 12 hours \$25.00 \$300.00

Victoria Halferty 12 hours \$25.00 \$300.00

Donald Helwig 12 hours \$25.00 \$300.00

David Himes 12 hours \$25.00 \$300.00

Bernadette Himmelberger 12 hours \$25.00 \$300.00

Ian Hirschtritt 12 hours \$25.00 \$300.00

Katherine Igusky 12 hours \$25.00 \$300.00

Dan Lavia 12 hours \$25.00 \$300.00

Brad Livingston 12 hours \$25.00 \$300.00

Kim Locke 12 hours \$25.00 \$300.00

Maria Lodek 12 hours \$25.00 \$300.00

Donna Marburger 12 hours \$25.00 \$300.00

Anthony Marulla 12 hours \$25.00 \$300.00

Jen Mazur 12 hours \$25.00 \$300.00

Thomas Milhenny 12 hours \$25.00 \$300.00

Craig Miller 12 hours \$25.00 \$300.00

Tara Miller 12 hours \$25.00 \$300.00

Amanda Moser 12 hours \$25.00 \$300.00

Jessica Myers 12 hours \$25.00 \$300.00

Daniel Noll 12 hours \$25.00 \$300.00

Jean North 12 hours \$25.00 \$300.00

Ryan Palm 12 hours \$25.00 \$300.00

Mike Paulson 12 hours \$25.00 \$300.00

Allison Paxson 12 hours \$25.00 \$300.00

Lynn Pereira 12 hours \$25.00 \$300.00

Sally Pitcherello 12 hours \$25.00 \$300.00

David Renninger 12 hours \$25.00 \$300.00

Michael Riley 12 hours \$25.00 \$300.00

Michael Ruh 12 hours \$25.00 \$300.00

Justine Sciumbata 12 hours \$25.00 \$300.00

Nicole Seibert 12 hours \$25.00 \$300.00

Megan Sheeler 12 hours \$25.00 \$300.00

Rachelle Sheidy 12 hours \$25.00 \$300.00

Carol Simonetti 12 hours \$25.00 \$300.00

Denise M. Solecki 12 hours \$25.00 \$300.00

William Sterner 12 hours \$25.00 \$300.00

Susan Tonnelslan 12 hours \$25.00 \$300.00

Tara Turner 12 hours \$25.00 \$300.00

Andrew Wadsworth 12 hours \$25.00 \$300.00

Nelson Weber 12 hours \$25.00 \$300.00

John A. Wenrich 12 hours \$25.00 \$300.00

Susan Wesley 12 hours \$25.00 \$300.00

Northeast Middle School (Funding Source- Title I School Improvement) Activity / Professional Learning Community Meetings

Tara Turner 6 hours \$25.00 \$150.00

Frank Glembocki 6 hours \$25.00 \$150.00

Anthony Marulla 6 hours \$25.00 \$150.00

Susan Tonneslan 6 hours \$25.00 \$150.00

Courtney Diffenderfer 6 hours \$25.00 \$150.00

Michele Ehrhart 6 hours \$25.00 \$150.00

Stacey Eiler 6 hours \$25.00 \$150.00

Karen Fineran 6 hours \$25.00 \$150.00

Nelson Weber 6 hours \$25.00 \$150.00

Stephanie Adam 6 hours \$25.00 \$150.00

Marc Ermold 6 hours \$25.00 \$150.00

Maria Lodek 6 hours \$25.00 \$150.00

Ryan Palm 6 hours \$25.00 \$150.00

Dawn Bates 6 hours \$25.00 \$150.00

Jessica Diblasi-Myers 6 hours \$25.00 \$150.00

Shannon Feeney-Hoffmaster 6 hours \$25.00 \$150.00

Amanda Moser 6 hours \$25.00 \$150.00

Vicky Halferty 6 hours \$25.00 \$150.00

Rachelle Sheidy 6 hours \$25.00 \$150.00

Megan Sheeler 6 hours \$25.00 \$150.00

Donald Helwig 6 hours \$25.00 \$150.00

Tara Miller 6 hours \$25.00 \$150.00

Michael Paulson 6 hours \$25.00 \$150.00

Andrew Wadsworth 6 hours \$25.00 \$150.00

Linda Criss 6 hours \$25.00 \$150.00

Jean North 6 hours \$25.00 \$150.00

Gwyn Focht 6 hours \$25.00 \$150.00

Jessica Myers 6 hours \$25.00 \$150.00

David Renninger 6 hours \$25.00 \$150.00

Susan Wesley 6 hours \$25.00 \$150.00

Jeanne Barber 6 hours \$25.00 \$150.00

Daniel Noll 6 hours \$25.00 \$150.00

Justine Sciumbata 6 hours \$25.00 \$150.00

William Sterner 6 hours \$25.00 \$150.00

John Baker 6 hours \$25.00 \$150.00

Matthew Barber 6 hours \$25.00 \$150.00

Michael Ruh 6 hours \$25.00 \$150.00

Nicole Seibert 6 hours \$25.00 \$150.00

Lisa Comly 6 hours \$25.00 \$150.00

Linda Pereira 6 hours \$25.00 \$150.00

Michael Riley 6 hours \$25.00 \$150.00

Denise Solecki 6 hours \$25.00 \$150.00

Katherine Igusky 6 hours \$25.00 \$150.00

Tracy Briskey 6 hours \$25.00 \$150.00

Northeast Middle School (Funding Source- Title I School Improvement) Activity / Reading Edge Maintenance

Vicky Halferty 6 hours \$25.00 \$150.00

Jean North 6 hours \$25.00 \$150.00

Northeast Middle School (Funding Source- Title I School Improvement) Activity / Math Media Development

Mike Paulson 18 hours \$25.00 \$450.00

Rachelle Sheidy 18 hours \$25.00 \$450.00

Jessica Diblasi-Myers 18 hours \$25.00 \$450.00

Northeast Middle School (Funding Source- Title I School Improvement)

Activity / Reading Media Development

Vicky Halferty 6 hours \$25.00 \$150.00 Jean North 6 hours \$25.00 \$150.00

Rachelle Sheidy 6 hours \$25.00 \$150.00

Northeast Middle School (Funding Source- District Funds) Activity / Transition Management

Amanda Moser 6 hours \$25.00 \$150.00

Jessica Diblasi-Myers 6 hours \$25.00 \$150.00

Dawn Bates 6 hours \$25.00 \$150.00

Shannon Feeney-Hoffmaster 6 hours \$25.00 \$150.00

Megan Sheeler 6 hours \$25.00 \$150.00

Tara Turner 6 hours \$25.00 \$150.00

Tracy Briskey 6 hours \$25.00 \$150.00

Kimberly Locke 6 hours \$25.00 \$150.00

Amanda Greenly 6 hours \$25.00 \$150.00

Southwest Middle School (Funding Source-EAP)

Activity / Summer Tutoring

Bill Fehr 56 hours \$25.00 \$1,400.00

Shannon Carl 52 hours \$25.00 \$1,300.00

Mike Minnich 52 hours \$25.00 \$1,300.00

Kristin Lebo 52 hours \$25.00 \$1,300.00

James Wright 52 hours \$25.00 \$1,300.00

Luz Colon 48 hours \$15.00 \$720.00

Susan Bennett (SUB) \$25.00

Christine Horvath (SUB) \$25.00

Deborah Peterson (SUB) \$25.00

Southwest Middle School (Funding Source-Title I Supplemental)

Activity / School Improvement Plan

Barbara Speicher 24 hours \$25.00 \$600.00

Nancy Graham 24 hours \$25.00 \$600.00

Mike Preletz 24 hours \$25.00 \$600.00

Carol Tornetta 24 hours \$25.00 \$600.00

Pat Santee 24 hours \$25.00 \$600.00

Mark Preletz 24 hours \$25.00 \$600.00

Tom Ward 24 hours \$25.00 \$600.00

Ray Pedraza 24 hours \$25.00 \$600.00

Linda Freeman 24 hours \$25.00 \$600.00

Estela Rivera 24 hours \$25.00 \$600.00

Southwest Middle School (Funding Source-Title I School Improvement)

Activity / Summer Committee Reading Edge

Nancy Graham 12 hours \$25.00 \$300.00

Michael Preletz 12 hours \$25.00 \$300.00

Laura Morgan 12 hours \$25.00 \$300.00

Pat Santee 12 hours \$25.00 \$300.00

Southwest Middle School (Funding Source- Title I School Improvement) Activity / MATH Pre-Algebra

Barbara Speicher 12 hours \$25.00 \$300.00

Christine Galantuomo 12 hours \$25.00 \$300.00

Jamie Naftzinger 12 hours \$25.00 \$300.00

Lauren Skorpski 12 hours \$25.00 \$300.00

Southwest Middle School (Funding Source- Title I School Improvement)

Activity / MATH Algebra I

Barbara Speicher 12 hours \$25.00 \$300.00

Jamie Naftzinger 12 hours \$25.00 \$300.00

Shannon Carl 12 hours \$25.00 \$300.00

Southwest Middle School (Funding Source- Title I School Improvement) Activity / Summer Committee Social Studies

Mark J. Preletz 15 hours \$25.00 \$375.00

James Wright 15 hours \$25.00 \$375.00

David Siegfried 15 hours \$25.00 \$375.00

Jill Figner 15 hours \$25.00 \$375.00

Southwest Middle School (Funding Source- Title I School Improvement)

Activity / Summer Committee Science

William Fehr 15 hours \$25.00 \$375.00

Kristin Lebo 15 hours \$25.00 \$375.00

Tom Ward 15 hours \$25.00 \$375.00

Jessica Deluzio 15 hours \$25.00 \$375.00

Communication & Technology Gateway (Funding Source- EAP)

Activity / Summer Tutoring

Matt Barrell 52 hours \$25.00 \$1,300.00

Stewart Miller 52 hours \$25.00 \$1,300.00

Darren Anastasio 52 hours \$25.00 \$1,300.00

Zach Focht 52 hours \$25.00 \$1,300.00

Rebecca Morrell 52 hours \$21.00 \$1,092.00

Rebecca Mohler 52 hours \$25.00 \$1,300.00

Kristine Donnelly 52 hours \$25.00 \$1,300.00

Tara Focht 56 hours \$25.00 \$1,400.00

Iris Saez 48 hours \$15.00 \$720.00

Rebecca Smith 52 hours \$25.00 \$1,300.00

Com & Tech Gateway (Funding Source- Title I Supplemental)

Activity / Core Improvement Team

Tara Focht 12 hours \$25.00 \$300.00

Tiffany Shomo 12 hours \$25.00 \$300.00

Iris Saez 12 hours \$25.00 \$300.00

Zach Focht 12 hours \$25.00 \$300.00

Marcia McMahan 12 hours \$25.00 \$300.00 Josh Noel 12 hours \$25.00 \$300.00 Chris Johnston 12 hours \$25.00 \$300.00

Com & Tech Gateway (Funding Source- Title I Supplemental) Activity / Parent Involvement Subcommittee

Iris Saez 4 hours \$25.00 \$100.00

Donna Fanelli 4 hours \$25.00 \$100.00

Rebecca Mohler 4 hours \$25.00 \$100.00

Darren Anastasio 4 hours \$25.00 \$100.00

Zach Focht 4 hours \$25.00 \$100.00

Tara Focht 4 hours \$25.00 \$100.00

Heneris Peña 4 hours \$25.00 \$100.00

Com & Tech Gateway (Funding Source- Title I Supplemental) Activity / Special Education/ELA Subcommittee

Marcia McMahan 10 hours \$25.00 \$250.00 Darren Anastasio 10 hours \$25.00 \$250.00 Stewart Miller 10 hours \$25.00 \$250.00 Victor Jacobs 10 hours \$25.00 \$250.00 Tara Focht 10 hours \$25.00 \$250.00 Tiffany Shomo 10 hours \$25.00 \$250.00 Heneris Peña 10 hours \$25.00 \$250.00

Com & Tech Gateway (Funding Source- Title I)

Activity / Technology Subcommittee Matt Barrell 12 hours \$25.00 \$300.00

Donna Fanelli 12 hours \$25.00 \$300.00

Rebecca Mohler 12 hours \$25.00 \$300.00

Colette Rathman 12 hours \$25.00 \$300.00

Nicole Hanlon 12 hours \$25.00 \$300.00

Jacqueline Ellis 12 hours \$25.00 \$300.00

Josh Noel 12 hours \$25.00 \$300.00

Zach Focht 12 hours \$25.00 \$300.00

Zoe DeHart 12 hours \$25.00 \$300.00

Darren Anastasio 12 hours \$25.00 \$300.00

Marica McMahan 12 hours \$25.00 \$300.00

Com & Tech Gateway (Funding Source- Title I) Activity / Reading Edge and Data Room Committee

Tara Focht 10 hours \$25.00 \$250.00

Performing Arts Gateway (Funding Source- EAP) Activity / Summer Tutoring

Jennifer Gagliardi 51 hours \$25.00 \$1,275.00 Kelly Bucca 51 hours \$25.00 \$1,275.00 Lisa Fabian 63 hours \$25.00 \$1,575.00

Marilyn Santiago 48 hours \$15.00 \$720.00

Performing Arts Gateway (Funding Source- Title I)

Activity / Summer Tutoring

Jennifer Gagliardi 8 ½ hrs \$25.00 \$212.50

Kelly Bucca 8 ½ hrs \$25.00 \$212.50

Lisa Fabian 10 ½ hrs \$25.00 \$262.50

Marilyn Santiago 8 hours \$15.00 \$120.00

Performing Arts Gateway (Funding Source- Title I Supplemental)

Activity / School Improvement Plan

Edwina Colon-Vazquez 24 hours \$25.00 \$600.00

Dennis Luckenbill 24 hours \$25.00 \$600.00

Jennifer Gagliardi 24 hours \$25.00 \$600.00

Peggy Cawley 24 hours \$25.00 \$600.00

Nancy Kepner 24 hours \$25.00 \$600.00

Lisa Fabian 24 hours \$25.00 \$600.00

Performing Arts Gateway (Funding Source- Title I)

Activity / Wellness Initiative

Lauren Reagan 9 hours \$25.00 \$175.00

Christine Schuler 9 hours \$25.00 \$175.00

Josh Taylor 9 hours \$25.00 \$175.00

Terry Koch 9 hours \$25.00 \$175.00

Daisy Rios 9 hours \$25.00 \$175.00

Jackie Botch 9 hours \$25.00 \$175.00

Jennifer Gagliardi 9 hours \$25.00 \$175.00

Kate Okonski 9 hours \$25.00 \$175.00

Performing Arts Gateway (Funding Source- Title I)

Activity / Protocol Using Anchors "Time for Kids"

Edwina Colon-Vazquez 15 hours \$25.00 \$375.00

Barbara Hoffman 15 hours \$25.00 \$375.00

Jackie Botch 15 hours \$25.00 \$375.00

Lisa Fabian 15 hours \$25.00 \$375.00

Performing Arts Gateway (Funding Source- Title I)

Activity / Transition Management

Barbara Chambers 8 hours \$25.00 \$200.00

Kate Okonski 8 hours \$25.00 \$200.00

Peggy Cawley 8 hours \$25.00 \$200.00

Carol Moore 8 hours \$25.00 \$200.00

Agriculture Science & Ecology (Funding Source- EAP)

Activity / Summer Tutoring

Heather Foster 76 hours \$25.00 \$1,900.00

Shayla Bradley 52 hours \$25.00 \$1,300.00

Jesse Weider 52 hours \$21.00 \$1,092.00 Lyn Olivencia 48 hours \$15.00 \$720.00

Agriculture Science & Ecology (Funding Source-Title I Supplemental) Activity / School Improvement Plan

Elsie Szablowski 24 hours \$25.00 \$600.00

Angela Henry 24 hours \$25.00 \$600.00

Melissa Hooper 24 hours \$25.00 \$600.00

Shayla Bradley 24 hours \$25.00 \$600.00

Reanna Santarelli 24 hours \$25.00 \$600.00

Ryan Manbeck 24 hours \$25.00 \$600.00

Belinda Horner 24 hours \$25.00 \$600.00

Agriculture Science & Ecology (Funding Source-Title I Supplemental) Activity / Principal's Academy

Lindsey Posch 6 hours \$25.00 \$150.00

Steve Rapp 6 hours \$25.00 \$150.00

Arron Shutter 6 hours \$25.00 \$150.00

Starr Cooper-Fleming 6 hours \$25.00 \$150.00

Mike Adam 6 hours \$25.00 \$150.00

Reanna Santarelli 6 hours \$25.00 \$150.00

Ryan Oberly 6 hours \$25.00 \$150.00

Mike Santarelli 6 hours \$25.00 \$150.00

Heather Foster 6 hours \$25.00 \$150.00

Gloria Friend 6 hours \$25.00 \$150.00

Belinda Horner 6 hours \$25.00 \$150.00

Angela Henry 6 hours \$25.00 \$150.00

Melissa Hooper 6 hours \$25.00 \$150.00

Kristen Manwiller 6 hours \$25.00 \$150.00

Melanie Miller 6 hours \$25.00 \$150.00

Jill Faber 6 hours \$25.00 \$150.00

Shayla Bradley 6 hours \$25.00 \$150.00

Shelly Kroenig 6 hours \$25.00 \$150.00

Danielle Fleck 6 hours \$25.00 \$150.00

Jonathan Clouser 6 hours \$25.00 \$150.00

Elsie Szablowski 6 hours \$25.00 \$150.00

Ryan Manbeck 6 hours \$25.00 \$150.00

Zoe Dehart 6 hours \$25.00 \$150.00

Ashely Allen 6 hours \$25.00 \$150.00

Lynn Carlson 6 hours \$25.00 \$150.00

Agriculture Science & Ecology (Funding Source- Title I)

Activity / Teachers will Collaborate to Create Reading Assessment

Lindsey Posch 12 hours \$25.00 \$300.00

Steve Rapp 12 hours \$25.00 \$300.00

Reanna Santarelli 12 hours \$25.00 \$300.00

Ryan Oberly 12 hours \$25.00 \$300.00

Mike Adam 12 hours \$25.00 \$300.00 Shayla Bradley 12 hours \$25.00 \$300.00 Jill Faber 12 hours \$25.00 \$300.00 Arron Shutter 12 hours \$25.00 \$300.00 Mike Santarelli 12 hours \$25.00 \$300.00 Belinda Horner 12 hours \$25.00 \$300.00 Angela Henry 12 hours \$25.00 \$300.00 Melissa Hooper 12 hours \$25.00 \$300.00 Kristen Manwiller 12 hours \$25.00 \$300.00

Agriculture Science & Ecology (Funding Source-Title I) Activity / Transition Management

Melissa Hooper 24 hours \$25.00 \$600.00 Angela Henry 24 hours \$25.00 \$600.00 Shayla Bradley 24 hours \$25.00 \$600.00 Lindsey Posch 24 hours \$25.00 \$600.00 Belinda Horner 24 hours \$25.00 \$600.00 Reanna Santarelli (SUB) \$25.00

IBWL Gateway (Funding Source- EAP) Activity / Summer Tutoring

Karen Hertzog 54 hours \$25.00 \$1,350.00 Karen Kuczawa 51 hours \$25.00 \$1,275.00 Evan Jack 51 hours \$25.00 \$1,275.00 Amy Heist 51 hours \$25.00 \$1,275.00 Noemi Rivera 51 hours \$25.00 \$1,275.00 Diana Bilardo 51 hours \$25.00 \$1,275.00 Alex Morales 48 hours \$15.00 \$720.00 Karen Hause (SUB) \$25.00 Esme Santiago (SUB) \$25.00 Jennifer Koch (SUB) \$25.00

IBWL Gateway (Funding Source-Title I Supplemental) Activity / School Improvement Plan

Maria Encarnacion 24 hours \$25.00 \$600.00 Mary Ellen Breidegam 24 hours \$25.00 \$600.00 Diana Bilardo 24 hours \$25.00 \$600.00 Stacy Starry 24 hours \$25.00 \$600.00 Karen Hause 24 hours \$25.00 \$600.00

IBWL Gateway (Funding Source-District Funds) Activity / Differentiation for Special Ed. Students

Diana Bilardo 5 hours \$25.00 \$125.00 Pamela Rojas 5 hours \$25.00 \$125.00 Karen Hertzog 5 hours \$25.00 \$125.00 Maria Encarnacion 5 hours \$25.00 \$125.00 Yoheli Ortiz 5 hours \$25.00 \$125.00

Alex Morales 5 hours \$25.00 \$125.00 Karen MacGrady 5 hours \$25.00 \$125.00

IBWL Gateway (Funding Source- District Funds)

Activity / Social Studies State Standards

Ivy Bentz 4 hours \$25.00 \$100.00

Amy Heist 4 hours \$25.00 \$100.00

Mary Ellen Breidegam 4 hours \$25.00 \$100.00

Deborah Campbell-Ferrar 4 hours \$25.00 \$100.00

IBWL Gateway (Funding Source- Title III)

Activity / Transition for Newcomer's - Limited Language Support

Noemi Rivera 12 hours \$25.00 \$300.00

Stacy Starry 12 hours \$25.00 \$300.00

Esme Santiago 12 hours \$25.00 \$300.00

Alex Morales 12 hours \$25.00 \$300.00

EXCEL (Funding Source- District Funds)

Activity / Teachers to Teachers Professional Development 2010-2011

Luke Gammache 18 hours \$25.00 \$450.00

Steven Dietrich 18 hours \$25.00 \$450.00

Josh Lambert 18 hours \$25.00 \$450.00

Andrew Kidd 18 hours \$25.00 \$450.00

Evan Jack 18 hours \$25.00 \$450.00

Paul Gant 18 hours \$25.00 \$450.00

Rebecca Titus 18 hours \$25.00 \$450.00

EXCEL (Funding Source- District Funds)

Activity / Transition Planning

Crissta Worman 18 hours \$25.00 \$450.00

Amy Alvarez 18 hours \$25.00 \$450.00

Alyssa Rohrbach 18 hours \$25.00 \$450.00

Christopher Lynch 18 hours \$25.00 \$450.00

Nicole Vega 18 hours \$25.00 \$450.00

Reading INT. HS-CITADEL (Funding Source- District Funds)

Activity / Summer String Camp 2010

Bradley K. Richards 65 hours \$25.00 \$1,625.00

Reading INT. HS-CITADEL (Funding Source- Title I Supplemntal)

Activity / School Improvement Plan

Brian Biallas 24 hours \$25.00 \$600.00

Jennifer Brumbach 24 hours \$25.00 \$600.00

Chris Dailey 24 hours \$25.00 \$600.00

Diane Duffy-Laba 24 hours \$25.00 \$600.00

Robert Grubb 24 hours \$25.00 \$600.00

Elizabeth Miller 24 hours \$25.00 \$600.00

Jasmin Sanchez-Lopez 24 hours \$25.00 \$600.00

Michelle Scianna 24 hours \$25.00 \$600.00

Mike Stoudt 24 hours \$25.00 \$600.00

Shannon Spohn 24 hours \$25.00 \$600.00

Dawn Stetzler 24 hours \$25.00 \$600.00

Kelly Rupp 24 hours \$25.00 \$600.00

Gail Dawson-White 24 hours \$25.00 \$600.00

Michele Merkel 24 hours \$25.00 \$600.00

Paul Drums 24 hours \$25.00 \$600.00

Leslie Helf 24 hours \$25.00 \$600.00

Reading INT. HS-CITADEL (Funding Source-Title I Supplemental & SI)

Activity / Continuation of Learning-Focus

Nayda Alvarez 12 hours \$25.00 \$300.00

Ellen Arnold 12 hours \$25.00 \$300.00

Karen Balk 12 hours \$25.00 \$300.00

Robert Bastian 12 hours \$25.00 \$300.00

Michael Beiler 12 hours \$25.00 \$300.00

John Benson Jr. 12 hours \$25.00 \$300.00

Randy Bialas 12 hours \$25.00 \$300.00

Brian Biallas 12 hours \$25.00 \$300.00

Marcie Bieber 12 hours \$25.00 \$300.00

Millyana Bittner 12 hours \$25.00 \$300.00

Kristi Bricker 12 hours \$25.00 \$300.00

Jennifer Brumbach 12 hours \$25.00 \$300.00

Rachal Bugay 12 hours \$25.00 \$300.00

Donald Byrne 12 hours \$25.00 \$300.00

Michelle Christie 12 hours \$25.00 \$300.00

Dwayne Clemens 12 hours \$25.00 \$300.00

Wendy Cooci 12 hours \$25.00 \$300.00

Alan Cook 12 hours \$25.00 \$300.00

Dusten Cook 12 hours \$25.00 \$300.00

David Craft 12 hours \$25.00 \$300.00

Kathleen Creelman 12 hours \$25.00 \$300.00

Chris Dailey 12 hours \$25.00 \$300.00

Mandy Deininger 12 hours \$25.00 \$300.00

Charles Dicarne 12 hours \$25.00 \$300.00

Cristin Dillion 12 hours \$25.00 \$300.00

Daniel Dismuke 12 hours \$25.00 \$300.00

Raymond Dobisesky 12 hours \$25.00 \$300.00

Christine Doig 12 hours \$25.00 \$300.00

Diane Duffy-Laba 12 hours \$25.00 \$300.00

Amber ElGamal 12 hours \$25.00 \$300.00

Richard Endy 12 hours \$25.00 \$300.00

Judith Frantz 12 hours \$25.00 \$300.00

Harry Freeman 12 hours \$25.00 \$300.00

Erin Gauker 12 hours \$25.00 \$300.00

Jennifer Gavin 12 hours \$25.00 \$300.00

Debbie George 12 hours \$25.00 \$300.00

Tonya Gilmore 12 hours \$25.00 \$300.00

Patricia Glogg 12 hours \$25.00 \$300.00

Debbie Greusel 12 hours \$25.00 \$300.00

Robert Grubb 12 hours \$25.00 \$300.00

Hilary Haubrich 12 hours \$25.00 \$300.00

Richard Heffner 12 hours \$25.00 \$300.00

Kristen Heim 12 hours \$25.00 \$300.00

Christine Hosler 12 hours \$25.00 \$300.00

Susan Hubbell 12 hours \$25.00 \$300.00

Thomas Hughes 12 hours \$25.00 \$300.00

Tsehay Jackson 12 hours \$25.00 \$300.00

Christy Jacob 12 hours \$25.00 \$300.00

Ginger Johnson 12 hours \$25.00 \$300.00

Susan Jones 12 hours \$25.00 \$300.00

Phillip Kearney 12 hours \$25.00 \$300.00

Nicole Kern 12 hours \$25.00 \$300.00

Stefanie Kline 12 hours \$25.00 \$300.00

Kelly Knapper 12 hours \$25.00 \$300.00

Ryan Knox 12 hours \$25.00 \$300.00

Geraldine Korenda 12 hours \$25.00 \$300.00

Greg Kosciolek 12 hours \$25.00 \$300.00

Fanda Kramer 12 hours \$25.00 \$300.00

Alicia Kutz 12 hours \$25.00 \$300.00

Andrea Lillo-Vega 12 hours \$25.00 \$300.00

M. Lindo-Blake 12 hours \$25.00 \$300.00

Christopher Lis 12 hours \$25.00 \$300.00

Kristine Marino 12 hours \$25.00 \$300.00

Beatrice Martinez-Crespo 12 hours \$25.00 \$300.00

Carol McDonald 12 hours \$25.00 \$300.00

Kate McKee 12 hours \$25.00 \$300.00

Michael Metzger 12 hours \$25.00 \$300.00

Elizabeth Miller 12 hours \$25.00 \$300.00

Rodney Miller 12 hours \$25.00 \$300.00

Tara Monahan 12 hours \$25.00 \$300.00

Laura Monteiro 12 hours \$25.00 \$300.00

Michelle Munteanu 12 hours \$25.00 \$300.00

Nathan Munz 12 hours \$25.00 \$300.00

Jennifer Oakes 12 hours \$25.00 \$300.00

Janet Opalinski 12 hours \$25.00 \$300.00

Scott Oplinger 12 hours \$25.00 \$300.00

Jacabed Ortiz-Robles 12 hours \$25.00 \$300.00

Bryan Otruba 12 hours \$25.00 \$300.00

Jonathan Pelachick 12 hours \$25.00 \$300.00

Arelis Perez-Rosario 12 hours \$25.00 \$300.00

Marian Pike 12 hours \$25.00 \$300.00

Michelle Poindexter 12 hours \$25.00 \$300.00

Ethan Polczynski 12 hours \$25.00 \$300.00

Anthony Pomponio 12 hours \$25.00 \$300.00

Ben Pongracz 12 hours \$25.00 \$300.00

Betty Reyes 12 hours \$25.00 \$300.00

Brad Richards 12 hours \$25.00 \$300.00

Anita Ridge 12 hours \$25.00 \$300.00

John Rosowski 12 hours \$25.00 \$300.00

Pat Ross 12 hours \$25.00 \$300.00

Donna Rubin 12 hours \$25.00 \$300.00

Sarah Rudge 12 hours \$25.00 \$300.00

Tyler Rutt 12 hours \$25.00 \$300.00

Alix Sable 12 hours \$25.00 \$300.00

Brindusa Said 12 hours \$25.00 \$300.00

Elizabeth Sammond 12 hours \$25.00 \$300.00

Jasmin Sanchez-Lopez 12 hours \$25.00 \$300.00

Kelly Santiago 12 hours \$25.00 \$300.00

Kristin Schlegel 12 hours \$25.00 \$300.00

M. Schmittberger 12 hours \$25.00 \$300.00

Joseph Schroeder 12 hours \$25.00 \$300.00

Michelle Scianna 12 hours \$25.00 \$300.00

Stacey Skinner 12 hours \$25.00 \$300.00

Heidi Snide 12 hours \$25.00 \$300.00

Michael Snow 12 hours \$25.00 \$300.00

D. Spignesi-Dillman 12 hours \$25.00 \$300.00

Shannon Spohn 12 hours \$25.00 \$300.00

Mary Steinborn 12 hours \$25.00 \$300.00

Dawn Stetzler 12 hours \$25.00 \$300.00

Robert Stock 12 hours \$25.00 \$300.00

Joshua Stoica 12 hours \$25.00 \$300.00

Eric Storch 12 hours \$25.00 \$300.00

Mike Stoudt 12 hours \$25.00 \$300.00

Matt Stumhofer 12 hours \$25.00 \$300.00

Ed Teasdell 12 hours \$25.00 \$300.00

Donna Theis 12 hours \$25.00 \$300.00

Ryan Thomas 12 hours \$25.00 \$300.00

Nick Urffer 12 hours \$25.00 \$300.00

Desiree Wagner 12 hours \$25.00 \$300.00

Amy Weand 12 hours \$25.00 \$300.00

Stacy Weaver 12 hours \$25.00 \$300.00

Corey Weir 12 hours \$25.00 \$300.00

Linda Welford 12 hours \$25.00 \$300.00

John Wickman 12 hours \$25.00 \$300.00

Katie Williams 12 hours \$25.00 \$300.00

Brett Witmer 12 hours \$25.00 \$300.00

Diane Wolfe 12 hours \$25.00 \$300.00

Kelly Yanochko 12 hours \$25.00 \$300.00

Kelly Rupp 12 hours \$25.00 \$300.00 Gail Dawson-White 12 hours \$25.00 \$300.00 Michele Merkel 12 hours \$25.00 \$300.00 Paul Drums 12 hours \$25.00 \$300.00 Leslie Helf 12 hours \$25.00 \$300.00

Reading High School (Funding Source- EAP)

Activity / Summer Tutoring

Judy Vecchio 56 hours \$25.00 \$1,400.00 Peter Fuchs 52 hours \$21.00 \$1,092.00 Daniel Talarico 52 hours \$21.00 \$1,092.00 William Arentz 52 hours \$21.00 \$1,092.00 Starr Fleming-Cooper 52 hours \$25.00 \$1,300.00 Letitia Ortiz 48 hours \$15.00 \$720.00 Chris Schlappich (SUB) \$25.00 Kristin Gonzalez (SUB) \$25.00

Reading High School (Funding Source- Title I Supplemental & Title I SI) Activity / Principal's Academy

Activity / Principal's Academy
Nayda Alvarez 24 hours \$25.00 \$600.00
Joseph Andrieux 24 hours \$25.00 \$600.00

Robin Barnett 24 hours \$25.00 \$600.00

Robert Bastian 24 hours \$25.00 \$600.00

Mike Beiler 24 hours \$25.00 \$600.00

Brian Benkert 24 hours \$25.00 \$600.00

John Benson 24 hours \$25.00 \$600.00

Amy Berkley 24 hours \$25.00 \$600.00

Kathleen Barnardini 24 hours \$25.00 \$600.00

Milyann Bittner 24 hours \$25.00 \$600.00

Donald Bryne 24 hours \$25.00 \$600.00

Rachael Bugay 24 hours \$25.00 \$600.00

William Carl 24 hours \$25.00 \$600.00

Frank Cerra 24 hours \$25.00 \$600.00

Tiffany Charles 24 hours \$25.00 \$600.00

Wayne Charles 24 hours \$25.00 \$600.00

Elizabeth Cholewa 24 hours \$25.00 \$600.00

Dwayne Clemens 24 hours \$25.00 \$600.00

Wendy Cocci 24 hours \$25.00 \$600.00

Alan Cook 24 hours \$25.00 \$600.00

Elaine Cook 24 hours \$25.00 \$600.00

Patricia Corcoran 24 hours \$25.00 \$600.00

David Craft 24 hours \$25.00 \$600.00

Ryan Crampsie 24 hours \$25.00 \$600.00

Holly Cronrath 24 hours \$25.00 \$600.00

Chris Dailey 24 hours \$25.00 \$600.00

Gail Dawson-White 24 hours \$25.00 \$600.00

Daniel Dismuke 24 hours \$25.00 \$600.00

Raymond Dobisesky 24 hours \$25.00 \$600.00

Zachary Duncan 24 hours \$25.00 \$600.00

Joseph Dynan 24 hours \$25.00 \$600.00

Nicole Dysart 24 hours \$25.00 \$600.00

Amber ElGamal 24 hours \$25.00 \$600.00

Suzanne Endy 24 hours \$25.00 \$600.00

Robert Englebach 24 hours \$25.00 \$600.00

Judy Fichthorn 24 hours \$25.00 \$600.00

Elizabeth Fitterling 24 hours \$25.00 \$600.00

Amy Fox 24 hours \$25.00 \$600.00

Judy Fronina 24 hours \$25.00 \$600.00

Dean Garges 24 hours \$25.00 \$600.00

Erin Gauker 24 hours \$25.00 \$600.00

Danny Gilmore 24 hours \$25.00 \$600.00

Patricia Glogg 24 hours \$25.00 \$600.00

Glynnes Smith 24 hours \$25.00 \$600.00

Jeanne Gochanuer 24 hours \$25.00 \$600.00

Margaret Gombeda 24 hours \$25.00 \$600.00

Sindy Goodhart 24 hours \$25.00 \$600.00

Robert Guigley 24 hours \$25.00 \$600.00

Nicole Halberg 24 hours \$25.00 \$600.00

Steven Harris 24 hours \$25.00 \$600.00

Hilary Haubrich 24 hours \$25.00 \$600.00

Daniel Hauman 24 hours \$25.00 \$600.00

Leslie Helf 24 hours \$25.00 \$600.00

Kecia Henry 24 hours \$25.00 \$600.00

Craig Hoffer 24 hours \$25.00 \$600.00

Virginia Houseman 24 hours \$25.00 \$600.00

Thomas Hughes 24 hours \$25.00 \$600.00

Christy Jacob 24 hours \$25.00 \$600.00

Mary Jane Tyler 24 hours \$25.00 \$600.00

William Johnson 24 hours \$25.00 \$600.00

Susan Jones 24 hours \$25.00 \$600.00

Bruce Kauffman 24 hours \$25.00 \$600.00

Laurie Kercher 24 hours \$25.00 \$600.00

Stefanie Kline 24 hours \$25.00 \$600.00

Eric Knorr 24 hours \$25.00 \$600.00

Ryan Knox 24 hours \$25.00 \$600.00

Geralding Korenda 24 hours \$25.00 \$600.00

Timothy Kowalski 24 hours \$25.00 \$600.00

Frank Kuhns 24 hours \$25.00 \$600.00

Christopher Lis 24 hours \$25.00 \$600.00

Carol McDonald 24 hours \$25.00 \$600.00

Lori McGovern 24 hours \$25.00 \$600.00

Kathleen McKee 24 hours \$25.00 \$600.00

Michelle Merkel 24 hours \$25.00 \$600.00

David Mierzejewski 24 hours \$25.00 \$600.00

Elizabet Miller 24 hours \$25.00 \$600.00

Tara Monahan 24 hours \$25.00 \$600.00

John Morissey 24 hours \$25.00 \$600.00

Charles Mullin 24 hours \$25.00 \$600.00

Michelle Munteanu 24 hours \$25.00 \$600.00

Nathan Munz 24 hours \$25.00 \$600.00

Casey Oberdorf 24 hours \$25.00 \$600.00

Janet Opalinski 24 hours \$25.00 \$600.00

Susan Palenchar 24 hours \$25.00 \$600.00

Jonathan Pelachick 24 hours \$25.00 \$600.00

Christine Pellegrini 24 hours \$25.00 \$600.00

John Perrotto 24 hours \$25.00 \$600.00

Mansi Pfiester 24 hours \$25.00 \$600.00

Heidi Pierce 24 hours \$25.00 \$600.00

Nancy Plaisted 24 hours \$25.00 \$600.00

Michele Poindexter 24 hours \$25.00 \$600.00

Ethan Polczynski 24 hours \$25.00 \$600.00

Benjamin Pongracz 24 hours \$25.00 \$600.00

William Quigg 24 hours \$25.00 \$600.00

Carolina Ramos 24 hours \$25.00 \$600.00

Lisa Reaser 24 hours \$25.00 \$600.00

Timothy Redding 24 hours \$25.00 \$600.00

Brad Richards 24 hours \$25.00 \$600.00

Kristel Riegel-Martinez 24 hours \$25.00 \$600.00

Maria Roman 24 hours \$25.00 \$600.00

Edwin Romero 24 hours \$25.00 \$600.00

John Rosowski 24 hours \$25.00 \$600.00

Donna Rubin 24 hours \$25.00 \$600.00

Elizabeth Sammond 24 hours \$25.00 \$600.00

Jasmin Sanchez-Lopez 24 hours \$25.00 \$600.00

Katie Scheetz 24 hours \$25.00 \$600.00

Kristin Schlegel 24 hours \$25.00 \$600.00

Martin Schmittberger 24 hours \$25.00 \$600.00

Michelle Scianna 24 hours \$25.00 \$600.00

Carol Semanchick 24 hours \$25.00 \$600.00

Tracey Semmel 24 hours \$25.00 \$600.00

Mark Sewell 24 hours \$25.00 \$600.00

Douglas Snyder 24 hours \$25.00 \$600.00

Huyla Sowerwine 24 hours \$25.00 \$600.00

Mary Steinborn 24 hours \$25.00 \$600.00

Nancy Stewart 24 hours \$25.00 \$600.00

Robert Stock 24 hours \$25.00 \$600.00

Josh Stoica 24 hours \$25.00 \$600.00

Eric Storch 24 hours \$25.00 \$600.00

Matthew Stumhofer 24 hours \$25.00 \$600.00

John Tammaro 24 hours \$25.00 \$600.00

Edward Teasdell 24 hours \$25.00 \$600.00

Wendy Tester 24 hours \$25.00 \$600.00

Donna Theis 24 hours \$25.00 \$600.00

Bethany Trievel 24 hours \$25.00 \$600.00

Robert Tulanowski 24 hours \$25.00 \$600.00

Sandi Turner 24 hours \$25.00 \$600.00

Nicholas Urffer 24 hours \$25.00 \$600.00

Desiree Wagner 24 hours \$25.00 \$600.00

Corey Weir 24 hours \$25.00 \$600.00

John Wickman 24 hours \$25.00 \$600.00

Katie Williams 24 hours \$25.00 \$600.00

Diane Wolfe 24 hours \$25.00 \$600.00

Lamaryce Woods 24 hours \$25.00 \$600.00

Kelly Yanochko 24 hours \$25.00 \$600.00

Charlotte Zabinski 24 hours \$25.00 \$600.00

Jason Zeigler 24 hours \$25.00 \$600.00

Jennifer Mandy 24 hours \$25.00 \$600.00

Kara Balk 24 hours \$25.00 \$600.00

Phil Bower 24 hours \$25.00 \$600.00

Thomas Baldwin 24 hours \$25.00 \$600.00

Maria Diaz-Aponte 24 hours \$25.00 \$600.00

Jaquella Alston 24 hours \$25.00 \$600.00

Tsehay Jackson 24 hours \$25.00 \$600.00

David Hertzog 24 hours \$25.00 \$600.00

Phil Lechner 24 hours \$25.00 \$600.00

Michael Fritz 24 hours \$25.00 \$600.00

Chris Yeshulas 24 hours \$25.00 \$600.00

Stephanie Shreves 24 hours \$25.00 \$600.00

Jonathan Kenn 24 hours \$25.00 \$600.00

Kevin Kalbach 24 hours \$25.00 \$600.00

Gloria Spitko 24 hours \$25.00 \$600.00

Joseph Smith 24 hours \$25.00 \$600.00

Jaime Travis 24 hours \$25.00 \$600.00

Maryjane Tyler 24 hours \$25.00 \$600.00

Danielle Weikel 24 hours \$25.00 \$600.00

Amy Weand 24 hours \$25.00 \$600.00

Linda Zerbe 24 hours \$25.00 \$600.00

Karen Fineran 24 hours \$25.00 \$600.00

Danielle Weikel 24 hours \$25.00 \$600.00

Jaquella Alston 24 hours \$25.00 \$600.00

Gail Dawson-White 24 hours \$25.00 \$600.00

Kara Quinn 24 hours \$25.00 \$600.00

Glynnes Smith 24 hours \$25.00 \$600.00

Reading High School (Funding Source- District Funds) Activity / RHS Accelerated Math Program

Mansi Pfiester 90 hours \$25.00 \$2,250.00

Amber ElGamal 90 hours \$25.00 \$2,250.00

David Immendorf 90 hours \$25.00 \$2,250.00 Donald Byrne 90 hours \$25.00 \$2,250.00

Reading High School (Funding Source- Title I Supplemental) Activity / Curricular Planned Course to the State Standards ART

Kate Clewell 18 hours \$25.00 \$450.00 Bob Englebach 18 hours \$25.00 \$450.00 Janna Carrozza 18 hours \$25.00 \$450.00

Nikk Kern 18 hours \$25.00 \$450.00

BUSINESS

David Hertzog 18 hours \$25.00 \$450.00 Nick Giache 18 hours \$25.00 \$450.00 Carl Simchena 18 hours \$25.00 \$450.00 Mary Steinborn 12 hours \$25.00 \$300.00 Daniel Dismuke 12 hours \$25.00 \$300.00 Martin Schmittberger 6 hours \$25.00 \$150.00 Kristine Marino 6 hours \$25.00 \$150.00

FI.A

Amy Berkley 18 hours \$25.00 \$450.00 John Perrotto 18 hours \$25.00 \$450.00 Elizabeth Venezia 18 hours \$25.00 \$450.00 Ethan Polczynski 18 hours \$25.00 \$450.00 Jasmin Sanchez-Lopez 18 hours \$25.00 \$450.00

ENGLISH

Paige Sechler 18 hours \$25.00 \$450.00 Laura Monteiro 18 hours \$25.00 \$450.00 Jamie Travis 18 hours \$25.00 \$450.00 Kelly Knapper 18 hours \$25.00 \$450.00 Sindy Goodhart 18 hours \$25.00 \$450.00

FAMILY CONSUMER SCIENCE

Gloria Spitko 18 hours \$25.00 \$450.00 Amy Weand 18 hours \$25.00 \$450.00 Christine Doig 18 hours \$25.00 \$450.00 Patricia Ross 18 hours \$25.00 \$450.00 Trudi Wesley 18 hours \$25.00 \$450.00 **MUSIC**

Brad Richards 18 hours \$25.00 \$450.00 Joseph S. Smith 18 hours \$25.00 \$450.00 Brian Simpson 18 hours \$25.00 \$450.00

MATH

Michelle Scianna 18 hours \$25.00 \$450.00 Donna Rubin 18 hours \$25.00 \$450.00 Joseph Andrieux 18 hours \$25.00 \$450.00 Hilary Haubrich 18 hours \$25.00 \$450.00 Mike Stoudt 18 hours \$25.00 \$450.00 **SOCIAL STUDIES**

Zach Duncan 18 hours \$25.00 \$450.00

David Craft 18 hours \$25.00 \$450.00

Phil Bower 18 hours \$25.00 \$450.00

Russ Diesinger 18 hours \$25.00 \$450.00

Janet Rathein 18 hours \$25.00 \$450.00

SPECIAL EDUCATION

Dawn Stetzler 18 hours \$25.00 \$450.00

Janet Opalinski 18 hours \$25.00 \$450.00

Tina Koch 18 hours \$25.00 \$450.00

Ryan Crampsie 18 hours \$25.00 \$450.00

Mary Quesada 18 hours \$25.00 \$450.00

TECHNOLOGY EDUCATION

Michael Beiler 18 hours \$25.00 \$450.00

WELLNESS & FITNESS

Elizabeth Cholewa 18 hours \$25.00 \$450.00

Kristi Bricker 18 hours \$25.00 \$450.00

Jon Marino 18 hours \$25.00 \$450.00

Steve Hudak 18 hours \$25.00 \$450.00

Kelly Santiago 18 hours \$25.00 \$450.00

Tonya Gilmore 18 hours \$25.00 \$450.00

WORLD LANGUAGE

Millyann Bittner 18 hours \$25.00 \$450.00

Caroline Ramos 18 hours \$25.00 \$450.00

Kristen Riegel-Martinez 18 hours \$25.00 \$450.00

Anita Goodwin 18 hours \$25.00 \$450.00

Harry Freeman 18 hours \$25.00 \$450.00

SCIENCE

Carol Semanchick 18 hours \$25.00 \$450.00

Scott Oplinger 18 hours \$25.00 \$450.00

Tim Kowalski 18 hours \$25.00 \$450.00

Margaret Gombeda 18 hours \$25.00 \$450.00

Michele Poindexter 18 hours \$25.00 \$450.00

Reading High School (Funding Source- Title I School Improvement)

Activity / Senior Summer School to Increase Graduates

Christine Melder 120 hrs \$25.00 \$3,000.00

Joseph Andrieux 120 hrs \$25.00 \$3,000.00

Dawn Williams 120 hrs \$21.00 \$2,520.00

Robert Duncan 120 hrs \$21.00 \$2,520.00

Jennifer Oakes 120 hrs \$25.00 \$3,000.00

Brian Benkert 40 hours \$25.00 \$1,000.00

Leslie Helf (SUB) \$25.00

Reading High School (Funding Source- PA-Pact)

Activity / 2010 Summer School

Crystal Angstat 96 hours \$25.00 \$2,400.00

Kristi Bricker 96 hours \$25.00 \$2,400.00

Katie Buchert 96 hours \$25.00 \$2,400.00 Tiffany Charles 96 hours \$25.00 \$2,400.00 Ryan Crampsie 96 hours \$25.00 \$2,400.00 Christopher Daily 96 hours \$25.00 \$2,400.00 Christina Dillon 96 hours \$25.00 \$2,400.00 Erin Gauker 96 hours \$25.00 \$2,400.00 Debra George 96 hours \$25.00 \$2,400.00 Nicholas Giacche 96 hours \$25.00 \$2,400.00 Daniel Hauman 96 hours \$25.00 \$2,400.00 David Hertzog 96 hours \$25.00 \$2,400.00 Peter Karpew 96 hours \$25.00 \$2,400.00 Laurie Kercher 96 hours \$25.00 \$2,400.00 Nancy Keyes 96 hours \$25.00 \$2,400.00 Stefanie Kline 96 hours \$25.00 \$2,400.00 Elizabeth Miller 96 hours \$25.00 \$2,400.00 Tara Monahan 96 hours \$25.00 \$2,400.00 Kathryn Moser 96 hours \$25.00 \$2,400.00 Scott Oplinger 96 hours \$25.00 \$2,400.00 Christine Pellegrini 96 hours \$25.00 \$2,400.00 Michele Poindexter 96 hours \$25.00 \$2,400.00 Laura Ritter 96 hours \$25.00 \$2,400.00 Maria Roman 96 hours \$25.00 \$2,400.00 Mark Sewell 96 hours \$25.00 \$2,400.00 Stephanie Shreeves 96 hours \$25.00 \$2,400.00 Dougles Snyder 96 hours \$25.00 \$2,400.00 Jaime Travis 96 hours \$25.00 \$2,400.00 Kelly Yanochko 96 hours \$25.00 \$2,400.00 Jason Zeigler 96 hours \$25.00 \$2,400.00 Chris Zuber 96 hours \$25.00 \$2,400.00

Administration (Funding Source-District Funds) Activity / Pacing Guide For The 2010-11 School Year

Lisa Fabian 6 hours \$25.00 \$150.00

Mary Ellen Breidegan 6 hours \$25.00 \$150.00

Michael Preletz 6 hours \$25.00 \$150.00

Nancy Graham 6 hours \$25.00 \$150.00

Pat Santee 6 hours \$25.00 \$150.00

Shannon Darlington 6 hours \$25.00 \$150.00

Tara Miller 6 hours \$25.00 \$150.00

Terry Griffith 6 hours \$25.00 \$150.00

Vicky Halferty 6 hours \$25.00 \$150.00

Amanda Moser 6 hours \$25.00 \$150.00

Janice Eisenhower 6 hours \$25.00 \$150.00

Joshua Noel 6 hours \$25.00 \$150.00

Karen Adams 6 hours \$25.00 \$150.00

Katherine Igusky 6 hours \$25.00 \$150.00

Linda Fredericks 6 hours \$25.00 \$150.00

Angela Henry 6 hours \$25.00 \$150.00 Edwina Colon Vazquez 6 hours \$25.00 \$150.00 Shayla Bradley 6 hours \$25.00 \$150.00 Kathy Blaum 6 hours \$25.00 \$150.00 Julie Pietrowski 6 hours \$25.00 \$150.00 Lacey Smey 6 hours \$25.00 \$150.00

Administration (Funding Source- Title I Supplemental) Activity / Training in Reading Edge Levels 1,2-3 or 4-8

Susan Bennett 6 hours \$25.00 \$150.00

David Siegfried 6 hours \$25.00 \$150.00

Kristen Lebo 6 hours \$25.00 \$150.00

Nora Sicher 6 hours \$25.00 \$150.00

Raymond Pedraza 6 hours \$25.00 \$150.00

Mike Preletz 6 hours \$25.00 \$150.00

Nancy Graham 6 hours \$25.00 \$150.00

Barbara Speicher 6 hours \$25.00 \$150.00

Pat Santee 6 hours \$25.00 \$150.00

Laura Morgan 6 hours \$25.00 \$150.00

Judy Smith 6 hours \$25.00 \$150.00

Diana Bilardo 6 hours \$25.00 \$150.00

Karen Hertzog 6 hours \$25.00 \$150.00

Stacy Starry 6 hours \$25.00 \$150.00

Deborah Campbell-Ferrar 6 hours \$25.00 \$150.00

Michelle Baver 6 hours \$25.00 \$150.00

Terry Griffith 6 hours \$25.00 \$150.00

Andrew Altland 6 hours \$25.00 \$150.00

Nathan Hall 6 hours \$25.00 \$150.00

Adreianne Schaeffer 6 hours \$25.00 \$150.00

Jana Isabell 6 hours \$25.00 \$150.00

Julia Tramontana 6 hours \$25.00 \$150.00

Joshua Kleha 6 hours \$25.00 \$150.00

Jennifer Galvan-Wolf 6 hours \$25.00 \$150.00

Amy Anders 6 hours \$25.00 \$150.00

Amanda Hetrick 6 hours \$25.00 \$150.00

Steve Rossignoli 6 hours \$25.00 \$150.00

Jason Schwamback 6 hours \$25.00 \$150.00

Joe Dawson 6 hours \$25.00 \$150.00

Marcia McMahan 6 hours \$25.00 \$150.00

Tara Focht 6 hours \$25.00 \$150.00

Darren Anastasio 6 hours \$25.00 \$150.00

Administration (Funding Source- Title I Supplemental) Activity / Create Additional Links District Website Page Kim Reber 24 hours \$25.00 \$600.00

Administration (Funding Source- Title I Supplemental)

Activity / Revised District-wide Parent Involvement Policy

Gladys Mendez 4 hours \$12.45 \$49.80 Enes Zimmerman 4 hours \$25.00 \$100.00 Janet Cooper 4 hours \$13.30 \$53.20 Edwina Colon-Vazquez 4 hours \$25.00 \$100.00

Administration (Funding Source- District Funds) Activity / Planned Professional Development Session

Edwina Colon-Vazquez 12 hours \$25.00 \$300.00
Tara Focht 12 hours \$25.00 \$300.00
Respectfully submitted,
Karen H. McCree
Committee Chairperson
Angela Henry 12 hours \$25.00 \$300.00

Administration (Funding Source- Title I- Title Suppplemental District Funds) Activity / RE Getting Along Together

Edwina Colon-Vazquez 12 hours \$25.00 \$300.00 Angela Henry 12 hours \$25.00 \$300.00 Nancy Graham 12 hours \$25.00 \$300.00 Mike Preletz 12 hours \$25.00 \$300.00 Kim Epler 12 hours \$25.00 \$300.00 Kathy Blaum 12 hours \$25.00 \$300.00 Lisa Reber 12 hours \$25.00 \$300.00 Laura Fisher 12 hours \$25.00 \$300.00 8 hours \$15.00 \$720.00 Jennifer Born (SUB) \$25.00

VOTE ON CURRICULUM AND TECHNOLOGY RESOLUTION CUR-50: 7 YEAS; 0 NAYS; 1 ABSTENTION

YEAS: Mrs. Torres-Figueroa Mr. Washington
Ms. Wertz Mr. Breton

Ms. Wertz Mr. Breton Mrs. McCree Mr. Storch

Mr. Santoro, President

ABSTAIN: Mr. Stamm

Danielle Scruse (SUB) \$25.00

RESOLUTION CUR-50 WAS APPROVED.

Finance and Legal

The Finance and Legal Committee presented resolutions FIN-119 to FIN-144 for consideration this month. The resolutions voted on together were:

FIN-119-FIN136 and FIN-138-FIN-143

The motion on those resolutions was made by Mrs. McCree, and this was seconded by Mr. Breton. The resolutions read as follows:

FIN-119 BE IT RESOLVED, That the Board of School Directors approves/ratifies the bill list for the General Fund for the month of March 2010 in the amount of \$7,001,219.25, as attached.

FIN-119-A

FIN-120 BE IT RESOLVED, That the Board of School Directors approves/ratifies the bill list for Trust and Agency for the month of March 2010 in the amount of \$65,860.45, as attached.

FIN-120-A

FIN-121 BE IT RESOLVED, That the Board of School Directors ratifies the bill list for the 2003 G.O. Bond Fund for the month of April 2010 in the amount of \$2,625.00, as attached.

FIN-121-A

FIN-122 BE IT RESOLVED, That the Board of School Directors approves the 2003 Bond Fund Financial Report as of March 2010.

FIN-122-A

FIN-123 BE IT RESOLVED, That the Board of School Directors approves the bill list for the 2005 G.O. Bond Fund for the month of April 2010 in the amount \$825,671.59, as attached.

FIN-123-A

FIN-124 BE IT RESOLVED, That the Board of School Directors approves the 2005 Bond Fund Financial Report as of March 2010.

FIN-124-A

FIN-125 BE IT RESOLVED, That the Board of School Directors approves the bill list for the 2008 G.O. Bond Fund for the month of April 2010 in the amount \$128,999.32, as attached.

FIN-125-A

FIN-126 BE IT RESOLVED, That the Board of School Directors approves the 2008 Bond Fund Financial Report as of March 2010.

FIN-126-A

FIN-127 BE IT RESOLVED, That the Board of School Directors approves Treasurer's Report for the period ending March 31, 2010, as attached.

FIN-127-A

FIN-128 BE IT RESOLVED, That the Board of School Directors accepts Investment Report as of March 31, 2010, as attached.

FIN-128-A

FIN-129 BE IT RESOLVED, That the Board of School Directors accepts the Revenues and Expenditures Status Reports for all District Funds for the month ending March 2010.

FIN-130 BE IT RESOLVED, That the Board of School Directors approves 2009-2010 budget transfers in the amount of \$92,784, as attached.

FIN-130-A

FIN-131 BE IT RESOLVED, That the Board of School Directors accepts the Athletic Budget Reports for the month of March 2010, as attached.

FIN-131-A

FIN-132 BE IT RESOLVED, That the Board of School Directors ratifies the March 2010 check register in the amount of \$3,502,879.06, as attached.

FIN-132-A

FIN-133 BE IT RESOLVED, That the Board of School Directors ratifies Food Services Incomes/Expenditures Report for the month ending February 28, 2010, as attached.

FIN-133-A

FIN-134 BE IT RESOLVED, That the Board of School Directors ratifies the Food Services Financial Reports for February 28, 2010, as attached.

FIN-134-A

FIN-135 BE IT RESOLVED, That the Board of School Directors ratifies Food Services Incomes/Expenditures Report for the month ending March 31, 2010, as attached.

FIN-135-A

FIN-136 BE IT RESOLVED, That the Board of School Directors ratifies the Food Services Financial Reports for March 31, 2010, as attached.

FIN-136-A

FIN-138 BE IT RESOLVED, That the actions of John C. Bradley, Jr., Esquire and Richard L. Guida, Esquire, counsel for Reading School District in filing a Notice of Intervention regarding the appeal of North Reading Development Company, indexed to No. 09-15802 for the premises known as 1100 Rockland Street, Reading, Pennsylvania, Pin #17-5318-78-10-4960 with an assessed value of \$3,497,100.00, is hereby ratified.

FIN-139 BE IT RESOLVED, That the Board of School Directors approves the refund of school real estate taxes as a result of overpayments in the amount of \$1,643.77, as attached.

FIN-139-A

FIN-140 BE IT RESOLVED, That the Board of School Directors authorizes Administration to ratify the latest Berks County Joint Purchasing Agreement, as attached.

FIN-140-A

FIN-141 BE IT RESOLVED, That the Board of School Directors accepts the 2009 Audit Report prepared by Herbein & Co.

HANDOUT

FIN-142 BE IT RESOLVED, That the Board of School Directors approves the Section 356 Agreement as presented.

FIN-142-A

FIN-143 BE IT RESOLVED, That the Board of School Directors hereby approves the following:

- 1. A short-term lease between Craftyleg, as Lessor, and the Reading School District, as Lessee, for temporary parking on property located at the northwest corner of Tenth and Cotton Streets in the City of Reading, County of Berks and Commonwealth of Pennsylvania to be used by the employees of the Reading School District who are assigned to the Amanda Stout Elementary School and personnel from construction firms providing services to the Reading School District during construction of improvements and additions to that structure. A copy of the Lease is attached hereto as Exhibit "I"; and
- 2. An option agreement to permit the Reading School District to enter into a long-term lease for up to thirty (30) parking spaces to be used by employees of the Reading School District who are assigned to the Amanda Stout Elementary School after completion of the renovation and additions to the Amanda Stout Elementary School required by municipal authorities for the use and/or occupancy of that structure. A copy of the Option Agreement is attached hereto as Exhibit "II".

The President and Secretary of the Board of School Directors are hereby authorized to sign the above-described lease and option agreement on behalf of the Reading School District. This approval is subject to a full review by the Board's solicitor and the School District obtaining all applicable permits and/or zoning relief for construction and the intended use of the property.

VOTE ON THE FINANCE AND LEGAL RESOLUTIONS AS LISTED: 8 YEAS; 0 NAYS

YEAS: Mr. Washington Ms. Wertz

Mr. Breton Mrs. McCree
Mr. Stamm Mrs. Storch

Mrs. Torres-Figueroa Mr. Santoro, President

THE FINANCE AND LEGAL RESOLUTIONS AS LISTED WERE APPROVED.

At this time, FIN-137 was introduced. The resolution was to award Medical and Nursing Supplies bids through the Berks County Joint Purchasing Board. A motion to table the resolution was made by Mr. Storch, and this was seconded by Mr. Stamm.

FIN-144 was introduced. The motion to consider was made by Mrs. McCree, and this was seconded by Mr. Breton.

FIN-144 BE IT RESOLVED, That the Board of School Directors appoints Kautter and Kelley Architects for the renovation project of the Baby Depot at a cost not to exceed \$22,000 plus a maximum of \$2,000 for reimbursable expenses, in accordance with the terms and conditions outlined in the Request for Proposal. The fixed fee of \$22,000 will be for construction costs up to \$350,000. Any increase in scope above the \$350,000 threshold will be reimbursed at a rate of 6%.

VOTE ON FIN-44: 7 YEAS; 1 NAY

YEAS: Mr. Breton Mrs. McCree

> Mrs. Torres-Figueroa Mr. Storch

Mr. Washington Ms. Wertz

Mr. Santoro, President

NAYS: Mr. Stamm

FIN-144 WAS APPROVED.

Facilities and Security

The Facilities and Security Committee presented resolutions FAC-119 to FAC-155 for consideration. The first block to be voted on were resolutions FAC-119 and FAC-155. The motion was made by Ms. Wertz, and this was seconded by Mr. Washington. The resolutions read as follows:

FA-119 BE IT RESOLVED, That the Board of Directors of the Reading School District awards bid to C C & M Plumbing, Heating and Electrical, the lowest responsible bidder for the installation of water meters for 22 Reading School District Buildings at a cost of \$635,000.00 upon contract approval Solicitor. Monies to be taken from the 2003 Bond. (Water Meter Project)

FAC-119-A

FAC-155 BE IT RESOLVED, That after presentation of the schematic design drawings to the Board of Directors of the Reading School District at the Committee-of-the-Whole meeting held on April 21, 2010, Kautter & Kelley Architects are hereby authorized to proceed with the Design Development Phase for renovations and additions to the Amanda Stout Elementary School.

VOTE ON FAC-119 AND FAC-155: 7 YEAS; 1 NAY

YEAS: Mrs. McCree Mr. Stamm

> Mrs. Torres-Figueroa Mr. Washington

Ms. Wertz Mr. Breton

Mr. Santoro, President

NAYS: Mr. Storch

FAC-119 AND FAC-155 WERE APPROVED.

At this time, Ms. Wertz made a motion to consider FAC-120, and this was seconded by Mrs. McCree.

FAC-120 BE IT RESOLVED, That the Board of Directors of the Reading School District approves Spotts/Stevens/McCoy Proposal POP00655.2010 for Asbestos Abatement Phases 1 through 6 (Summer 2010). Scope of work includes: Task 1, Abatement Contractor Monitoring, cost not to exceed \$39,950.00 and Task 2, Contract Administration for a fixed fee of \$3,600.00. Monies to be taken from 2008 Bond. (Amanda Stout/Benner's Court Project)

FAC-120-A

VOTE ON FAC-120: 6 YEAS: 2 NAYS

YEAS: Mrs. Torres-Figueroa Mr. Washington

Ms. Wertz Mr. Breton

Mrs. McCree Mr. Santoro, President

NAYS: Mr. Stamm Mr. Storch

FAC-120 WAS APPROVED.

Ms. Wertz made a motion to consider FAC-121-154 for consideration, and this was seconded by Mr. Stamm. These resolutions were all change orders for the Reading Intermediate High School project. The board had questions regarding the change orders, and when the vote was taken, the motion failed by a vote of 2 yeas; 6 nays, with Mrs. McCree, Mrs. Torres-Figueroa, Mr. Washington, Ms. Wertz and Mr. Santoro voting no. A discussion ensued, some of the questions regarding the change orders were answered by Turner Construction, the construction managers on the project. Mr. Santoro asked that the resolutions be reconsidered. Ms. Wertz then made a motion to consider FAC-121-FAC-126, and this was seconded by Mr. Washington.

FAC-121 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Order#580, to Drum Construction Co. Inc., for drainage for window well at Walnut Street, in the amount of \$2,793.00.

FAC-121

FAC-122 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Order #391C; CCD 001-006, to Drum Construction Co. Inc., for additional excavation in building B, in an amount not to exceed \$1,567.00.

FAC-122

FAC-123 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Order #559B, to Drum Construction Co. Inc., for video piping old meter pit to fire pump, in the amount of \$3,852.00.

FAC-123

FAC-124 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Directive #566, to Perrotto Builders, Ltd. (A/B), to furnish and install door hardware for elevator machine room door 0002, in the amount of \$1,653.00.

FAC-124

FAC-125 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Directive #576, to Perrotto builders, Ltd. (A/B), for additional toilet accessories, in the amount of \$521.00.

FAC-125

FAC-126 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Directive #565, to Perrotto builders, Ltd. (C/D), to install low profile soffit room 1037, in the amount of \$908.00.

FAC-126-A

VOTE ON FAC-121-FAC-126: 7 YEAS; 1 NAY

YEAS: Mrs. Torres-Figueroa Mr. Washington

Ms. Wertz Mr. Breton Mrs. McCree Mr. Stamm

Mr. Santoro, President

NAYS: Mr. Storch

FAC-121-FAC-126 WERE APPROVED.

The next group of Facilities resolutions considered was FAC-128-FAC-135. The motion was made by Ms. Wertz, and this was seconded by Mr. Washington.

FAC-128 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Directive #575, to Perrotto builders, Ltd. (C/D), to provide and install guard rails at Stair G, in an amount not to exceed \$8,702.00.

FAC-128-A

FAC-129 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Directive #573, to Perrotto builders, Ltd. (C/D), for removal of existing walls, framing & insulation of new metal stud walls, blocking and new access panel to roof ladder, in an amount not to exceed \$9,725.00.

FAC-129-A

FAC-130 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Directive #573, to Perrotto builders, Ltd. (C/D), to construct closure between vestibule and stair corridor SG4A, Bulletin #113, in the amount of \$1,838.00.

FAC-130-A

FAC-131 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Directive #586, to Perrotto builders, Ltd. (C/D), to patch holes in CMU walls on the 5th floor of building D corridor, in the amount of \$1,373.00.

FAC-131-A

FAC-132 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Directive #496, to Perrotto builders, Ltd. (C/D), for parapet repairs at top of existing brick tower adjacent to building C, in the amount of \$1,689.00.

FAC-132-A

FAC-133 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Directive #587, to Perrotto builders, Ltd. (C/D), to repair limestone at Area C for demo of sprinkler piping, in the amount of \$803.00.

FAC-133-A

FAC-134 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Directive #594, to Perrotto builders, Ltd. (C/D), to provide and install five wall pads mounted over steel columns in gym, in the amount of \$2,973.00.

FAC-134-A

FAC-135 BE IT RESOLVED, That the Board of Directors of the Reading School District approves Change Directive #499C, to Perrotto builders, Ltd. (C/D), to provide and install (700) helifix retrofit anchors at brick wall adjacent to Walnut Street, in the amount of \$21,000.00.

FAC-135-A

VOTE ON FAC-128 TO FAC-135: 7 YEAS; 1 NAY

YEAS: Mr. Washington Ms. Wertz

Mr. Breton Mrs. McCree

Mr. Stamm Mrs. Torres-Figueroa

Mr. Santoro, President

NAYS: Mr. Storch

FAC-128 TO FAC-135 WERE APPROVED.

Mrs. McCree made a motion to consider FAC-136 to FAC-139, and this was seconded by Mr. Washington.

FAC-136 BE IT RESOLVED, That the Board of Directors of the Reading School District approves Change Directive #571A, to Perrotto builders, Ltd. (C/D), to furnish and install metal framing and drywall at landings adjacent to the corridor walls in Stair G, in the amount of \$9,959.00.

FAC-136-A

FAC-137 BE IT RESOLVED, That the Board of Directors of the Reading School District approves Change Directive #595, to Perrotto builders, Ltd. (C/D), to prep and repaint areas damaged by leakage in Building C, fifth floor, in the amount of \$1,957.00.

FAC-137-A

FAC-138 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Directive #559C, to Stong Fire Protection, to delete video piping from old meter pit to fire pump (done by others), for a credit in the amount of \$2,801.00.

FAC-138-A

FAC-139 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Order #288; CCD 007-001, to Jay R. Reynolds, Inc., to furnish 6" water meter in lieu of meter being furnished by Reading Water Authority, in the amount of \$8,878.00.

FAC-139-A

VOTE ON FAC-136-FAC-139: 7 YEAS; 1 NAY

YEAS: Ms. Wertz Mr. Breton Mrs. McCree Mr. Stamm

Mrs. Torres-Figueroa Mr. Washington

Mr. Santoro, President

NAYS: Mr. Storch

FAC-136-FAC-139 WERE APPROVED.

Mrs. McCree made a motion to consider FAC-147 to FAC-154, and this was seconded by Mrs. Torres-Figueroa.

FAC-147 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Order #584, to Jay R. Reynolds, Inc., to repair existing split cornice drain north of Building C and complete survey, in an amount not to exceed \$5,000.00.

FAC-147-A

FAC-148 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Order #582B, to The Farfield Company, for demolition of existing wiring; installation of hangers/flex conduit 4th floor Chapel, in the amount of \$9,992.00.

FAC-148-A

FAC-149 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Order #582A, to The Farfield Company, for new wiring to meet Code, 4th floor Chapel, in the amount of \$9,616.00.

FAC-149-A

FAC-150 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Order #583, to The Farfield Company, to conduit extension to match revised "cloud" location, in the amount of \$1,173.00.

FAC-150-A

FAC-151 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Order #569, to The Farfield Company, to add project mounts, in the amount of \$5,882.00.

FAC-151-A

FAC-152 BE IT RESOLVED, That the Board of Directors of the Reading School District approves Change Order #563G, to Worth and Company, Inc., for gravity intake ventilator support steel, in the amount of \$4,032.00.

FAC-152-A

FAC-153 BE IT RESOLVED, That the Board of Directors of the Reading School District approves Change Directive #563E, to Worth and Company, Inc., for the balance of work for Bulletin #111, in an amount not to exceed \$9,175.00.

FAC-153-A

FAC-154 BE IT RESOLVED, That the Board of Directors of the Reading School District approves Change Order #558, to Intervid, Inc., to provide and install security Knox 3503 key switch to control service entrance gate, in the amount of \$1,849.00.

FAC-154-A

VOTE ON FAC-147-FAC-154: 7 YEAS; 1 NAY

YEAS: Mr. Breton Mrs. McCree

Mr. Stamm Mrs. Torres-Figueroa

Mr. Washington Ms. Wertz

Mr. Santoro, President

NAYS: Mr. Storch

FAC-147 - FAC-154 WERE APPROVED.

Ms. Wertz made a motion to consider FAC-127, and this was seconded by Mr. Breton.

FAC-127 BE IT RESOLVED, That the Board of Directors of the Reading School District ratifies Change Directive #568, to Perrotto builders, Ltd. (C/D), for ADA locker room benches, in the amount of \$1,147.00.

FAC-127-A

VOTE ON FAC-127: 7 YEAS; 1 NAY

YEAS: Mrs. McCree Mr. Stamm

Mrs. Torres-Figueroa Ms. Wertz Mr. Santoro, President Mr. Washington Mr. Breton

NAYS: Mr. Storch

FAC-127 WAS APPROVED.

Facilities Agenda Note: Facilities resolution FAC-140 to FAC-146, which originally appeared on the agenda, were pulled for additional information.

Student Services

The Student Services Committee presented resolutions SS-43 to SS-59 for consideration. All resolutions were voted on together. The motion was made by Ms. Wertz, and this was seconded by Mr. Storch.

SS-43 BE IT RESOLVED, That the Board of School Directors approves the 2009-2010 contract between Alsace School, as per BCIU contracted services, and the Reading School District, to provide educational services to three emotional support students, listed below, based on the student's Individual Education Plan (IEP), at a tuition rate of \$160.00 per day. Not to exceed a total cost of \$28,320.00. (Special Education - General Fund).

STD ID#	Cost per day	Cost per Student
101801	\$160.00 (Mar.15, 2010-June 14, 2010)	\$9,920.00
103444	\$160.00 (Mar.16, 2010-June 14, 2010)	\$9,600.00
117228	\$160.00 (Mar. 22, 2010-June 14, 2010)	\$8,800.00

SS-44 BE IT RESOLVED, That the Board of School Directors approves the 2009-2010 contract between Opportunities School and the Reading School district, to provide educational services to three (3) emotionally disturbed students, listed below, based on the students' Individual Education Plan (IEP), at a tuition rate of \$142.86 per day. Not to exceed a total cost of \$27,429.12. (Special Education - General Fund)

STD ID#	Cost per day	Cost per Student
125391	\$142.86 (Mar.11, 2010-June 14, 2010)	\$ 9,285.90
119828	\$142.86 (Mar.18, 2010-June 14, 2010)	\$10,143.06
121872	\$142.86 (Mar.24, 2010-June 14, 2010)	\$ 8,000.16
	,	SS-44-A

SS-45 BE IT RESOLVED, That the Board of School Directors ratifies the continuation of an Agreement between the Reading School District and the KidsPeace Children's Hospital, Inc., located in the County of Lehigh, Pennsylvania, to provide tutorial education services for seven (7) Students, listed below, placed in the Acute Partial Hospital Program. Services will be provided by KidsPeace National Centers, Inc. Students are referred to Acute Partial Hospital by a parent or guardian. The tutorial rate is \$24.00 per hour for five (5) hours per week. Cost not to exceed \$9,960.00. (General Fund-Special Education)

STD ID#	<u>Duration</u>	Cost
106818	March 09, 2010 thru June 14, 2010 or earlier	\$1,560.00
115437	March 16, 2010 thru June 14, 2010 or earlier	\$1,560.00
111101	March 22, 2010 thru June 14, 2010 or earlier	\$1,440.00
115784	March 23, 2010 thru June 14, 2010 or earlier	\$1,440.00
104605	March 28, 2010 thru June 14, 2010 or earlier	\$1,320.00
302719	March 29, 2010 thru June 14, 2010 or earlier	\$1,320.00
025541	March 31, 2010 thru June 14, 2010 or earlier	\$1,320.00
		SS-45-A

SS-46 BE IT RESOLVED, That the Board of School Directors ratifies the continuation of an Agreement between the Reading School District and Children's Home of Reading (CHOR) to provide educational services to an emotionally disturbed student, ID# 120707, based on the student's Individual Education Plan (IEP), at a tuition rate of \$140.00 per day (55 days), commencing March 18, 2010 thru June 11, 2010. Cost not to exceed \$7,700.00. (Special Education - General Fund)

SS-46-A

SS-47 BE IT RESOLVED, That the Board of School Directors approves an agreement for an Independent Educational Evaluation (IEE), at district expense, between Lisa Hain, School Psychologist and the Reading School District for student, ID# 025535, at a cost not to exceed \$3,100.00. (Special Education - General Fund)

SS-47-A

- SS-48 BE IT RESOLVED, That the Board of School Directors approves Janet A. Jackson, CRNP, CSN to attend the 11th Annual Advanced Practice Nurse Conference Increasing Capacity for Care at Children's Hospital of Philadelphia, May 6 7, 2010. Total cost not to exceed \$501.00. (General Fund) SS-48-A
- SS-49 BE IT RESOLVED, That the Board of School Directors approves request to apply for the Berks County Community Foundation Save-A-Life Grant, in the amount of \$11,121.00, to purchase nineteen (19) CPR-Prompt 7-piece Manikin Sets @ \$480.00 per set, at a cost of \$9,121.00 and five (5) Cardiac Science AED trainers @ \$400.00 per trainer, at a cost of \$2,000.00.
- SS-50 BE IT RESOLVED, That the Board of School Directors approves payment for School Counselors of the Reading High School and the Intermediate High School to review, evaluate, process their caseload for referrals and schedule summer school, at the contractual rate listed below, cost not to exceed \$4,500.00 (General Fund)

Reading High School and Intermediate School Counselors				
June 2010 – review report cards, process referrals for evaluation, and schedule for				
summer school.				
Diane Spignesi-Dillman	15 hours	\$25.00	\$375.00	
Ginger Johnson	15 hours	\$25.00	\$375.00	
John Duggan	15 hours	\$25.00	\$375.00	
Judith Flores	15 hours	\$25.00	\$375.00	

Judith Frantz	15 hours	\$25.00	\$375.00
Kathleen Creelman	15 hours	\$25.00	\$375.00
Kathryn Moser	15 hours	\$25.00	\$375.00
Lisa Moynihan	15 hours	\$25.00	\$375.00
Monica Lacey	15 hours	\$25.00	\$375.00
Patricia O'Gurek	15 hours	\$25.00	\$375.00
Sharon McLendon	15 hours	\$25.00	\$375.00
Susan Hubbel	15 hours	\$25.00	\$375.00

SS-51 BE IT RESOLVED, That the Board of School Directors approves payment for scheduling team members to work on the master schedule and make adjustments, at the contractual rate listed below, not to exceed \$750.00. (General Fund)

Reading High School and Intermediate School Counselors				
Jennifer Oakes	15 hours	\$25.00	\$375.00	
Kathryn Moser	15 hours	\$25.00	\$375.00	

SS-52 BE IT RESOLVED, That the Board of School Directors approves payment for Reading Opportunity Center for Children School Counselors (ROCC) to complete enrollment from June 16, 2010 thru June 30, 2010, at the contractual rate listed below, not to exceed \$1,000.00. (PA-PACT Fund) End date for the 2009-2010 PA PACT Fund is June 30.

Reading Opportunity Center for Children (ROCC) School Counselors			
Jill Tobias (Elementary)	20 hours - June	\$25.00	\$500.00
Michelle Seiders (Secondary)	20 hours - June	\$25.00	\$500.00

SS-53 BE IT RESOLVED, That the Board of School Directors approves payment for summer hours for the Special Education Department: Speech Pathologist, School Psychologist, Reading Opportunity Center for Children (ROCC) Teacher and Psychologist at the contractual rate listed below. Funding from ACCESS and PA PACT Fund (end date for the 2009-2010 PA PACT Fund is June 30). Total cost not to exceed \$92,475.00

Speech Pathologists					
July thru August 2010 - to test and provide compensatory time for students.					
(ACCESS Fund)					
Bonnie Schnaebel	127 hours	\$25.00	\$3,175.00		
Brenda Cole	127 hours	\$25.00	\$3,175.00		
Eileen Reirdon	127 hours	\$25.00	\$3,175.00		
Janice Beil	127 hours	\$25.00	\$3,175.00		
Susan Steltz	127 hours	\$25.00	\$3,175.00		
School Psychologists					
July thru August 2010 - to comp	olete gifted and Early Inte	rvention testir	ng.		
(ACCESS Fund)					
Desirie Reid	357 hours	\$25.00	\$8,925.00		
Doris Doughtry	357 hours	\$25.00	\$8,925.00		
Gary Lord	357 hours	\$25.00	\$8,925.00		

Gerald Smith	357 hours	\$25.00	\$8,925.00
Silvia Ramsey	357 hours	\$25.00	\$8,925.00
Stacey Leathery	357 hours	\$25.00	\$8,925.00
Desiree Rodriguez-Reid	357 hours	\$25.00	\$8,925.00

Speech Pathologists				
June 28 - July 30, 2010 - for test	ing, and Extended School	Year (ESY). (A	ACCESS Fund)	
Bonnie Schnaebel	105 hours	\$25.00	\$2,625.00	
Brenda Cole	105 hours	\$25.00	\$2,625.00	
Eileen Reirdon	105 hours	\$25.00	\$2,625.00	
Janice Beil	105 hours	\$25.00	\$2,625.00	
Susan Steltz	105 hours	\$25.00	\$2,625.00	
Reading Opportunity Center for Children (ROCC) teacher				
Preparation of new IEPs and or	r calls to get paperwork fo	or enrollment.		
(PA PACT Fund)				
Glynnes Smith	20 hours - June	\$25.00	\$500.00	
Reading Opportunity Center for Children (ROCC) psychologist				
Preparation of new evaluations and re-evaluations for new enrollees. (PA PACT Fund)				
Stacy Leathery	20 hours - June	\$25.00	\$500.00	

BE IT RESOLVED, That the Board of School Directors approves the hiring of Jim Dowling, a Career-tech electronics teacher, to begin Extended School Year (ESY) services, June 24 – June 30, 2010, at the Career Technical Center (CTC) for an ES student, per student's Individual Educational Plan (IEP), at the contractual rate of \$25.00 per hour, up to nine (9) hours per weekend, for a total of one (1)) weekend in June, at a cost not to exceed \$225.00. (Special Education - General Fund)

SS-55 BE IT RESOLVED, That the Board of School Directors approves summer pay for Special Education Teachers, Para Professionals, Physical and Occupational Therapists to plan, prepare, and begin implementation of the Reading School District Extended School Year Program (ESY), from June 28, to June 30, 2010, per students' Individualized Education Program (IEP), at the contractual rate listed below. Special Education Teachers will prepare for the program on June 25, 2010. At a cost not to exceed \$19,080.00

Special Education Teachers, ESY Program, (Special Education – General Fund)				
June 25 thru June 30, 2010				
Christine Hossler	20 hours - June	\$25.00	\$500.00	
Leslie Esterly	20 hours - June	\$25.00	\$500.00	
Danielle Carmen	20 hours - June	\$25.00	\$500.00	
Carol McGowan	20 hours - June	\$25.00	\$500.00	
Kristen Moyer	20 hours - June	\$25.00	\$500.00	
Heather Shultz	20 hours - June	\$25.00	\$500.00	
Constance Madden	20 hours - June	\$25.00	\$500.00	
Tanya Werley	20 hours - June	\$25.00	\$500.00	
Rebecca Blouch	20 hours - June	\$25.00	\$500.00	
Carissa Kramer	20 hours - June	\$25.00	\$500.00	

Jessica Scheibner	20 hours - June	\$25.00	\$500.00
Coleen Candelaria	20 hours - June	\$25.00	\$500.00
Coleen Candelana	20 110u15 - Julie	Ψ25.00	ψ500.00
Colleen Dura	20 hours - June	\$25.00	\$500.00
Dana Puzio	20 hours - June	\$25.00	\$500.00
Pam Reider	20 hours - June	\$25.00	\$500.00
Sabrina Leinbach	20 hours - June	\$25.00	\$500.00
Patti Lougherty	20 hours - June	\$25.00	\$500.00
Linda Woleslagel	20 hours - June	\$25.00	\$500.00
	20 hours - June	\$25.00	\$500.00
Stephanie Lord Tara Lill - SUB	•		
	0	0	0
Amanda Greenly - (SUB)	0	0	0
Para-Professionals, ESY Progra	m, (Special Education - G	eneral Fund)	
June 28 thru June 30, 2010	151	¢10.00	¢1(2.00
Sharon Williams	15 hours	\$10.80	\$162.00
Kristy Koegel	15 hours	\$10.30	\$154.50
Migdalia Candelaria	15 hours	\$10.30	\$154.50
Vivian Cosme	15 hours	\$12.10	\$181.50
Jessica Doleniak	15 hours	\$9.30	\$139.50
Renee Kirkland-Hinton	15 hours	\$10.30	\$154.50
Herman Price	15 hours	\$9.80	\$147.00
Robin Shingle	15 hours	\$12.20	\$183.00
Amy Sindurski	15 hours	\$12.20	\$183.00
Eliany Zarvela	15 hours	\$10.80	\$162.00
Diane Stewart	15 hours	\$13.50	\$202.50
Joan Kellenberger	15 hours	\$12.10	\$181.50
Emma Flores	15 hours	\$9.80	\$147.00
Pedro Baez	15 hours	\$9.30	\$139.50
Brittany Rothermel	15 hours	\$9.30	\$139.50
Kristen Koller	15 hours	\$11.50	\$172.50
Debra Buck	15 hours	\$13.50	\$202.50
Jacklyn Collado	15 hours	\$10.30	\$154.50
Greg Amoroso	15 hours	\$10.80	\$162.00
Eileen Doleniak	15 hours	\$12.60	\$189.00
Lori Heisler	15 hours	\$12.90	\$193.50
Courtney Hurley	15 hours	\$10.30	\$154.50
Donna Roup	15 hours	\$12.00	\$180.00
Barb Shawell	15 hours	\$10.30	\$154.50
Deb Swoyer	15 hours	\$10.80	\$162.00
Sondria Merriweather	15 hours	\$10.30	\$154.50
Therea Iezzi	15 hours	\$9.80	\$147.00
Marsha Daubert	15 hours	\$14.45	\$216.75
Rochelle Ulrich	15 hours	\$12.45	\$186.75
Amy Sell	15 hours	\$10.80	\$162.00
Isabel Fick	15 hours	\$17.60	\$264.00
15auci l'ICK	15 110015	φ17.00	φ ∠υ1.υυ

Barbara Wells	15 hours	\$9.80	\$147.00
Elizabeth Spengler	15 hours	\$17.80	\$267.00
Lynn Haubrich (SUB)	15 hours	\$12.90	\$193.50
Occupational Therapists (OT) ESY Program (ACCESS Fund)			
June 28, thru June 30, 2010			
Jamie Chmielewski	15 hours	\$67.00	\$1,005.00
Elizabeth Bentz	15 hours	\$67.00	\$1,005.00
Stacy Cuddleback	15 hours	\$67.00	\$1,005.00
Physical Therapist (PT), ESY Program (ACCESS Fund)			
June 28, thru June 30, 2010			
Lisa Bogacki	10 hours	\$67.00	\$67000

SS-56 BE IT RESOLVED, That the Board of School Directors approves four buses to provide specialized transportation for the Extended School Year (ESY) program, including all grade levels, to be held at Tyson Schoener, from June 28 thru June 30, 2010, as per students' Individualized Educational Plan (IEP). Costs will not exceed \$3,169.00. (Special Education – General Fund)

SS- 57 BE IT RESOLVED, That the Board of School Directors approves payment for summer hours for a health assistant to complete enrollment, at the Reading Opportunity Center for Children (ROCC), from June 16, 2010 thru June 30, 2010, at the contractual rate listed below. Total cost not to exceed \$186.00. (General Fund)

Health Assistant.			
Josephine Rodriguez	20 hours	\$9.30	\$186.00

SS-58 BE IT RESOLVED, That the Board of School Directors approves certified school nurses for summer hours to finalize medical 504 plans in the Excent Tera System, from June 15 thru June 30, 2010, at the contractual rate listed below, at a cost not to exceed \$1,000.00. (General Fund)

Certified School Nurses			
Christine Wendt	10 hours	\$25.00	\$250.00
Denise Bononno	10 hours	\$25.00	\$250.00
Eileen Klang	10 hours	\$25.00	\$250.00
Kathryn Behm	10 hours	\$25.00	\$250.00

SS-59 BE IT RESOLVED, That the Board of School Directors approves payment for summer hours to staff and facilitate five Lighthouse Programs (RHS, SOMS, NEMS, NWMS, SWMS) based on student need and enrollment. The Summer Lighthouse program will run five days per week from June 16 thru June 30, 2010 and be held during the hours of 8:30 AM to 11:30 AM. An additional .5 (half) hour per day will be included in the teacher compensation for lesson planning and data collection which will support students in completing their Lighthouse obligation. An additional \$1,000.00 (\$200.00 per school) will be used toward behavior modification. Total cost not to exceed \$25,500.00. (General Fund)

Reading High School			
Randy Neider	38.5 hours	\$25.00	\$962.50
Tara Monahan	38.5 hours	\$25.00	\$962.50
John Benson	24.5 hours	\$25.00	\$612.50
Judy Fichthorn	24.5 hours	\$25.00	\$612.50
Nicole Dysart	14 hours	\$25.00	\$350.00
Dwayne Clemens	14 hours	\$25.00	\$350.00
Elizabeth Miller	14 hours	\$25.00	\$350.00
John Duggan	21 hours	\$25.00	\$525.00
Ginger Johnson	24.5 hours	\$25.00	\$612.50
Northeast Middle School			
Linda Pereira	38.5 hours	\$25.00	\$962.50
Christopher Lynch	38.5 hours	\$25.00	\$962.50
Justine Sciumbata	38.5 hours	\$25.00	\$962.50
Gwyn Focht	28 hours	\$25.00	\$700.00
Maria Lodek	17.5 hours	\$25.00	\$437.50
Amanda Moser	24.5 hours	\$25.00	\$612.50
Megan Sheeler	21 hours	\$25.00	\$525.00
Northwest Middle School			
Lisa Reber	38.5 hours	\$25.00	\$962.50
Luis Estrada	38.5 hours	\$25.00	\$962.50
Megan Faust	38.5 hours	\$25.00	\$962.50
Lael Schwartz	28 hours	\$25.00	\$700.00
Tom Ronco	14 hours	\$25.00	\$350.00
Michelle Pickup	21 hours	\$25.00	\$525.00
Southwest Middle School			
Laura Morgan	38.5 hours	\$25.00	\$962.50
Cory Miller	38.5 hours	\$25.00	\$962.50
Christine Galantuomo	31.5 hours	\$25.00	\$787.50
Susan Bennett	38.5 hours	\$25.00	\$962.50
Timothy Kowalski	35 hours	\$25.00	\$875.00
Sothern Middle School			
Richard MacGrady	38.5 hours	\$25.00	\$962.50
Steve Rossignoli	38.5 hours	\$25.00	\$962.50
Chris Meyer	38.5 hours	\$25.00	\$962.50
Jared Kanavins	38.5 hours	\$25.00	\$962.50
David Dedman	24.5 hours	\$25.00	\$612.50
Janice Brosz	21 hours	\$25.00	\$525.00

VOTE ON SS-43 - SS-59: 8 YEAS; 0 NAYS

YEAS: Mrs. McCree Mr. Stamm

Mr. Storch Mrs. Torres-Figueroa

Mr. Washington Ms. Wertz

Mr. Breton Mr. Santoro, President

SS-43 - SS-59 WAS APPROVED.

Community Relations and Policy

The Community Relations and Policy Committee presented resolutions CRP-11 to CRP-17 for consideration. Resolutions CRP-12 to CRP-17 were voted on together. The motion was made by Ms. Wertz, and this was seconded by Mr. Washington. **NOTE: AT THIS TIME, MR. BRETON LEFT THE MEETING.**

CRP-12 BE IT RESOLVED, that the Board of School Directors approves the revision to Policy 335, Family and Medical Leaves.

CRP-12-A

CRP-13 BE IT RESOLVED, That the Board of School Directors approves the revision to Policy 435, Family and Medical Leaves.

CRP-13-A

CRP-14 BE IT RESOLVED, That the Board of School Directors approves the revision to Policy 535, Family and Medical Leaves.

CRP-14-A

CRP-15 BE IT RESOLVED, That the Board of School Directors approves the revision to Policy 808, Food Services.

CRP-15-A

CRP-16 BE IT RESOLVED, That the Board of School Directors approves the revision to Policy 808.1, Free/Reduced-Price Meals and Free Milk.

CRP-16-A

CRP-17 BE IT RESOLVED, That the Board of School Directors approves the 2010 awards for the outstanding JROTC students as follows:

Kamanu Mercedes \$300.00 Ramos Guadalupe \$200.00 Wunder Taylor \$100.00

VOTE ON CRP-12 - CRP-17: 7 YEAS; 0 NAYS

YEAS: Mr. Stamm Mr. Storch

Mrs. Torres-Figueroa Mr. Washington Ms. Wertz Mrs. McCree

Mr. Santoro, President

RESOLUTIONS CRP-12 - CRP-17 WERE APPROVED. Ms. Wertz made a motion to consider CRP-11, and this was seconded by Mrs. Torres-Figueroa.

CRP-11 BE IT RESOLVED, that the Board of School Directors authorizes the following board members to attend the NSBA 2010 CUBE Issues Seminar in Los Angeles, CA from June 23-26, 2010. The cost to the district is conference registration, airfare, hotel accommodations and meals:

Karen McCree Yvonne Stroman James E. Washington II

CRP-11-A

VOTE ON CRP-11: 6 YEAS; 1 NAY

YEAS: Mr. Storch Mrs. Torres-Figueroa

Mr. Washington Ms. Wertz

Mrs. McCree Mr. Santoro, President

NAYS: Mr. Stamm

CRP-11 WAS APPROVED.

Extracurricular Activities

The Extracurricular Activities Committee presented resolutions EX-21 - EX-27 for consideration. All resolutions were voted on together. The motion was made by Mr. Storch, and this was seconded by Mr. Washington.

EX-21 That Resolution 1 adopted by the Board of School Directors on September 22, 2009, listing individuals and compensation for non-athletic extracurricular assignments for the 2009-10 school year be amended as follows:

Reading High School

Add the following assignment, individuals and/or compensation:

Knights of Glory Add Mark Edwards \$350.00 (prorated)

Remove John Cortez \$400.00

EX-22 That Resolution 4 adopted by the Board of School Directors on August 26, 2009 listing individuals and compensation for Spring coaching positions extracurricular assignments for the 2009-10 school year be amended as follows:

Reading High School

Add the following assignment, individuals and/or compensation

MS Softball Head Coach Add Sheeretha Perry \$1,800.00

	Remove	Jessica Diluzio	
MS Softball Asst. Coach	Add Remove	TBA Sheeretha Perry	\$1,080.00
SOM Baseball Head Coach	Add Remove	Jason Schwambach Mitchell Hettinger	\$1,750.00
SOM Baseball Asst. Coach	Add Remove	Chad Moletress Jason Schwambach	\$1,050.00
HS Track Asst. Coach	Add Remove	Gerald Phillips Glenn Kercher	\$660.00 (prorated)

EX-23 That Resolution 12 adopted by the Board of School Directors on February 24, 2010 listing individuals and compensation for Spring coaching positions extracurricular assignments for the 2009-10 school year be amended as follows:

SWM Baseball Head Coach	Add	TBA	\$1,750.00
	Remove	Angel Velez	

EX-24 BE IT RESOLVED, That the Board of School Directors approves two certified elementary teachers for a homework club that will support siblings whose parents are attending the Creating Lasting Family Connections Program. The two Positions will run five weeks, beginning May 5, 2010, ending June 2, 2010 one night a week, one hour per night, at a rate of \$25.00 per hour. Not to exceed a total cost of \$250.00. (Funded by the Berks Community Foundation)

EX-25 BE IT RESOLVED, That the Board of School Directors approves to hire an Extra Curriculum translator for the Creating Lasting Family Connections program for five weeks, beginning May 5, 2010 ending June 2, 2010, one night a week, one hour per night, at a rate of \$25.00 per hour. Not to exceed a total cost of \$125.00. (Funded by the Berks Community Foundation)

EX-26 That Resolution 19 adopted by the Board of School Directors on March 24, 2010, listing game workers for the 2009-10 school year be amended as per the attached list (the additions are in bold).

EX-26-A

EX-27 BE IT RESOLVED, That the Board of Directors of the Reading School District approves the payment of the winter concession profit. Fund raising groups get 65% of the profit, Athletic Department 35% of the profit. Net Profit = \$15,614.07 Split.

Baseball	\$ 768.87	Softball	\$2,460.40
Cross Country	\$1,845.30	Swimming	\$1,076.42
Football	\$ 615.10	Volleyball	\$ 768.87
Girls Basketball	\$ 768.87	Wrestling	\$1,230.20
Golf	\$ 615.10	Athletics	\$5,464.92

VOTE ON EX-21 - EX-27: 7 YEAS; 0 NAYS

YEAS: Mrs. Torres-Figueroa Ms. Wertz

Mr. Stamm

Mr. Washington Mrs. McCree Mr. Storch

Mr. Santoro, President

RESOLUTIONS EX-21 - EX-27 WERE APPROVED.

General Resolutions

Mr. Santoro presented two General Resolutions for consideration - GEN-20 and GEN-21. Each resolution was voted on separately. Mr. Storch made and motion to consider GEN-20, and this was seconded by Ms. Wertz.

GEN-20 WHEREAS, a Committee of the Board of Directors of the Reading School District held a hearing on Tuesday, March 23, 2010 at 9:00 A.M. at the recommendation of the school administration for the expulsion of a Gateway Magnet School student.

WHEREAS, after hearing thereon, the Committee has reached a decision and recommendation on the requested expulsion.

NOW THEREFORE, be it RESOLVED that Student No. 111103 is expelled from the Reading School District for the remainder of the 2009-10 year and the first semester of the 2010-11 school year.

A copy of the findings of fact and conclusions are adopted by the Board of Directors but shall be confidential unless the student appeals this expulsion at which time the findings and conclusions shall be filed with the Court.

GEN-20-A

VOTE ON GEN-20: 7 YEAS; 0 NAYS

YEAS: Mrs. Torres-Figueroa

Mr. Washington Ms. Wertz Mrs. McCree Mr. Stamm Mr. Storch

Mr. Santoro, President

RESOLUTION GEN-20 WAS APPROVED.

Mr. Washington made a motion to consider GEN-21, and this was seconded by Mr. Storch.

GEN-21 WHEREAS, a Committee of the Board of Directors of the Reading School District held a hearing on Tuesday, March 23, 2010 at 10:30 A.M. at the recommendation of the school administration for the expulsion of a middle school student.

WHEREAS, after hearing thereon, the Committee has reached a decision and recommendation on the requested expulsion.

NOW, THEREFORE, be it Resolved that Student No. 112256 is expelled from the Reading School District for the remainder of the 2009-10 year.

A copy of the findings of fact and conclusions are adopted by the Board of Directors but shall be confidential unless the student appeals this expulsion at which time the findings and conclusions shall be filed with the Court.

GEN-21-A

VOTE ON GEN-21: 7 YEAS; 0 NAYS

YEAS: Mr. Washington

Mrs. McCree

Mr. Storch

Mr. Santoro, President

Ms. Wertz

Mr. Stamm

Mrs. Torres-Figueroa

GEN-21 WAS APPROVED.

Ms. Wertz made a motion to adjourn, and this was seconded by Mr. Storch. The meeting adjourned at 8:18 p.m.

These are the Official Proceedings of Meeting held on Wednesday, April 28, 2	the Reading School District Board of Directors Regular 2010.
Linda A. Greth	Date
Secretary of the Board	